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(3) YRR AT AT 9 SURRISHT — W99, BRI

% YRS HEwaTedT AT TR THRIT -

9Yerfore TR - fAReRan

RIS FHRAT - Yae! g U

AT AHRAT — SIS g SIFare, esigl, F|-re=dr
AT ATIS THRT

T TR —ARISHIRY

STHII AT - YR, fgaaR

3 dfyarean (Remm, geol, g9, aaigg, R, Fga) T 9 AMIioTs SR -
qigeATeaT FARAT, [aAfToT T  gRIawar, afgeT ariasor

qTADIeT AT

g1 THRIT

TAgg /U3 ARG THRIT

feeam=ar w9

el AT g SUT

AR, YAE ATIOR, FABTARG SR (fareIee: SdIe SrHTR) Arean THEIT  SUr
IR HPRTTRIT AT T SU

ARG AT AT 4 U

TERIPRUT G FehTe T, AHIS PITTRITAT AHRIT I SURT

AT 9 varfaRor g R

TECHRRUT G WHIOT YRET HGHI BRI

YRR el AT STHRAT
q) Sterforep W — fAReRen

STRTRIEhTERRUITRS fTEUIHR SHRelel M 80T ...

a) AT Gl b) SIRIHH AT

¢) T d1% d) Tster ugdiciar Igat

qift SR :

9) %h (a) faU™ aRT 3R Q) (a) 37T (b) faerm A amed

3) (c) 3mfoT (d) faum amr smed 8) 4 (a), (b), (c) 3T (d) fGem™ a7 amea
The challenge before education due to globalisation is ......

a) Reconstruction of institute b) Curriculum reconstruction

c¢) Growth in competitions d) Change in examination system

Answer Options :

1) Only (a) statement is correct 2) (a) and (b) statements are correct

3) (¢) and (d) statements are correct 4) All (a), (b), (¢) and (d) statements are correct
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foTeruNeiiel WieTieTes! PIUIAT UG STAIIhIARUT 3R FgURITd ?

a) TIRIDIT §cet IATuTor b) IR AgHRI

¢) dfeqer Sy 3Mhe d) 9 TR AlBIAT a ANRET
i SR :

1) (a) ?) (b) 31T (c) 3)(b), (c) 3mr(d) ) (c) 3or (d)
Which of the following tendency in education is known as Globalization ?

a) Bringing Administrative Change. b) The International Co-operation

¢) Understanding Universal Brotherhood d) Cosmopolitan Citizenship.

Answer options :

D) (a) 2) (b) and (c) 3)(b), (c)and (d) 4) (c) and (d)

STRTfhIepRUTaT TR FHTSTAT fafder gediay Wiefleiid! Pivrd gRum sl ?

a) R a1 b) FIGHRMEI 16

c) Pt 8T A d) IR JAq=T fhuced are
e) faifeas gevhlcd dred HToT f) TEmreaT Hadler Haiqr
R SR :

1) (b), (d), (), (D) R) (@), (c), @), (&) 3)(a),(b)(c)(d),(e) 8) Tt Fd

Which of the following are the impact of globalisation on different sections of Indian Society?

a) Growth of cities b) Growth of child labour
c¢) Shrinking of agricultural sector d) Increasing health care costs
e) Risingdivorce rate day by day f) Limitation on choice of customers

Answer options :

1) (b),(d).(e),(f) 2) (@),(0),(d),(e) 3)(a)(b)(c)(d)(e)  4)Allabove
PRI HHALTIAR Tl ST FRRFTE PIUKT BHROT GRIGR AT ?

a) ToRMLe AR DEURIGISIHEIRIS

C) Y INITAHH d) gehreh oter gl

Tt S :

1) (), (b), (d) R) (), (d), (©) 3) (c), (d), (@) &)(a), (b), (c), (d)
Which causes of wastage and stagnation are correct according to Kothari Commision.

a) Irregularity of attendance b) Overcrowded classes

¢) Unsuitable curriculum d) A wrong system of examination
Answer Options :

1) (a), (b), (d) 2) (b), (d), (¢) 3) (¢), (d), (@) 4)(a), (b), (c), (d)
Qe ARG HU /7 3ol

a) TSTIHROT SMTOT PIeT Ugat & I AR 3Meg 3T,

b) daferer &0 § TqdedT 3MftT gomefierdr I WicATe © 9 fIemmmRIel Mg Ul 3R,
Rl SR :

9) Hh (a) R) B (b) 3) (2) 9 (b) 2 8) eRlefihT ATl

3IYH / SRR FHTSTHITOT Wl TRIET / 3



5)

&)

6)

7)

<)

8)

For Private Circulation Only

Select the correct statement/s from the following.

a) Privatization and quota system are challenges before higher education.

b) Personalize the education and encourage innovation and creativity are solution for challenges
before higher education.

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above

GTeliedehl Pl Tcdh RIS WISHIIEhRUT BRUTY 3MTed ?

a) Tufcqd HrRigmad! IR b) ARG <RI R
¢) AR 1S d) IRpRaI i ae
g IR :

) (a), (b) 3T (c) ) (a), (c) 3N (d) 3) (@), (b) 3N (d) ) T 7
Which of the following factors are responsible for privatization of education ?

a) Need for competitive efficiency b) Need for Social justice

¢) Growth in population d) Financial burden on government

Correct Options :
1) (a), (b) and (¢) 2) (a), (c) amd (d) 3) (a), (b) and (d) 4) All above

YR S9 fEURMARNG 3egM PIvRh e ?

) FiopE SoidT AR A

§) IGARIS IITAHHIAR. PHT 3.

&) Hg I AR ST e Bt AR,

3) freromged HifRct TSI SUI.

gIRit SR :

9) Bh §, P, S ) h 3, B, © 3) %eh 3, §, B ¥) WSUD T
What are the challenges before Higher Education in India ?
A) Mushrooming of low quality institutes.

B) Less focus on vocational courses.

C) Slow sanction and under-utilization of funds.

D) Use of information technology in education.

Answer options :
1)Only B,C,D 2)Only A,C,D 3)Only A, B, C 4) All of the above

foreror ai3meR SR gRUTH RUTRT IO U HERTY ARFM @ AlegaR 2009 AL VST ?

a) PATC LRT b) foFT 3FGH URUT  ¢) TT 3MEH URU  d) 3ferd: 3FGH YR
RIBUD! DIVAT YIRT SRIS 3R /3T ?
q) B (a) R) h (b) 3) (a) 3T (b) 8) (c) 3o (d)

Which of the decision was taken by Maharashtra government on 24" November 2001 that had a
far reaching impact on education field?

a) Contract basis policy b) Non-grant policy

¢) Stage grant policy d) Partial grant Policy

Which of the above option(s) is/are correct?

1) Only (a) 2) Only (b) 3) (a) and (b) 4) (c) and (d)

TG / ATUBRI FHTSTDATIT Wl TR / 03
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FRERA TR AISATIRITS WSB! HIUT U SR IRUTHSRS M ?

q) FPRERMATS! AeRa & areau

Q) Td Uie FReRMT FhiF Hle A1eRaT auid uder <ot

3) 915 AR WA dg R0

¥) TTIfies fAreor SRhI @ HIthd o AT SATAAhIehRUT U,

Which of the following measures is most effective in solving the problem of illiteracy?
1) Conducting literacy classes for illiterates

2) Compulsory enrollment of all adult illiterates in adult literacy classes

3) Ending Forced Child Labour

4) Universalization of primary education by making it compulsory and free.

T=TReD RIEMT FgUISt By 2 Weflelden! A G fHigr.

a) YT Ugclid afugelt g frerp Teger SufRRid fArnfdur IRy Agw 3R

b) STIRIHH QAT dhetell SR,

¢) TROIAR 3IRIPH TIR bl Sl

d) fafdy wR orIdT. smeliear FRERIe RiarT quf hedfar Jelid FRMERIe fRIaurd gaer e S
ATt

tl'ﬂ'f’éﬁ%?ﬁ
9) (a), (b) TR 3. ?) (a), (b), (d) SRR 3.
3) (a), (b), (c) SRR 3. %) Bk (b) TR 3R,

What is formal Education ? Choose the correct alternative given below.

a) In teaching methodology, the classroom teaching method and direct presence of teacher to
teach; is important.

b) The curriculum is pre-decided.

¢) The curriculum is prepared as per need.

d) There are different levels. The access to the next level of education is not possible without
completion of the prior level of education.

Answer Options :

1) (a), (b) are correct 2) (a), (b), (d) are correct

3) (a), (b), (c) are correct 4) Only (b) is correct

FRRET el q1fosehT [Enad Wiols Aeriegseal ARRIGIT ek G PRUATT .

q) ST eI G RIS JHI0T Yo% Y& BHT SR

R) T TSI o5 fRTefuIciics Tesciiel FHT0T 40 % Ul SR 3MTE @ G 37101 Hobl Irea e Heics trep
TERT RIS SR TR,

3) T ST Bl HIERAT IR ARRRIVET AT G B-Jou el AIRRAHLUS hdh IR ARRIIVE
TR 3TTe.

®) ST TICId HosreaT RRISUIATS! Yehal QMeeT 3TReiedrd Tl

Kasturba Gandhi Balika Vidyalaya is started for the following educationally backward groups.

1) The group in which the education ratio of girls is less than 50%.

2) A group where the dropout rate of girls is more than 50% and the gap between boys and girls is
higher than the national average.

3) The group in which female literacy is lower than the national average and the difference be-
tween male and female literacy is higher than the national average.

4) A group in which no school exists for the education of girls

3IYeh / AfRIHTRY FHTSTHITT @Il URteT / 0%
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R PR S S Riem SR THRE T 2

q) WEI-dler querdies o i e g <o

Q) WEI-TIeT FNeri® T e 39 o gt <or

3) Ui WRMER 5 g AT Hg ATERT ol

%) MNP FRIEAR SOICR SHGRTEueR TR o7

Which of the following goals is not included in all Shiksha Abhiyan?

1) To guarantee primary education to children aged six-fourteen

2) To guarantee further higher education to children in the age group of six-fourteen
3) Elimination of gender and social discrimination at primary level

4) Emphasis on quality life education at primary level

STaTER Faley faernearar gdieud! HIuT &g, el ?

q) IEUT AT AT e et I |eft <o

R) Hh oI oW e Heft Sucsey ol

3) foemeafar <o ARpicr Afdearer Tee SIHaR UREd B QUl

) foremeafar Tefdremmht fFarht I Sussy o

Which of the following is not the objective of Jawahar Navodaya Vidyalayas?

1) To provide better educational opportunities to intelligent children in rural areas

2) Providing better education opportunities only to girls

3) To introduce students to the cultural diversity of the country through hands-on experience
4) Providing co-educational residential facility to the students

RGTHIBUD! DIV ST QAT $hisT TGN ATSHT SUARATS! shigl fremdiar Fmu=T 9¢ ATE 09¢
ST RO AT,

q) FresarS!, gor ?) ufeamat

3) e I AR foreror TR, SRt 8) 1w, AR

At which of the following places, the sports university was setup on 16™ March 2018 to promote
sports education in the country?

1) Balewadi, Pune 2) Patiala

3) Laxmibai National Institute of Physical Education, Jhansi 4) Imphal, Manipur

ST SRR W AN v [Enea ket dleied ey DRI R HRUAT 3.
SErdT it grom=a fonete 9 9y arT SIS T FRULT DIRIGATLTRE HfT&TT SUTRATS! Te [euch! hIvrcit
IISHT G PRI 37T,

a) g A IS b) Pl AF ASHT  ¢) TF Uhed d) 9T gUUT AT
RIS PIUTAT TR FebraT 3Me/3Ted 2
) Bh (a) Q) (a) T (b) 3) (b), (c) 3T (d)  ¥) (a), (c) MMM (d)

Skill development course was started for students who fail in class X examination.
Which of the following schemes will offer skill training to the students failing in 10" class so as
to avoid loss of one year.

a) Group Farming Scheme b) Kaushalya Setu Yojana

¢) Swayam Project d) Shala Darpan Yojana

Which of the option(s) given above is/are incorrect?

1) Only (a) 2) (a) and (b) 3) (b), (c) and (d) 4) (a), (c) and (d)

3IYeh / AIfRIHTRY FHTSTHITT @It URteT / oY
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TR TAhA ARATDS ... ICEARICIRSEISHEURE R

q) 3itenfies Q) TTHtor 3) dif® ) Sherforep
Community Polytechniques have responsibility of ...... development.

1) Indstrial 2) Rural 3) Technical 4) Educational
I (RUSA) € coveen off FefrT 3.

a) "t foreror b) AreatHe freror c) 39 freror d) AT foremor
g SR :

q) (a) 37T (b) &h ) () Feh 3) (d) wh 8) (c) Mfor (d)
RUSA isrelated to ......

a) Primary Education b) Secondary Education

c¢) Higher Education d) Vocational Education

Answer options :

1) (a) and (b) only 2) (c) only 3) (d) only 4) (c) and (d) only

ERTY T Ad forem iR SrRispar Sieiasault axuITITS! aTefieidd! DIv FRT SEEER
AR ?

q) freror e e, weftes e, 7gRTy 5T, qur

R) WERTY el fremr uRve, Heg

3) TERTE I daifdrs demer g gfdrer aRsg, gor

w) foreur Faerer, dreafies e 7RIy I, qul

Which of the following organisations is responsible for implementing the Sarva Shiksha Abhiyan
Programme in the State of Maharashtra?

1) Directorate of Education, Primary Education, Maharashtra State, Pune.

2) Maharashtra Prathmik Shikshan Parishad, Mumbai.

3) Maharashtra State Council of Educational Research and Training, Pune.

4) Directorate of Education, Secondary Education, Maharashtra State, Pune.

AT THTR ... oft FEfer oTR.

a) NeIfIs AFRIIRS I TR b) Steifores RIS T oI

c) derfdrs T a wImE d) <rerfdres JezMa g Ao

g IR :

1) (a) Hth R) (b) ®h 3) (0), (d) ®h 8) (a), (b), (c), (d) Fd
NIEPA is concerned with ......

a) Educational Psychology and Administration.
b) Educational Planning and Administration

¢) Educational Philosophy and Administration
d) Educational Evaluation and Measurement
Answer options :

1) (a) only 2) (b) only 3) (c), (d) only 4) all (a), (b), (c), (d)

TG / ATUHRY FHTSTDATIT @Il A& / ©F,
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TET ST MY ST IR RO T el ?

INICRICRCEIERNE RS BIRISIG

b) INeRTET faeT= riferfiars o st SuarTet

c) I eI TRIER Ty [T R PRGNS AR e AT HicHTed pRugRITS.
d) g€ FAeTMe FAUHd YEhR HUIRITS!.

T SR :
9) eh (a) @ (b) faem arg amed. ) Bh (a) T (¢) faum I amed.
3) W (b) T (d) fJum I 31med. ¥) &b (c) T (d) faum awg 3.

Why National Talent Search Scheme is proposed to re-introduce?

a) To improve science education in school.

b) To promote International science olympiods.

c) TO encourage bright students to study basic science at higher education level.
d) To lead towards research in pure science.

Answer options :

1) Only (a) and (b) are correct 2) Only (a) and (c) are correct

3) Only (b) and (d) are correct 4) Only (c) and (d) are correct

I RIEUITe Jeich PRUGRAST 9% HEY DIURAT X FATIHT PRUTT 37Tl ?

a) 3TRgeT TR d=Aferr uReg b) I Feier AT THUF aReg

c) 41 (RUSA) d) 3= fremr e

iU PIUET TR SRR 372/ 3Med ?

1) ®h (c) Q) (b) 3T (c) 3) (a), (b) 30T (¢)  8) AieTehl T

Which of the following institute was established in 1994 for evaluation of higher education ?
a) All India Council for Technical Education

b) National Assessment and Accriditation Council

c) RUSA

d) Directorate of Higher Education

Which of the above option(s) is/are correct ?

1) only (c) 2) only (b) 3) (¢) and (d) 4) All above

Sy Rreumrlt ure URVIRAS! SMIO1 SGeT Teq SMUUIRIIS! . SiT. 311 —HT. Q. 3R~ AT
I-IIMTS! DU G (HhRss) faepfid ot 3R ?

9) FEPT AU FEDT fobr Q) omesT AReft

3) forem o= ®) SATERAT S

Which portal has been developed to improve and reform the quality of school education and co-
ordination among the NGO-CSR-State ?
1) Sabka Sath Sabka Vikas 2) Shala Sarthi 3) Shiksha Abhiyan 4) Literacy Abhiyan

Q¢ T IMEY NeffOeh YRUTTAR STIRTHARET faemedfd qo AT Jedt difdel! ST

a) NI, T T b) Sferd wa

¢) I i, s/ ufcrer onfdr aehefikuom  d) e, dagaefiadrn snfor dsmefiear
TRIcTdeh! PIUTAT/ DIV YT SRIER ATRT ?

1) % (a) ?) (b) 3o (d) 3) (b), (c) 3o (d)  ¥) Bh (b)

3IYH / ATRIHTRY FHTSIHITIT W TRIET / 09



23)

W)

24)

?4)

25)

Q%)

26)

209)

27)

For Private Circulation Only

According to the 1986 National Education Policy, 10 fundamental values are cultivated through
curriculum in the students :

a) Patriotism, National Integration

b) Dalit equality

c¢) Scientific approach, Dignity of Labour and Punctuality

d) Neatness, Sensibility, Courteousness

Which of the above option(s) is/are not correct ?

1) Only (a) 2) (b) and (d) 3) (b),(c) and (d) 4) only (b)

TR SATERAT AR ... I FANTEId el FPRERMT PRIcHS ATERAT JUITATS! el S,

) Y-3y a9 ?) 3y-o Y 3) go-yo T 8) 4a-go Iy
National Literacy Mission imparts functional literacy to non-literates for the age group ..........
1) 15-35 years 2) 35-40 years 3) 40-50 years 4) 51-60 years

T (SWAYAM) & ... 3TTE.

a) 3-TMHT wiewid b)) WE c) eI Faene  d) RTEicer
ggfef} I -

9) e () 2) (b) T 3) (a) 37719 (d) &) (b) 31 (c) %
SWAYAMis ........

a) E-learning Platform b) Satellite ¢) Space Laboratory = d) RTE Portal
Answer options :

1) (a) only 2) (b) only 3) (a) and (d) 4) (b) and (c) only

Tt IeAtchT DIV BRichH freromear uraar gl Feifda amg 7

a) HIWIfISIS YROTET 3fdeid Ul

b) freromeaT e FRTER STRIRIHHTT thRace] .

¢) STEITYAT Y AT AR & JIHIT UGl GURUIT PRI,

d) foemeatar enfdie goif Samam.

gt SR :

1) (a), (b) T (¢) ?) (a), (b) @ (d) 3) (@), (b), (©) T (d) ¥) (a) T (d)
From the following which programme is related with the qualitative development of education ?
a) Implementation of language policies.

b) Making changes in curriculum of all levels of education.

¢) Use of modem techniques in teaching and improvement in evaluation method.

d) To uplift economical status of student.

Answer options :
1) (a), (b) and (c) 2) (a), (b) and (d) 3) (a), (b), (c)and (d) 4)(a)and (d)

PIBRT AT FARATAR Anfee™ SHrishH ...

9) HUl fRr&urre Geptichies WRT SHRATaT. ?) fereromrean quid: STeRaET W SATa.

3) TR RN SrAeledT BTG 3. g) AUl freroTaT FerAHTaeft WAT ST
As per the Kothari Commission Report Guidance Programme should be ..........

1) Integral part of whole education system 2) Separate from whole education system
3) Should be for special needs children 4) Inclusive part of education system

3IYeH / AfRIHTRY FHTSTHITT @It URteT / 9¢
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3fqe-gs 3rgdrel, 9%3&-30 =T RIPRATAR ... TehREIT AT el ISR T,

q) uiferceaa Q) R e e

3) aifenfie ufderr v Q) T TARE T

On the recommendation of Abbot-Wood Report, 1936-37 type of technical institutions came
into existence.

1) Polytechniques 2) Indian Institute of Technology

3) Industrial Training Institute 4) National Institute of Technology

GTefeTidht PIvT M AigdeTrel AT A= Hie faremr aomT el ?

q) die Afgel HeRdT o R) QIR Rrefur ST

3) ARIBIeN Ui il T ¥) Tie ATER TS

From the following which title is given by Mohanlal Saxena Committee for adult literacy scheme?
1) Adult women literacy scheme 2) Social education scheme

3) Evening adult class scheme 4) Adult literacy scheme

fAreroTTeAT DIV TR I 31eTd UTdesl SRIQUIRITS! IR Afielt TS bt il ?
9) Trerfies fareror Q) AT fremor
3) 39 qredfhes fareor ) 3= foreror

At which level of education has the Government constituted a committee to decide the minimum
level of learning ?

1) Primary Education 2) Secondary Education
3) Higher Secondary Education 4) Higher Education
RRYg, AT T fOr&oNe ......... 1 PSR 3HSI 37T,

q) g NSRRI 3t TgHAT R) femdiie sFEH e
3) I AT 9 I Hiedme {80 Hew Q) ST foreren foreror uRug
In the year 1956 in Education, ...... executed the three-language formula.

1) Central Advisory Board of Education
2) University Grants Commission
3) State Secondary and Higher Secondary Board

4) National Council of Teacher Education

TS S plurear Al Jedel el ?
q) T fRreror At R) TR fqendis <iepeft A
3) ufifes g AAferep freror A 8) NI i e At

Durgabai Deshmukh was the President of

1) Basic Education Committee

2) Banaras University Enquiry Committee

3) Religious and Ethical Education Committee

4) National Women's Education Committee

33) ST @Y 9 FERIST 18 b RIrgh] 1or] Bl SPITspHI] Hae GUrIa] Qe i ?

9) dlsifores 2) IRIE 3) v &l ) qvesft

ATYh / ATUHRY FHTSTDATIT @Il A& / 6]
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Rajarshi Chatrapati Shahu Maharaj Shikshan Shulk Fellowship is awarded to get admissions
for which courses?
1) Academic 2) Vocational 3) Ph.D. 4) Abroad

TR fRIEOma SN O ...

a) geh faemdis, g ommel, YAIGR SRITAhH

b) A, SN, v, qiRkidh

) PN BIIRFIS! G BRI, IR RIam0r, I, I, AHIND HATVDRT IUhH
d) Ty AT SR Jaeh He®, hoid Afgel HeUbRI URYG,

g SR :
9) &R (a), (b), (c) TFT faer= armed. Q) Wh (a) 3T (b) T e armed.
3) 4 (), (b), (), (d) I™T fIu™ 3. ¥) &b (b), (c) AT U™ 3med.

A network of non-formal system of education is......

a) Open Universities, Open Schools, Correspondence Courses.

b) Television, radio, libraries, magazines

¢) Special programmes for agricultural worker's, workers education, fairs, festivals, social welfare
activities.

d) Specialised institutions such as youth club, central women welfare council

Answer options :

1) Only (a), (b), (c) are correct 2) Only (a) are correct

3) All (a), (b), (c), (d) are correct 4) Only (b), (c) are correct

T S forem PR (/T . UTTNep ISHT S G ST,

9) 3{HRIAT Q) qgrn 3) Jaan SELE
Rashtriya Uccha Shiksha Abhiyan (RUSA) started under ...... Five Year Plan.

1) Eleventh 2) Tenth 3) Ninth 4) Twelfth

JoraTeT A (9%%3) =T Srgarei ¥ wrr 3me ?

9) fdeprrdt e Q) -t

3) U ST g) qUTGgh ST
What is the title of Yashpal Committee Report (1993)?

1) Learning for development 2) E-learning

3) Learning without burden 4) Learning with burden
her Wt emeser A I ... 31T,

a) frerepiT areTaTfasRly ARiee o,

b) ST MBS AT FHDHROL.

¢) OIS faehrT BRIHTET T I,
d) T G SupHT SHAsSTaul @,

g IR :
9) Heh UM (a) ED 3. R) Wh AU (c) 3RD IMMR.
3) Wb AU (a), (b), (c) 3EH 3. 8) Hh U™ (a) g (d) 3RIH 3Med.

3ITYH / SRR FHTSIHEITIT W TRIET / O
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The role of creating central primary school is ......

a) to guide teachers about teaching

b) to accept leadership of near by schools

¢) to give mobility for qualitative development programme

d) to implement new social activities

Answer options :

1) Only statement (a) is correct 2) Only statement (c) is correct.

3) Only statement (a), (b), (c) are correct 4) Only statement (a) and (d) are correct

YR ARDRA JNTReD AT FHRT G oot FafT I&I07 Bl AT IRATST R fRreqomre i gt
eicTel. JTell SRR 98¢Y LY DIUAT Heh fAedIGRT FATOHT S1ef! ?

a) JAGRIG TGV HERTY eh s b) fexT et WET geh s

¢) oTe SEIR el IE Heh femdis d) berT g femdis

RICTUDT PIUIT TR TRIGR 3772 / AT 2

9) % (a) R) &b (b) 3) (a) 31T (c) ) eRieTId! T

Indian government has undertaken the work of distance education in order to addressing the
problems of formal education. Accordingly which of the following Open University has established
in 1985 ?

a) Yashwantrao Chavan Maharashtra Open University

b) Indira Gandhi National Open University

c) Lal Bahadur Shastri National Open University

d) Central Open University

Which of the above option(s) is/are correct ?

1) Only (a) 2) Only (b) 3) (a) and (¢) 4) All above

FaTATS! f16M0T A7 Toge! ST ATAT DIV IUhH I 32 ?

) Td e PR, Siear wmarfie fremr wrimy, faremr gt anemr.

Q) Weh |4 frem SRR, fSiegr wmfde f18r HrishH

3) Beh |9 forer SR, I Hreatie e ST,

¥) Weh 9 forerm IR, freror g Ao,

Which schemes are implemented by government under the movement, education for all?

1) Sarva Shiksha Abhiyan, District Primary Education Programme, Education Guarantee Scheme
2) Only Sarva Shiksha Abhiyan, District Primary Education Programme

3) Only Sarva Shiksha Abhiyan, Rashtriya Madhyamik Shikshan Abhiyan

4) Only Sarva Shiksha Abhiyan, Education Guarantee Scheme

E-learning =y I S

a) deifres STIRIHHTT ﬂ%r%ﬂﬂ?r\f SAaCId THASTHTAT HERAT eI

b) QUiT: 3fFelsT e fadiRe BIUTRT righH.

¢) DVD fdar CD-ROM gR faaRa g farerorsse,

d) frerep fohar ureamues foemeafelt e HaTg AU g WA SA0fiaRur .
g SR

9) % (a), (b), (c) T fIam armed. Q) Wb (a), (b), (d) T=T U™ 3.
3) (a), (b), (c), (d) | T faURF 3. 8) ®eh (b), (¢), (d) T e e,

3IYeh / AIfRIHTRY WIS @t Uter / ¢ 9
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E larning means ......

a) Learning utilizing electronic technologies to access educational curriculum.

b) It refers to a program delivered completely online.

¢) Itis a course delivered via DVD or CD-ROM.

d) Teacher or Professor communicating with students and grading assignments, online.
Answer options :

1) Only (a), (b), (c) are correct 2) Only (a), (b), (d) are correct

3) (a), (b), (c), (d) all are correct 4) Only (b), (¢), (d) are correct

o, 3R, U9, <d IiAT I 980 HEY Ui FRIBRAT ... faefa et

9) PR eI emard ah Q) TUTeRT hRIHH

3) U &l ) JeIHo

...... 1s developed for primary level in 1990 by Dr. R. H. Dave Committee.
1) Charts of minimum level of learning 2) Quality program

3) Achievement ability 4) Evaluation

a) STCIRIATD ol b) RN 3T el

¢) ST Sl a SIgad SHIdE Tel d) TSR gel

g IR :

1) (a), (d) T (c) b R) (b), (¢) 3for (d) Heh
3) (a), (b) 3Mfr (d) &h 8) (), (b), (c), (d) Fd

Under privileged classes in education ...... are consisted

a) Children of minority religions

b) Physically handicapped children.

¢) Children in Scheduled Castes and Scheduled Tribes

d) Children of migrants

Answer Options :

1) (a), (d) and (c) only 2)(b), (c)and (d) only 3)(a),(b)and (d)only 4)all (a), (b), (c), (d)

AT STFATAT HRTCRdie HaeT Irauieal qIRMT! .......... &l IS Ahd ATeTe Al Seted
Fe .

9) 9T T3 ; 9Tt yeIan Q) IH

3) TfeeT A 8) wd forerm =

A scheme...... provide free online resources to girl students for preparation of admission test in
Engineering Colleges.

1) Beti Bachao; Beti Padhao 2) Udaan

3) Mahila Samakhya 4) Sarva Shiksha Abhiyan
ST T T godid TH.UA.AREL AT ..o TGO e,

9) gfrerr g AR BRI Q) TATER ISR JISHT

3) yrior farT BRigH ¥) tie frerr wriss

3IYH / SRR FHTSTHITOT Wl TRIET / ¢
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Janashikshan Sansthan was launched as ...... of MHRD.
1) Training and Employment Programme 2) Jawahar Rojgar Yojana
3) Rural Development Programme 4) Adult Education Programme

SHerfre AT SeRicHTd WIdie U /[T g i sRIsR faum /faum sfiesar.
31) freurmer @ et .
q) 3Te Tfshar 37igut awul,

) i feba ST A YemERiad SR TR RuL.
) fareror ufehdar 9w grefaor

gt SN
q) ¥, B, S IR 3MTg AT 37 b 313 R) 9, 8 WIS 371 AT 3, &b b 3T
3) 3, 9, 8 RIS 3N 37T & T Mg ¥) 31, &, & 3T T RIS 3R

Identify the correct and incorrect statement/s from the following regarding the purpose of
educational technology.

A) To reduce the cost of education.

B) To make the learning process meaningful.

C) To use new or old techniques without bias.

D) To increase the speed of education process.

Answer options :

1) B, C, D are correct and A is incorrect 2) B, D are correct and A, C are incorrect
3) A, B, D are correct and C is incorrect 4) A, B, C and D are correct
WTSIGUD! SR B ST,

9) TR g TRA TRBRGR fIBRia $aa I MOOC T 9ids 3.

R) TR IFHIT © IERT TSB! (Rch! PROATT SIS 3TTe.

3) NPTEL 31FaTsT YHUUS 1URIHH & 9T 1IRIHHTUET dTed TR,

¢) NPTEL g W39 T AfiBHRe! it I T 3.

Select the incorrect statement from the following.

1) SWAYAM is the National MOOC’s Portal being developed by Govt. of India.
2) Seven National Co-ordinators have been appointed under SWAYAM.

3) NPTEL online certification courses are different from SWAYAM courses.
4) NPTEL s the official SWAYAM National Co-ordinator for engineering.

AT B SNl

31) SreqRiveien Serfors RISt IR SRR FIMAT 99 feiaR, Q008 ISt ST

q) SFCURATD NefOeh TS ISR AR ST IR NG PAR S 8K,

®) IYUERITD eI FAXATATS! TERT SR ST 8. Mfeg SR&R d 1. 99U Rig 2.
gt IR

9) Heh 3T, § Q) Beh 3, B ) Bh &, B ¥) TISUH T

TG / ATUHRY FHTSTDATIT @Il TR / ¢ 3
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47) Select the correct statements.

A) The National Commission for Minority Educational Institutions was established on 11
December, 2006.

B) Justice Narendra Kumar Jain was Chairman of National Commission for Minority Educational
Institutions.

C) Dr. Shahid Akhtar and Dr. Jaspal Singh were members of National Commission for Minority
Educational Institutions.

Answer options :

1)Only A, B 2)Only A, C 3)Only B, C 4) All of the above

g¢) 9 e IPRHEET AT BT 3NN,
1) |d farem IR g 2009 — 200 T YRY PRI 3ITS3.
) | fre I I SuGth d ARY UMD fR1er Iuced Ho U, 3RAT SR
F) ‘STt gETR — St U’ g |d fe IRRIHR Svdie 3R,
ggift S
9) ek 3, Q) Wh 3, B ) Bh 9, B 8) RIGUD! qd
48) Select the correct statements about Sarva Shiksha Abhiyan.
A) Sarva Shiksha Abhiyan has been launched in 2001 — 2002.
B) Sarva Shiksha Abhiyan aims to provide useful and relevant elementary education.
C) Slogan of Sarva Shiksha Abhiyan is ‘Beti Bachao — Beti Padhao’.
Answer options :

1)Only A, B 2)Only A, C 3)Only B, C 4) All of the above
¥Q) e B

‘31 (ST ‘g’ (av)

37) I AR SR i) 9, 209Y

g) I e BT BHad i) SffaeER, 094

P) IJIR IAMIPR TS iii) leeeR, 098

3) sBic iv) legeR, 094

gt ST

A B C D
) i1 1 v
2) o 1 v

3) i i i iv
4) i v i il
49) Match the pairs.
‘A’ (Scheme) B’ (Year)
A) Unnat Bharat Abhiyan 1) September, 2015
B) National Institutional Ranking Framework 1i) October, 2015
C) Uchchatar Avishkar Yojana iii.) November, 2014
D) IMPRINT 1v) November, 2015

Answer options :

A B C D
1) iii i v
2) i i ivooi
3) i i i v
4) i I\ V S ¥

3IYh / AfRIHTRY FHTSTHIToT Wt UNtel / ¢
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T I fremr T (RUSA) 4@l gk R e S :

a) QMR fremArdt fFrefie oHToT aTeqy el SiFeTssTauiT @R,

b) enférd 3feE e g el amer avT TR gTeto.

c) SNy, T g e RIeumd! dreareT <.

d) 39 Rreomr afegesor e,

Rieteht I fae /faum ghrar ag /3imed 2

q) Wh (a) ?) (a) 31T (c) 3) (b), (c) 3T (d) ) R wd
In the Rashtriya Uchchatar Shiksha Abhiyan (RUSA) the following factors are emphasized:
a) Enhance funding for school education and implement it.

b) To make proper coordination of the expected target and the funds.

¢) Motivation for Research, Innovation and Vocational Education.

d) Globalization of Higher Education.

Which of the statement(s) given above is /are incorrect?
1) Only (a) 2) (a) and (¢) 3) (b), (¢c) and (d) 4) All of the above

T SR e SR (wR) off Sfesert Piowh amea?

a) fafeq frepuiel Geiar oot I eIl TeguT TureRiT GURUL

b) I faEIdicived TR el QUT AT FRATHES TRIRT JERUI.

c) e, Seiforep Mol uRie TUNeHeR JLrROM. AT R,

d) =Trfawaquf erforen = ST gl faeRie Mo TATRE &b,

it ST :

9) (a) and (b) ?) (a), (b) and (¢) 3) (b), (¢) and (d) ) 4 G RIS 3Med
Which are the objectives of Rashtriya Uchchatar Shiksha Abhiyan (RUSA)?

a) Improve the overall quality of State Institutions by ensuring conformity to prescribed norms.
b) Promoting autonomy in State Universities and improving Governance in Institutions.

c) Ensure reforms in the Affiliation, Academic and Examination systems.

d) Develop and disseminate innovative Educational Techniques and Methods.

Answer Options :
1) (a) and (b) 2) (a), (b) and (c) 3) (b), (c) and (d) 4) All options are correct

g1t et fIpRid dolel -1 ... TR IJYAS BIsel.

9) TNl BIcH’ T ) fimm

3) HINTEe gsie 8) STRIEHAT Dol
The e-content developed by primary teachers will be uploaded on ......
1) Whatsapp Groups of Technosavy 2) MITRA

3) Mobile handset 4) Interactive Board

o, 3R, U9, <d IiAT I 980 HEY Ui FoRIBpRAT ... faefaa et

9) PR 31T & Q) TUTeRT hRIHH

3) uTe &Ml ) JeIHo

...... 1s developed for primary level in 1990 by Dr. R. H. Dave Committee.
1) Charts of minimum level of learning 2) Quality program

3) Achievement ability 4) Evaluation

3IYeh / AfRIHTRY FHTSTHIToT Wt UteT / ¢y
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PSR HEFTAR el MO TR HIorch HRUT aRIER AT ?
a) ORI IFRIMAAT b) aiciel STIert TGl ¢) 3R PIRHBhA d) Jebrd T gRie Ut

gt SR :

1) (a), (b), (d) R) (b), (d), () 3) (0), (d), (a) 8)(a), (b), (c), (d)
Which causes of wastage and stagnation are correct according to Kothari Commision.

a) Irregularity of attendance b) Overcrowded classes

¢) Unsuitable curriculum d) A wrong system of examination
Answer Options :

D) (a), (b), (d) 2) (b), (d), (¢) 3) (¢), (d), () 4)(a), (b), (c), (d)

focrelt er=IRTshy Ao IR faemeatr ... ST TR .

q) TeATRIG fareror ) FIRINR 3) 39 fareor ¥) NI A
The scheme of Bifocal curriculum prepares twelfth standard students for ......

1) Vocational education 2) Self employment ~ 3) Higher education  4) All the above

a) foer b) ScHET ¢) FHTALTRT d) I faemdis

i SR :

1) (a) R) (a) 3T (b) 3) (d) 8) Fd(a),(b),(c) ST (d)
In Higher Education National Knowledge Commission has focused on ......

a) Expansion b) Excellence c¢) Inclusion d) National universities
Answer Options :

1) (a) 2) (a) and (b) 3) (d) 4) All (a),(b),(c) and (d)

DIoreT RIgond dafches Gormefierdr Mo S a Diered 1 Qaredl SUSH! STTaedandl 318 ?
q) de R) =it 3) frerp 8) dife

In which education there is requirement of individual creativity and application of both knowledge
and skill?

1) Adult 2) Women 3) Teacher 4) Technical

Ui fe10T 9 STeTd Yare] JURURIST YRAM FRO FHIONC TATH dhefl 3MTg. AT [eafd sifedberd
QPR ...... g 3R,

9) TET ATERAT HSD ?) HIER WRd

3) |9 e IR ®) UeHT foRa=T ST

India has achieved substantial progress towards improving access to adult education and learning
- regarding this most recently initiative is ......

1) National Literacy Mission 2) Sakshar Bharat

3) Sarva Shiksha Abhiyan 4) Padhna Likhna Abhiya

IfEITETS BlovR HIthd TF. . YR JlomieTed 3R fer 3o,

37) feedTeTs BIaR AlGd UH. <. Ta ST & 93%&-%19 AL Jo PRUITT 37Te! .
¥) N I IRt 7 @ VI X1 anide faenf= smed.

F) RNio TS AMBT 40% IR 3MTRTH 3R,

gt S

9) Hh ‘I ) Bk T 3) Bk ‘B ¥) I AT

ATYh / ATUHRY FHTSTDATIT @Il A& / ¢,
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Select the incorrect statement about Ahilyabai Holkar Free ST Travel Scheme.

A. Ahilyabai Holkar Free ST Travel Scheme was started on 1996 — 97.

B. The beneficiary of above Scheme is girl student of Std. V to XII.

C. The 50% attendance in school is necessary for above Scheme.

Answer options :

1) Only A 2)Only B 3)Only C 4) None of these

e Hiseh AR TesdTead Wieiaud! I HY 3T,

31) & TISFT 98¢ T [D PRI AT

) 2000 HT! YA AMeST HERIFT FO BRUIT ool

%) oft enfeart Rremeaiardt Scpe el TBUH FRRA 3R,

gaift S

9) Heh 3T, § Q) Fh F, B 3) Beh 31, B ¥) TISUDH T
Select the correct statements about Eklavya Model Residential Schools.

A) This Scheme was started in 1998.

B) First School was started in 2000 in Maharashtra.

C) It has been functioning as institutions of excellence for tribal students.

Answer options :
1)Only A, B 2)Only B, C 3)Only A, C 4) All of the above

i FRIaG UfIE0T PHRIHHRAT TehrRIred e THdER 90 JacieR 090 T ...... ATSH FarerdT

ATl

a) TR ST U= Dl ™ aadial fouafia Fepriia dewyul e

b) ST faepfrc Ul

¢) T TepreHaT fIamRid .

d) AT FTU faepfye hRol.

gt SR :

q) T (a) 3T (d) R) Wh (b) 3) B (¢) 8) Wb (b) ST (d)

Under technical Intern-Training program Memorandum of Co-operation (Mou)was signed on 17

Oct 2017 for

a) Signiticantly expand the bilateral co-operation between India and Japan in the skill development
sector

b) Developing enterprenurship

c) Developing national integration

d) Human resource development

Answer Options :

1) Only (a) and (d) 2) Only (b) 3) Only (c) 4) Only (b) and (d)
S-UTAMBIT AT B o T AT IS IR

37) TRISH ¥) HodTeoH &) AL

) fel 3) gl %) I

gt SR

9) Bh 3, ¥, 3 J)Fh 3, 8, 3 3)Bh d, B, $ ) Bh S, 3, B

3IYH / ATRAHTRY FHTSTHATIT W TRIET / ¢
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The resources of E-pathshala are available in languages.

A) Marathi B) Malayalam C) Telugu

D) Hindi E) English F) Urdu

Answer options :

1)OnlyA,B,E 2)Only A,D,E 3)OnlyB,C,D 4)Only D, E, F

HERT areafies e e (CBSE) @ @iSiatd! diuidl/d Se9T @ dRY g /3ied ?

a) faemeafar qumeRfed, ey arareRuNd goiqR f2remr oISt aMaedd o GIRor SRfAUr g iceTauft
.

b) e dresen-faenelf-frers sere! TeditgT IR B e ot JamEu g ar feadT
SIUIIAS! Taeles Tgu.

C) ATl eNesra Qraifirs ST SATauTaT GEM IR HIT U,

i SR :

9) Bth b Q) Beh ¢ 3) bamfrc ¥) a,b 3MT ¢

Which of the following is/are objective(s) and function(s) of the Central Board of Secondary

Education (CBSE) ?

a) To formulate and implement policies necessary to provide quality education to students in a
stress-free, conducive environment.

b) To raise the quality of education by taking feedback from parents-students- teachers etc. in
education and strive to maintain it.

c¢) To make every effort to raise the educational standard of schools in the country.

Answer options :
1) Only b 2) Only ¢ 3)bandc 4)abandc

GTSISUD! PIorar/a TFT IeeR fRreor iR () (e ot ty-39T) a1/ gedh M /d ?
a) AEfdenaard 9 foemdismed SuiR

b) fEmdiGHT S/E=RET M <.

¢) SN TAATRIROT Y.

d) FEATCHD ARG AT FUROT

e) Wt foramdia /AT WRATT TR0 SYRUIRT STeRT vl

i SR :

9) a 3T b Q) barmfirc 3) a,b,c 3T d 8) damfre
Which of the following is/are component/s of Rashtriya Uchchatar Shiksha Abhiyan (RUSA)
(Now PM-USHA) ?

a) Conversion of colleges to cluster universities.

b) Infrastructure grants to universities.

¢) Vocationalisation of higher education.

d) Institutional restructuring and reforms.

e) Supporting foreign universities/institutions to setup campus in India.

Answer options :
l)aandb 2)bandc 3)ab,candd 4)dande

3IYH / AfRIHTRY FHTSThIToT @Il URtel / ¢¢
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TERTY AR ........... 9mesT <ot fuf 9Q¢3 AT T

q) Hifde Faura IuGeTaR R) 3TaLD fRAarehea "HUhR

3) 900% TG dwaraR IRERIE S HIERANICIEN

In the year 1983 Maharashtra Government had taken the decision of allotting schools on
1) availability cof infrastructure 2) appointing required teachers

3) 100a grant basis 4) non-grant basis

AT M | T TS o, HRAT B> B,

q) AT e R) AR¢E T T LHaiforeh YRUITET GRS [h-TATo!
3) difep fareror ) i fareror

The constitution of Acharya Ramamurti Commission was for

1) Vocational Education 2) Review of New Education Policy 1986

3) Technical Education 4) Women's Education

RRYE, AT IuT &N .......... 7 PSR 3HSI 37T,

q) oo ISERISR dS ATt T R) femdis sFgH smim

3) Y AT 9 I "I e Hew Q) ST forerep foreror uRkug

In the year 1956 in Education, ...... executed the three-language formula.

1) Central Advisory Board of Education
2) University Grants Commission
3) State Secondary and Higher Secondary Board

4) National Council of Teacher Education

AT S PIURAT AT STETe BT ?
q) qEue fremr At R) R fendia <iiepeft |

3) urftiep g Afcrep feraror AT g) ER it fereror et

Durgabai Deshmukh was the President of

1) Basic Education Committee

2) Banaras University Enquiry Committee

3) Religious and Ethical Education Committee
4) National Women's Education Committee

TSIEUD! DIV T el Wg—hadl AlfgHd gl ?

q) TRIAS ASHT fhHH Taded FfauT T A& A IuGeY Ho U,

R) W Tese 3MMaeTd Tg d Hod IrdT ARN SUGY HoT U,

3) UTAABH AT 3R f21eieh IUBeY o QU F JNMYSAT ST STEATIATT TTehR], T ool SYNT Rl 5.

¥) ifes AR mfie M3 Iuees .

Which of the following is an objective behind Chalk-Board Mission ?

1) To provide the minimum necessary facilities and educational aids to primary school.

2) To provide the necessary chalks and boards to primary schools.

3) To provide the teachers who will use chalks and board in their routine teaching in primary
level.

4) To provide physical infrastructure to primary schools.

ATYh / ATUHRY FHTSTDATIT @Il A& / ¢}
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siie fererurRiTSt RSeiomren w1 g Jeresard Hewd Wolesdh! Biuedl freior S Hifide 318 ?
q) faedis feremor s R) urafien freror s
3) W fRreror SR ®) HTegften e SR

The importance of Library and Distance Education in Adult Education is described by which
commission of education ?

1) University Education Commission 2) Primary Education Commission

3) Indian Education Commission 4) Secondary Education Commission

T diie freror aRecHt SRITHAT PIvIT YaaTie AeHd bt ?

9) gfgean Q) TgeT 3) U Q) e
In which Five Year Plan was the National Adult Education Council established ?
1) First 2) Fourth 3) Fifth 4) Sixth

Taley feneare deHtd Wieleid! Huk U /R ghr arg/ smed ?
a) 9%¢E T E Aerfies YR Ay f[ened & Fheu 4e 3fe.

b) TP el TaIcy foeaardl FumAT FRuaTd I8,

¢) HERIEIT JFRTE Nieard ufed Taicy fened g2 R 3.

d) sz v df @1 Faley f[Aenaara uder fear.
gt SN
q) B (b) R) b (d) 3) (b)31fr (c) 8) Hh ()

Which of the following statement(s) is/are incorrect regarding Navodaya Vidyalaya ?

a) The concept of Navodaya Vidyalaya was introduced in the 1986 National Education Policy.
b) To establish Navodaya Vidyalayain every district.

c¢) The first Navodaya Vidyalaya of Maharashtra was started in Amravati District.

d) Admission in Navodaya Vidyalaya is open for seventh standard.

Answer Options :

1) Only (b) 2) Only (d) 3) (b) and (c) 4) Only (a)

WTSIGUD! PV b FIARIfTID Hifedm A Al ?
9) AR AIRIR T ) IR
3) derg Neifdrs g TR qried Tveel ) = e Feres-red

Which one of the following is not a source of occupational information ?
1) Employment news

2) Newspapers

3) Central Bureau of Educational and Vocational Guidance

4) Directorate of Higher Education

q) farerep amfor mrfreror ?) fareren afor aret

3) farerep 3mfor weRr g) farerep STIfOr QMmeer
Samagra Shiksha Scheme emphasize on integration of ......

1) Teachers and training 2) Teachers and Technology
3) Teachers and Community 4) Teachers and Schools

3IYeh / ATRAHTRY FHTSIHEITOT W TRIET / ]0
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&G AT STTUURIRGTG IS TR DieTed TSN HAT AfGeTHT iered Ui ... ST ... gR QRfafd,
9) .., dtema.du. R) I3, Teeg g,
3) HtdLud., UH.09.8e. g) .3, SIR.@N.EN.m.

National Skill training institutes for women under Central Government provides skill training
though ...... and ...... to women.
1) C.TS.,C.ITS. 2)ILL.O.,W.V.TP. 3)C.T.S.,N.S.TL. 4)B.T.P,R.VTL

DIKSHA I T & ... 3.

q) Tqetrea fRremmad! ITeref Q) frermrardt ST

3) frerprard! I TR e amadis w) frermrear ufdeomarda o
DIKSHA is a Scheme of ......

1) Incentive to girl child for education 2) Incentive to teachers
3) National digital platform for teachers 4) App for teacher training

Ui feM0T 9 S7edd Yoo JURURIST YRAM RQR THIONC TATCH dhell 3MT8. T S sifeidberd

QPR ...... g 3R,
) I ATERAT Heo Q) R ¥R
3) |9 e IR ®) UeHT foRa=T SR

India has achieved substantial progress towards improving access to adult education and learning
- regarding this most recently initiative is ......

1) National Literacy Mission 2) Sakshar Bharat

3) Sarva Shiksha Abhiyan 4) Padhna Likhna Abhiyan

fearelt araTashy AroHT SR faemeafr ... AT TR R,
) TaATRIG fareror Q) TR 3) 3 fargror Q) N A

The scheme of Bifocal curriculum prepares twelfth standard students for ......
1) Vocational education 2) Self employment  3) Higher education  4) All the above

q) fareres afor wrfrefor ?) frerep afor aret

3) frerep 1T Aqer ) foreren amfor oMot
Samagra Shiksha Scheme emphasize on integration of ......

1) Teachers and training 2) Teachers and Technology
3) Teachers and Community 4) Teachers and Schools

DIKSHA IS T & ... 3.

q) et et Iceref Q) frermrardt ST

3) frerprard! I TR e aradis w) frermrer ufdeomada o
DIKSHA is a Scheme of ......

1) Incentive to girl child for education 2) Incentive to teachers
3) National digital platform for teachers 4) App for teacher training

3IYeh / AIfRIHTRY WIS Wt UteT / ]9
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Tl PIUTt IS HeToT AT hg TRBR JREhd 3718 ?
a) A emesd farepur=ar gty fermeafr fRafg .
b) @GS, TS, Snfr st feneafr T ufdeo.

c) e @t Ao

d) e fageh (VINT) 9 fafde Jrm gauidiar (SBC) aar 4 &t o v &Y 7ed) ferepom= fenfRiiamdt
arfesars Het Rl der.

Tt SR

q) (a) 37T (d) R) W (b) 3) &b (c) 8) (b) 31T (c)

Which of the following social welfare schemes are sponsored by Central Government?

a) Maintenance allowances to Backward Class Students studying in Sainik School.

b) Training of Motor Driving to VINT, SBC and OBC students.

¢) Education Loan Scheme.

d) Savitribai Phule Scholarship for VINT and SBC Girl students studying in 5th to 7th Standard.
Answer options :

1) (a) and (d) 2) only (b) 3) only (c) 4) (b) and (¢)

T ferpint fApRid dolel - ... TR ITAS Blsel.

9) CFIRIG! BICH3 T Q)

3) HiaTSeT gevIT ¥) SMARIBAT BAD
The e-content developed by primary teachers will be uploaded on ......
1) Whatsapp Groups of Technosavy 2) MITRA

3) Mobile handset 4) Interactive Board

3) IRIAANAD THRIT — Yhao! g FHUNUI
Yl feiieh! Ivict/PITell SRINR MM 2
a) SR FAMUT fABRITT heeIt 3R,
b) AR MBI 3 IeUTeA&RHT, M FRIATT <.
c) AEA® AR TREWT g Mead fIepira 3w 1R

tl'ﬂ'ﬁﬁtﬁﬁ:
9) (a) 3T (b) SRR M ) Beh (b) TR 3.
3) (a) 3T (¢) SRR 3T ¥) Id TR

Which of the following statement/s is/are correct?

a) Health is a center of complete development

b) Health gives more productivity and economic security to country.
c¢) Universal health care is a objective of sustainable development.
Answer Options :

1) (a) and (b) are correct 2) Only (b) is correct
3) (a) and (c) are correct 4) All correct

TG / ATUHRY FHTSTHATIT @Il TR / ]2
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GTeies U PIurd /dl aRIsR 32 /d 2

a) ST 3TRRI AT (Assembly) & ST IR Heae-d! ok aukt Fam are.

b) SIIfeh SR T JRed BRI Fee-dl YRUT SRV 37T AgriaTesardl Fh! -, JRTfaT BrRishH
IHAUADBRT H=I éﬁf 3led.

¢) PRIBRT He®rE! T A UG Fagd e difieh oRRT UTH 38 AR S0 31T,

i SR :

9) %eh a ) W49 a, b 3 ¢ 3) % b 8) Beh C

Which of the statements given below is/are right ?

a) World Health Assembly is the decision making body of WHO.

b) WHA'’s main functions are to determine the policies of the organization and appoint the Director
General, approve proposed programme budget.

c¢) The Executive Board is composed of 34 technically qualified members elected for three years.

Answer options :
1) Only a 2)Alla,bandc 3)Only b 4) Only ¢

ST Td AlpiedT IR Fad Tdodiar I8 SRUIRITS! 3.3, 98¢ T PIUI HeeHT T SiTeit ?

a) TeT SNaRRIEIT faerT <= b) MR SNARERT Sctp Fdhe feh
¢) SN 3R HEeHT d) ST SIRFY SUqUh HECHT
et Proar yafa gehiem 3/ smed ?

1) ®h (a) Q) (a) 31T (c) 3) (b), (b) 30l (d)  8) AeTehl ATt

Which of the following organization was established in 1948 to protect the health of people
at higher level all over the world ?

a) Swedish Intentional Development Agency

b) United Nation’s International Children Emergency Fund

c¢) World Health Organization

d) World Health Care Organization

Which of the above option(s) is/are incorrect ?

1) only (a) 2) (a) and (¢) 3) (a), (b) and (d) 4) None of the above

3.3, 9R0¢ TEY IRt MHT ST AL HTeledT RRIET IRV STIfd iR ' Farrd! TR’
T FheTTeT T WietleTid! PIud U Higet 2

a) ANB IR AT BT b) HafaTd! IR

¢) IR T JeTHl SIIBR d) IR & Ffehep AMAPR
RNIAIH! PO T SRS 3772/ 378 ?

1) ®h (a) Q) (a) 3MfOr (b) 3) (a), (b) 3T (c)  ¥) Bh (d)

Which of the thoughts were put forward in the international conference organized in Almata,
Russia in 1978 regarding the concept of ‘health for all” ?

a) Peoples Health in Peoples Hands b) Health for All

c¢) Health a Fundamental Right d) Health is a Personal Right
Which of the above option (b) is/are correct ?

1) Only (a) 2) (a) and (b) 3) (a), (b) and (c¢) 4) Only (c)

3G / ANfUBRY FHATSIHEATIT @It TAeT / Q3
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ST SR Fee+d (WHO) 949 A& Pgd RIS I haws SR eg R -

a) bl ITetel STFH 0T JMTfOT & 3RTelel ST7H 8IS <ul.

b) T RIS 3fERMER R0 Saul.

¢) 37 ASAT 9, Helrd S+ AT AR [ IRGUL,

d) pesTcler gerrdt wear fifead oo 7 g,

e) <ififes frerr UgM o,

RIS PIoRT e/ e aRIeR o /3 ?

q) weh (a) MO (b) Q) Wb (a) MM (c)  3) (a), (b), (c) MM (d) ¥) el T RIS A7
The only aim of World Health Organization in 1951 was not only to control the birth rate through
family planning but also :

a) To avoid non-required births and to allow the required births.

b) To have control between two pregnancies.

c¢) To maintain proper relation between the age of parents and the childs birth.

d) To fix the number of children in the family.

e) To provide sex education.

Which of the above statement(s) &/are correct ?

1) Only (a) and (b) 2) Only (a) and (c)

3) (a), (b), (¢) and (d) 4) All of the above are correct

HRA ARPRA ...... IR HIRGD It BRIHHRIGT SOITFGRT TTHIDRUITEl BHRIshH GRo HRugTT f+urg
e,
9) 9 FlgeR, 099 Q) 30 AESR, 094 3) A THARI, 098 ¥) K WFARI, 090

Govt. of India has taken decision to start injection immunization of polio programme along with
oral polio since

1) 1** November, 2011 2) 30" November, 2015

3) 1** January, 2016 4) 26™ February, 2017

SISIGEIRGEIRISERISED
el oM’ E U AehedT 317, STt HEg SIS JAfUDID dllh AR GAfead uamet
fomioT et ST

@) (r=3) D (Fma)

a) TR i) et o

b) TERTE i) ST AT
c) 3™ iii) g 9o
d) goTe iv) St wor
Tt SR

@ () (¢ (@@
D @Gv) (i) (i) @)
2) (i) () (i) @(v)
3) @) (i) Gv) (i)
4) (i) (i) Gv) (1)

3IYH / AfRUHTRY FHTSTHITOT @Il URteT / ]%
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Match the pairs (Tithi Bhojan Scheme)
‘Tithi Bhojan’ is a concept designed to ensure greater public participation under the mid day meal

program.

(I (State) (IT) (Name)

a) Rajasthan 1) Priti Bhoj

b) Maharashtra 11) Utsav Bhoj

¢) Assam 111) Sneh Bhojan

d) Punjab 1v) Sampriti Bhojan

Choose the correct pairs from the following.
@ (b (© @

1) (@Gv) (i) (1) @4)

2) (i) () (@) @Gv)

3) (1) (i) @Gv) (i)

4) (i) (i) @Gv) (1)

ARIRD ST 3TLID AT Ahl TG PRUATAT GBI IR ot I PRI AT, AT TR ...
TEUTATd

9) AFRID G R) IS G 3) 3MfHD Gad g) JEIhR g

The proper system used to strengthen the affected parts of the body is called ......
1) Mental Rehabilitation 2) Social Rehabilitation
3) Spiritual Rehabilitation 4)Medical Rehabilitation

Gl JTRFITT &A1 b1 hRUMAT AATHIET T DI 3MTed ?

a) YRR XS Iy HeeH] b) e o Farwm w9

¢) YRT Add IS d) PHERIT TR HS

TIAIHT BV /DI TTT SRR 3T/ 3Mee 2

) o (a) R) (a) 3fr (c) 3) (b), (¢) amfor (d)  8) RieT A
Which of the following the non-government organization working in the field of Health ?
a) Indian Redcross Society b) Hind Kusht Nivaran Sangh

c¢) Bharat Sevak Samaj d) Kasturba Memorial Fund

Which of the option(s) given above is/are correct?

1) Only (a) 2) (a) and (¢) 3) (b), (¢c) and (d) 4) All above

T 2093-93 T 209Y-9¢ IF HERTY ARITF el HIIeee 2o TR~ DU-iiel HEIcHT SHfcraT ol
SH TR AT (MIPJAY) 3ichfa Fafydt weud fohcht It Sud Iad 31aT et ?

9) 380 HIEY ?) 384 P 3) 3Yo I 8) 234y PII

How many crore of rupees paid for Mahatma Jotiba Phule Jan Arogya Yojna (MJPJAY) as
premium subsidy to a private health insurance company from 2012-13 to 2015-16 by Government
of Maharashtra?

1) 2340 crore 2) 2345 crore 3) 2350 crore 4) 2355 crore

3IYh / AfRIHTRY FHTSThITT @Il URteT / QY
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SVIETEY AT YITRIHIT AT WleiloTieh! DUl Ue FHIRIE 377 ?

a) SMUETS! BRI b) waféen
¢) 91et faprT They JrfermrRY d) STeT 3R JrfeHRY
Rietieh! PIUaT Wiy SRAER 312/ 37ad ?

q) (a), (b) 31T (d) ) (b) 3P (c) 3) (a), (b) 3T () ) T wd

Which of the following posts are included in the administrative structure of Aanganwadi Scheme?

a) Aanganwadi worker b) Supervisor

c¢) Child development project officer d) Child health officer

Which of the above option(s) is/are correct ?

1) (a), (b) and (d) 2) (b) and (¢) 3) (a), (b) and (c¢) 4) All above

9) Yo ) &0 3) Wo ¥) ¢O
Generally more than ........ % epidemic diseases occured due to contiminated water.
1) 50 2) 60 3) 70 4) 80

anem (ASHA) & it SRidh Wietierdchl HIvredT fIhRT TSR (-gth HRudnd 37eft ?

a) Ul a1t faerT Ao (ICDS) b) T Il fdm™T drisH (IRDP)

¢) TopIfcdes ATHior SR fem (IRHM) d) T arfior R fe= (NRHM)

RIceh! DI YT aRIER 3R/ 3ATed ?

q) b (a) R) e (d) 3) (a),(c) 3N (d)  ¥) (a), (b), (c) or (d)

Accredited Social Health Activist (ASHA) was appointed under which of the following development
schemes ?

a) Integrated Child Development Schemes - ICDS

b) Integrated Rural Development Programme - IRDP

c¢) Integrated Rural Health Mission - IRHM

d) National Rural Health Mission - NRHM

Which of the options (s) given above is/are correct?

1) Only (a) 2) Only (d) 3) (a),(c) and (d) 4) (a), (b), (c) and (d)

) 209¢-9R TIT goicHeY 3T UfhaT HATITT 900 RIS YT 0T 3MTet,

II) 209¢-9% BT FoIcHE 3T Hchal HATIT qolc GHC PRUFT 3ol

RIAUD! DU T /7 RIS 3R ?

9) ek fqu™ (I) TR 3R, R) wh fqu™ (II) SRR 3R

3) QR faum (1) enfr (IT) SRISR e, 8) QeI g (1) snfor (1) ghr amed.

I) In the budget 2018-19 allocation for the ministry of food processing is 1600 crore.

IT) Allocation for the ministry of food processing has been doubled in the budget 2018-19.
Which of the above statements is correct ?

1) Statement (I) is correct only. 2) Statement (II) IS correct only.

3) Both statements (I) and (II) are correct. 4) Both statements (I) and (II) are incorrect.

3G / JNTUBRY FHTSIHEATIT @It I / €



94)

15)

g)

16)

Q)

17)

9¢)

For Private Circulation Only
"' SIRIY FgUIST hais INT fehdT STeTehdT AT 3THTE eg TR SRIRG, AFRID d AIfoh R 8. o/
Pl Tgeet ?
9) HgreHT ekt Q) & WRR 3) 9T g3 ¥) STNIf JIRFY FeeAT
Who said, “Health is a place of complete Physical, Mental and Social well being and not merely
the absence of disease of infirmity” ?

1) Mahatma Gandhi 2) Herbert Spencer
3) Thomas Wood 4) World Health Organization

ARAT e 3reh Jeg Xael qelerih! pIur ™ wedr amed 2

a) 3P T R TgUNT X BRI FTGa ST AU THehIUD! S JuRaTelIel STHepreaT Jegdl AT

b) Fofidrear auid YRATT e T X1 a6 e 3ell 3.

c) 3 GG TR 209¢ ATl 38 Tl BT OR 099 T SIHUHAR! Al 88 TIeT gk,

Tt S :

1) (), (b), (¢) R) (b), (¢) 3) (@), (0 8) (a), (b)

Which one of the following statements are true about Infant Mortality Rate in India ?

a) Infant Mortality Rate (IMR) is measured by death of children under two years per 1000 live
births.

b) India has registered decline in IMR in recent years.

¢) In2016 IMR in India was 34 and it was 44 during 2011 census.

Answer options :

1) (a), (b),(c) 2) (b), (¢) 3) (a), (¢) 4) (a), (b)

S dTeT gReT AE 3y PIoRht 1R ?

a) NI RV V0 b) Y& Figed

c) AT q 197 5 &% PH] P, d) THaH 7T FieTieT e

g g

9) (a) ST (b) 2) (b) 3719 (d) 3) (b),(c) 3 (d) &) (a),(c) 37 (d)

Which are the aims of Janani Bal Suraksha Yojana?

a) Stabilizing the population

b) Safe maternity

¢) Reducing the rate of maternal and infant mortality

d) Incentive fund of pregnant mother.

Answer Options :

1) (a)and (b) 2)(b) and (d) 3)(b), (c)and (d) 4)(a), (c)and (d)

T BUD! DIUT TS IR THIT ARSI TRIGIYUTAT AaceT TOIMEd BHH PRI B T TG
%. 4,000 fiet ST

a) JUTHT TR AT b) YA HgaGAT AT

¢) TUHA JRIET A Ao d) TSt S Siteeft Qe
RIBUD! DIVAT JIRT SRIS 3R /3T ?

q) ®h () R) &h (b) 3) (a) MRT (c) 8) NS Fd

3IYH / SRR FHTSTHEATIT W TRIET / ]
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Under which scheme, pregnant women are given ¥ 5,000 for not being allowed to work in the last
stages of pregnancy.

a) Pradhanmantri Swadhar Yojana. b) Pradhanmantri Matru Vandana Youjana

c¢) Pradhanmantri Surakshit Matrutva Yojana  d) Pradhanmantri Jan Aushadhi Yojana.

Which of the option(s) given above is/are correct?

1) Only (a) 2) Only (b) 3) (a) and (¢) 4) All of the above

Sl U Ul S, 3eget et 3 JATER ASH &l Wletieriep! PIVRITS] G HRUAT 3Tedl 2

a) susus! Al IRIGR qfger b) aifarféra afeer

¢) INfCardt TR Afget d) arfderfaa A

qift SR :

9) wh (d) ) B (c) 3) W (a) Q) IR T
Dr. A.P.J. Abdul Kalam Amrit Diet Scheme was launched for which of the following ?

a) Pregnant Women in slum area b) Uneducated Women

c¢) Pregnant tribal Women d) Unmarried mothers

Answer Options :

1) Only (d) 2) Only (c) 3) Only (a) 4) All of the above

TR AT ST ¥R GTetieichl DIVl HH PRI AR 2

a) SR §3hT U1 g Al 3. b) ATRY IRFY 70T TNy 1T SURRUT 10T,
¢) AET IUNETGIe] ITADIT YReh UISUT 3R QU d) AFRY IIRFI ST Wl <o,

it SR :

q) () AT (b) R) (c) 8mfor (d) 3) (b), (c) 3mor(d)  8) (a), (b) 3or (d)
Asha Volunteers in Urban areas have to do which of the following?

a) Conducting field level meeting and keeping records.

b) Attend Civil Health and Nutrition Day.

c¢) Supplementary Nutrition for children under six years of age.

d) Visiting Urban Health Centres.

Answer Options :

1) (a) and (b) 2) (c) and (d) 3) (b), (c) and (d) 4) (a), (b) and (d)

ETefiel AU PIuId aRIeR 3TTe 2

a) IR gEAUT SR SIRRIA & BRI 9 UffieT 2004 ST <UTd Joo ST

b) JTERI AHIUT AR A BT BRIHH T2 SR HRATNel IS TR el el

gt SR :

q) T (a) R) Fh (b) 3) A P AMRA 8) Qeal RIS 7R

Which of the following statement is correct?

a) National Rural Health Mission was started in the Country on 12" April, 2005.

b) The Programme National Rural Health Mission is first enforced in the states of Southern
India.

Answer Options :

1) Only (a) 2) Only (b) 3) Both are incorrect 4) Both are correct

3IYh / AfRIHTRY FHTSTHITOT Wt URteT / Q¢
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T TR IRET AT Wlefielueh! PDIud TR aRIeR 3Md 2

a) TGUT R T4 IR AR YT (T) FRAT GI9uI UM 37Tel! 3.

b) HIUT®, YeeaR, SHUR, e, IR J ¥l A ARgeT WRAT YT (W) FeAT o el
3me

9) wwmwﬁ%@nwsﬁ@ﬁ@m@%mma
d) 09¢-9R =T TP FEAATAR EHM 5T TRIDII AEDR HRITRI /FEAR S AT
gehiaia WY Hhedrdl faR Pell el 3.

T IR :

q) (a) 37T (b) ) (a), (D) 3T (c)  3) (a), (D)3 (d)  3) T FaRT R 3T
Which of the following options are correct in respect of Pradhan Mantri Swasthya Suraksha
Yojana?

a) Total of 22 New All India institutes of Medical Science (AIIMS) have been announced.

b) All India Institue of Medical Science (AIIMS) has been started in Bhopal, Bhubaneswar, Jodhpur,
Patna, Raipur and Rishikesh.

c) OPD services have been started in AIIMS, Nagpur and AIIMS, Bathinda.

d) As per Annual Report 2018-19, 75 projects have been considered under the component of
upgradation of existing State Government Medical Colleges/Institutions.

Answer Options :

1) (a) and (b) 2) (a), (b) and (¢)

3) (a), (b) and (d) 4) All options are correct

RGTAIAUDT PIOTT /A G SRIER A8l ?

"'3e’’ BRIGH HUHd: 00§ HEY DIV HHIA o IoAHEd F& HRUITT AT,

a) =T b) SR c) TERTE d) BT

g IR :

q) Bh (a) 3T (c) -~ R) Bh (b) 3) & () 8) Weh (b) 31T (d)

Which of the following option/s is/are not correct?
The Asha programme was first launched in 2006 in following high focus states.

a) Orissa b) Rajasthan c) Maharashtra d) Chhattisgarh
Answer Options :

1) (a) and (c) only 2) (b) only 3) (c) only 4) (b) and (d) only
'qEh YA’ HheUl Wletierdehl Do FRT FEfUT g ?

a) Xed Jar b) IR [T c) foame d) TReroT [t
RITUDT PIVIAT YTt Jehrar 372/ 37 ?

9) %h (a) 2) &h (b) 3) (a), (c) and (d) 8) RIeAuD! T4
Concept of 'Bike Ambulance' is associated with which of the following services?

a) Train services b) Health services ¢) Airline services d) Defence services
Which of the option(s) given above is/are incorrect?

1) Only (a) 2) Only (b) 3) (a), (¢) and (d) 4) All of the above

3G / NTUBRY FHTSIHEATIT @Il TRIE / /]
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YRATS HUIYOT G HROMIT IS DIV ?

a) TpIfHD §1eT fABRT AT b) g eIt BRip

C) HEYT+g YIS IISTHI d) TRaSU=IT SX1a e gRdal

R SR :

q) () 3T (c) ?) (b) 3o (d) 3) (@), () 3mr(d) ) (a), (b) 3N (c)

Which are the programme to eliminate malnutrition problems in India?
a) Integrated Child Development Programme b) Jeevan Unnati Programme

¢) Midday Meal Programme d) Ration Provide at Affordable Rate
Answer Options :
1) (a) and (¢) 2) (b) and (d) 3) (a), (¢) and (d) 4) (a), (b) and (¢)

HTefiedehl PIOAT SAFRIAMIhT I AAMTdel BRI eliT dhdes ura dudrd HHest Taehd
QORI JISHT IEAUT SATet! 2

a) 99 IR b) vfeare IR

c) SUg PRI d) arfior T R

RITIB PV TR aRIER 372/ 38l ?

q) b (a) R) Pa (c) 3) (a) 30T (C) 8) (a) 3T (d)

Which of the following campaigns has been implemented to give Sanitary napkins for only Rs. 5
to teenage girls in rural areas?

1) Zep Abhiyan 2) Pratisad Abhiyan

3) Umed Abhiyan 4) Gramin Swachhata Abhiyan
Which of the option(s) given above is/are correct?

1) Only (a) 2) Only (c) 3) (a) and (¢) 4) (a) and (d)

TUTTHAT TR JREM ASTY MR SEHIG T SUGeY 8106 MG SRIAIG JURUIT & 31T,

7 IS Wieies Hivrt /< U/ R 32 /T 2

a) g AR R T T (AIIMS) =t G et et gl BRRA RIT Sa” uicara fafe eoamer
3.

b) URITETR QTRIDRI AEIh FRTaeaaidl Solred! 313 ToITd YUl hayl STIs.

¢) IR RIS Gfan A7 f&chald / SATEIT SEIUd P diEb™, SUPRY 3. g A0 5
ARFAFAT €0 : 8O T UG hod TR

i SR :

9) %eh a ) a,bamfr ¢ 3) aaMfr ¢ 8) Heh b

Pradhan Mantri Swasthya Suraksha Yojana (PMSSY) aims at correcting regional imbalance in

availability of health care services. Which of the following are right statements about PMSSY ?

a) The Union Government has announced 22 new AIIMS out of which 6 are functional while
others are at different stages of completion.

b) Upgradation of 75 Government medical colleges will be completed in VIII phases.

¢) Improvement of health infrastructure and construction of superspeciality / trauma centres,
equipments etc. will be done with 60 : 40 Centre and State share.

Answer options :
1) Only a 2)a,bandc 3)aandc 4) Only b

3IMYh / AfIHTRY TSRO @it Ttelm / 900
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rior SR Urgelt 20919 TAR IIERT UTdeiaR STfeard &Td TghH Su—hy, TTAHD R e 0T
IR 3R e, AT THIONT WToid THT0 SHHRdT gl

) 9%, /% IMOT 3% R) 0%, W% AT 4%

3) Y%, A% AT 1% ) 9%%, % 3T 3%

As per the Rural Health Survey 2017, there was the following overall shortfall of Sub-centres,
Primary Health Centres and Community Health Centres respectively in tribal areas at the all-

India level :
1)21%, 26% and 23% 2) 20%, 24% and 25%

3)25%, 28% and 22% 4) 19%, 24% and 23%

GISIUDT DIUTcl Al HERTEICAIes STRIe Fefere eget ?

9) OR A ?) HefoaR |l 3) sftara A ¥) S Jf
Which of the following committees was not related to Health in Maharashtra ?

1) Bhore Committee 2) Mudaliar Committee

3) Srivastava Committee 4) Dange Committee

ARRT RIS TR TR @letieTich! PIUTT B PRI AT ?

a) AR §3HT 8O g Al Sl b) ATRY JIRFY IFTOT IO AT SURRUT 10T,
¢) AET quIETeiie] STeihil JReh UISUT-3TER <UL d) AR IRWI DgHT Hel <UL,

Tt S :

q) (a) 37T (b) R) (c) ST (d) 3) (b), (¢) 3T (d)  8) (a), (b) MMM (d)
Asha Volunteers in Urban areas have to do which of the following?

a) Conducting field level meeting and keeping records.

b) Attend Civil Health and Nutrition Day.

¢) Supplementary Nutrition for children under six years of age.

d) Visiting Urban Health Centres.

Answer Options :
1) (a) and (b) 2) (c) and (d) 3) (b), (c) and (d) 4) (a), (b) and (d)

AR qATcfles Smen TRl gfiieT ot 3 ?

a) 99 TRIGR ARSI SgeseaT SUETE! haldd e fHegd <.

b) TRIX AR IRFT AR R RIS T .

C)INIfId JerhIT BTsSIehiNaT AUCe U,

d) SMUIT HRIGATT Jom=AT HG Tt ARSI AT PR,

Tt S :

%) (a), (b) 3T () R) (b), ()3T (d)  3) (b) 3 (c) 8) W Uig RIS MR
What is the role of Asha Volunteers in urban areas ?

a) Providing ration to all pregnant women from the nearest Anganwadi centre.
b) To strive for safe delivery of pregnant women in the health institution.

c¢) Counselling for antenatal medical care.

d) Preparing a list of all pregnant women in her area.

Answer Options :
1) (a), (b) and (c¢) 2) (b), (c¢) and (d) 3) (b) and (¢) 4) All options are correct
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'3’ (ASHA) FRRAfIehIea STecid Wieieud! Do e /e g g /smed 2
a) feaamy, erRmT, Frefiear AR SUTRRAS! Hed AR,
b) PET PHeAT0T FIR I THERIUD IeT v,

¢) FIAT FUE, SIegeh Mol g 3MER, SGd ARG awul..

d) ST-gg_ Aicuiid Agd L.

T I :

) &b (b) R) ®h (b) 3) (a)(b)emrd) ) Rudr Tl

Which of the following statement(s) is/are incorrect in the case of 'ASHA’ Swayamsevak ?
a) Helping to treat Malaria, Tuberculosis. and Epidemics.

b) Pamily Welfare Promotion and Distribution of Contraceptives.

c¢) To guide mother's breast-feeding, iron tablets and diet, etc.

d) Assisting in Birth and Death Registration.

Answer Options :

1) Only (a) 2) Only (b) 3) (a), (b) and (d) 4) None of the above
RgTefierdeh! o /d T aRIeR A8l ?

"'3e’’ PRIHH HYHd: 00§ HEY DIV HHIA Dhaid IoTHEd e HRUITT ST,

a) IR b) TR c) HERTY d) BTG

IR SR :

q) W (a) 3T (c) Q) Fh (b) 3) B (C) 8) b (b) ST (d)

Which of the following option/s is/are not correct?
The Asha programme was first launched in 2006 in following high focus states.

a) Orissa b) Rajasthan ¢) Maharashtra d) Chhattisgarh
Answer Options :
1) (a) and (c) only 2) (b) only 3) (c) only 4) (b) and (d) only

T gretor TR e ferfd arfior YT T FRon=I S BRI G WBieUd! BRI U ?
a) JMUETS! Afden b) SFUETS! HRIGET - ¢) AT DRI d) gR=TReT

gt SR

9) %eh a Q) a amfirb 3) %h ¢ ¥) ¢ 3T d

A women worker working in rural areas under the National Rural Health Mission is called as
which of the following ?

a) Anganwadi servent b) Anganwadi worker  ¢) Asha worker d) Nurse
Answer options
1) Only a 2)aandb 3)Only ¢ 4)candd

e HTIHe FasId ST HH! PRUANATC! Fo PRUAT BT ATGSIeh TR AT 7RIy
RSATce UfgedT Fasird fR1g] Purafgchd BIepTdul WIBIcUueh! DUl I HRUITd 3T ?

q) HT. G IET 3N R) #ft. I~

3) &t Seg AHa ) ft. aETSI AEd

Public Health Department’s first Neonatal Ambulance to reduce neonatal mortality in tribal areas
in Maharashtra State was inaugurated by who among the following ?

1) Chief Minister Uddav Thackery 2) Shree Rajesh Tope

3) Shree Uday Samant 4) Shree Tanaji Sawant
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T TR IRET AT Wlefielueh! PDIud TR aRIeR 3Md 2

a) TRUI Q TN 31RaeT YR Y[ (V) (Tl BN SHRUAN 3ATeft 3Te.

b) T, IR, SR, UICHT, IR T T I Raet AR YA (T FAT T el 3T,

¢) TRF AN M7 O SiSSMER SISt HaT 4 hedl 3Ted.

d) 09¢-9% T TP AR [T 5T IRIDII AETDHRT AR /FeA STUSeH AT
gehicRd Y Theural fIaR Bhall Tell 37Tg.

T I :

9) (a) 3 (b) ?) (a), (b) 37T (¢) 3) (a), (b) 3MfUr (d) ) 4 TR SRISR 3N
Which of the following options are correct in respect of Pradhan Mantri Swasthya Suraksha
Yojana?

a) Total of 22 New All India institutes of Medical Science (AIIMS) have been announced.

b) All India Institue of Medical Science (AIIMS) has been started in Bhopal, Bhubaneswar, Jodhpur,
Patna, Raipur and Rishikesh.

c) OPD services have been started in AIIMS, Nagpur and AIIMS, Bathinda.

d) As per Annual Report 2018-19, 75 projects have been considered under the component of
upgradation of existing State Government Medical Colleges/Institutions.

Answer Options :

1) (a) and (b) 2) (a), (b)and (c)

3) (a), (b) and (d) 4) All options are correct

TERTY AT 2 pedl AT GRIGKT TR ER JRIART AT AIGHAGHIT WIBIe vk e / fam sRisR

3Te /3T 2

a) 9¢ RIS ARSHT, HITH, RIS ARSI TfTaecHeD AT STIRHD AR JALT UGy Ho
Q.

b) 30 NTeRI Fd ARG BB, AYHE, S had, AdIag, Sl IR/ FeM, TR 3Mfor
UG RO,

i SR :

9) %eh b ) ®h a 3) Wb a 3701 b g) a3 el

Which of the following statement(s) is/are correct regarding the ‘Home is safe if, mother is safe’

campaign launched by the government of Maharashtra ?

a) To provide preventive and curative health facilities to women above eighteen years, mothers,
pregnant women.

b) Diagnosing, treating and counselling all women above the age of 30 for cancer, diabetes, high
blood pressure, cataracts etc.

Answer options :

1) Only b 2)Only a 3)aandb 4) None of the above
SHTHRTCHS U ehid! W1 000 Hedl {3 [fesad v 00¢ A ... ferfosaoia
UiRe! 3.

q) /&3 Ak R) 90g3 WAl 3) 9953 Mk 8) 92&3

The number of malnourished persons worldwide has increased from 923 million in 2007 to
........... million in 2008.

1) 963 million 2) 1063 million 3) 1163 million 4) 1263 million
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9) Rieer aReg ) I RId | 3) ST IRBR Q) g IRDR

1) Zilla Parishad 2) Gram Panchayat 3) State Government  4) Central Government

3) WIS WHRAT — SIdIE g ST, 3TeISigl, R

TSI BUD! DIV AR HRATNS SIRGATST ST T, Ped—ATTAGY I, YHGT AT I
HUTCATATS] HERTCHT BT STUIRT JMUR BRUTY 31 A faed des ?

a) SIRIH IR b) " dR c) JARR g d) TR el
RIS PIUT TR ebraT 3MTe/3ATed 2
) Hh (a) Q) (a) 3T (b) 3) (a),(b) M (c) %) iU T

Which of the following thinkers described caste system, structure of family-kinship, religion
and populist politics are responsible factors for poverty in India?

a) Joseph Schumpeter b) Max Weber ¢) Arthur Louise d) Gunnar Myrdal
Which of the options(s) given above is/are incorrect?

1) Only (a) 2) (a) and (b) 3) (a), (b) and (¢) 4) All of the above
IR TRER g DIV Teass ?

q) RG TGRS R) Ad IS 3) | TS 8) STRIRT d1q
Who launched strong attacks on superstitions?

1) Narendra Maharaj ~ 2) Sant Ramdas 3) Sant Gadge Baba  4) Asaram Bapu

TERIENNS UGl e Jderd T @ - Weiaudh! Hivf 3fed ?

q) G GRS/ IRRM I1Y, Q) TS IS/ AT HIG

3) RS SHIBHR / I TG ) IR ATARIR / ATATRSET

Who among the following are the main leaders of the superstition eradication movement in
Maharashtra?

1) Narendra Maharaj/Asaram Bapu 2) Baba Amte/Sham Manav

3) Narendra Dabholkar / Sham Manav 4) Babasaheb Satarkar / Satyasai Baba

q. mefiSiar 7d ... g1 fadf g FEmEaer Hee QuIRT IR,

q) waiea R) U WS

3) orfewr 8) WIGUD PIUCE FAT AF ATE

According to Mahatma Gandhiji... it is a non-religious and a message of equality.
1) Sarvodaya 2) Gram Swarajya

3) Non-violence 4) None of the above options are correct

3RYLIAT AR, AMGIRID T, TReG!, s dToM 3. el URT Todw HIordt ?
9) sfifpe Q) AT 3) Haicg ) Ragae o

Removal of untouchability, communal unity, prohibition of alcohol, new training etc. What is
purpose driven movement?

1) Sriniketan 2) Antyodaya 3) Sarvodaya 4) Christian Mission
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e YGIATeT Hges MR RO

a) TRhIT FARVILRhT ST JfGATT HHT gl b) HCE AT AeTIes SUETd B,
c) A mfiepRIRh HH 8. d) H1ce ggref o Tdid IRAAT.
RIGUD Do faer™ /U™ =R 3 /3med ?

) ®h () ?) (a) 37T () 3) (a), (b) 3T () ) N> |
Effects of drug abuse :

a) The person's memory and intelligence are reduced.

b) Due to more drug abuse accidents occur.

¢) Reduced immunity.

d) Drugs cost less money.

Which statement(s) given above is/are correct?

1) Only (a) 2) (a) and (¢) 3) (a), (b) and (¢) 4) All of the above

DI e g SRS T SHaIeME SUIeh 312 AISIT US> ABUTAT THTE FRETT Jawdar enRd
3 ?

q) I Q) faam 3) TR ¥) TP T AT faeprT
Which mission is a convergence frame work for measurable effective outcomes on parameters
that transform lives and livelihoods?

1) Antyodaya 2) Disha 3) Manrega 4) Sabki yojna sabka vikas

TERTY AR ‘Slosal o QRRPR’ 31T pIoredT Aa - &t Sar 2

) PHAR SRS MIDATS SIS GRREPR Q) Sl IR HTEShR Sfoscl B JREDIR
3) HERHT §S3 Sl3dfd JRRBR 8) SIS 1S SIS JREPR

By which name is the Maharashtra Government's 'Dalit Mitra Award' now given?

1) Karmaveer Dadasaheb Gaikwad Dalit Mitra Award

2) Dr. Babasaheb Ambedkar Dalit Mitra Award

3) Mahatma Phule Dalit Friend Award

4) Annabhau Sathe Dalit Friend Award

TERTY SR T 00§-00 IT JHART ' Sf5aawil faeprd g FURUT I’ It o
AT B! AT ?

q) HEIHT e, HERHT $ob, Sl JTeser R) . 3MESHR, HERHT §ioh, TSI HERWT

3) M8, D3, TSR 8) S HERTS, G, P>

In whose name has Maharashtra government started "Dalitwasti Development and Improvement
Campaign" from the year 2006-07?

1) Mahatma Gandhi, Mahatma Phule, Dr. Ambedkar

2) Dr. Ambedkar, Mahatma Phule, Gadge Maharaj

3) Shahu, Phule, Ambedkar

4) Gadge Maharaj, Shahu, Phule

fSERAHe ‘HRATER’ Aared Slosd—3RYL FHISITEAT AT —ATRIE [IBRIKTC! ER TRBRT GIoiaud!
DIV UheqRT AT Tt Mg 2

q) IR it PRI, ISR 7 FHT0T RO g HiRATh f5hT ShRugrEn Heped

R) IR HReT IMURIT HRAT BIcA g fdshl

3) IR AR RSN AISIUITAT TRI

8) SUH Tepg! AT
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Which of the following projects has been approved by the Government of Bihar for the socio-
economic development of the Dalit-Untouchable community called 'Musahar' in Bihar?

1) A project to farm rats, produce rat meat and sell the meat

2) Killing rats and selling the meat from small shops

3) Trying to send rat meat abroad

4) None of the above

SN ST eS8 SRR U= el Hithd QUITd! ASHT AT S H0IR SHHR BHIvT 2

9) SURIT M TR TIR FRUR R) /TN UeAT GO ARUIR

3) ST Blehel IR GOKIT PRUR g) SHIERE PIdel famuR

Who are the workers benefiting from the 'Scheduled Caste Group Workers Scheme for Free

Paper Stalls'?
1) Bamboo Ornament Makers 2) Old/New Footwear Repairers

3) Repairers of old wooden items 4) Sellers of animal skins

'BIPATER ITUTHARS AIS. TRDR AT hiTd REDRIAIG! Sehl HIOAT FHSTAT SRATET SR ?

q) Tastg FHSTET Q) onfcaril FHIS=T  3) HIGT AHMNIET Q) HI! FHSIT
Which community should a person belong to for the individual award 'Lokshahir Annabhau Sathe'?
1) Neo-Buddhist society 2) Tribal society

3) Matang society 4) Mali society

TR SR SIdie SeUURD, AMETHT FHAR SGNTRd MIhare FaIHM d FGoesl
oMy ST M HATIRATS! 100% SFCHTER HATAT YRST 8l ?

9) gl feox Q) TFR 3) e g) Jeiet

In Maharashtra, what is the provision of 100% subsidy to the beneficiaries of Karmaveer
Dadasaheb Gaikwad Swabhiman and Empowerment Yojana for acquiring land?

1) Power tiller 2) Tractor 3) Tempo 4) Bullock pair

¥) ANPAEIATID THRT
WA STD YRATAS SIpAIEICI BRU DIt 3ad ?

a) TFACR 9 T JIEXICS qhrad b) ferergreit wArdfaar

c) BeM I faaE d) sgueited

AR IR :

9) FH (a) R) (a) 3T (c) 3) ()3T (d)  8) NI Fd

Which of the following are the reasons for population growth in India ?

a) The difference between birth rate and mortality rate

b) The universality of marriage

c) Marriage at an early age

d) Polygamy

Answer Options :

1) Only (a) 2) (a) and (¢) 3) (a), (c) and (d) 4) All of the above
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YNGIT STHEY 3iferep U @icfieriehl Bivd] FRU STad ?

a) F® bl [qaTE BVl SFar. b) GAIGET ATl ST Hged

c) STAETHR FT7EH PIAael] Qe ST, d) N FHIT @] S0 SIEIEErEr e G
gYicTiehl IVt 13T/ AR qRIaY 378,/ 3TET ?

ggred IR -

9) (a) S (D) 2)(b) sfor(d) 3)(b) 3 (c) &) adlerdedl gt

Which of the following are reasons for higher birth rate in India?

a) It is compulsory for every person to Marry.

b) More importance to a boy than girl.

c) Because of child marriages reproductive period is longer.

d) Low literacy rate and low living standard.

Which of the statement(s) given above is/are correct?

1) (a)and (b) 2)(b)and (d) 3)(b)and (c) 4) All of the above

BIpEE] d1e AT i f[IRT ITdies FeUrRieHd Wioie U =R &

a) BIHAEIT 16 & THI-5M THTHEY g¢ geqy SNiie e Wie ared.

b) BHEReT d1e for=an Higas MffdieRis dfigs aRumme - &ikie e/ e <.
RISUDT PO e / faum SRR amg/d 2

9) Hh (a) IR AT R) b (b) SRR 3ME

3) (a) 3N (b) = SRR 3MET 8) (a) M7 (b) <= I e

Consider the following statements regarding the relationship between population growth and

economic development .

a) Population growth retards economic development by reducing land-man ratio.

b) Population growth promotes economic development through its adverse effect on capital
formation.

Which of the ‘statement/s given above is/are correct ?

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) Both (a) and (b) are incorrect

e RUFIIGT P /oo [fur /Rum 3w 3R /3mea 2

a) TR <] fohan Tdies gAfead sTummean Uen fafee doean aieavadiasit g fo=ar oikie g
IR TSR STTeheaR] 6T HRUITEAT, fiel Hehes HRugTeA g ot HRIG PHRuaTT YUl Uik
SFAIUAT 3 FgUIdT.

b) SFIVFT H FgUoR SRBRT TA0H AR 2 M hosedT Sihae fwge fafgumtt greifie wfeda
e B

i SR

9) Fh (a) R) ®h (b) 3) (a)3mfor (b) 8) RIS et

Which of the following statement(s) is/are correct ?

a) Census is the whole process of gathering, collecting and publishing statistics about the
population of a specific time of a particular country and its economic and social aspects.

b) The census is a compilation of various statistical data related to the population collected by
the government system for a specific purpose.

Answer Options :
1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above
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BIHEET HehHUT I ASHId WiBiade! PIurd UM @R el ?
q) UfgedT ToTd I9 ST § 99 GGl e ST,
Q) ST TN AR HIGHT THUNS At I
3) R coara JgeR AIGAT YO MY g,
¥) UfRedT ST SIHaRedT aleraT <} JNfJery HHT SRIar.
Which of the following is not true for demographic transition theory ?
1) In stage one, high birth rates are matched with high death rates.
2) In stage two, there is a substantial fall in birth rates.
3) In stage three, death rates fall significantly
4) Population growth rate is very low in stage one.

STRTICTeh SATehRivedT SFFAT 2099 THR FLIFEAT R STI01 T el AT dleiedl SRR R &
ST et eAlheiReial <2 FeU divell ANl CehudTe HISIAT HIvT Juid 3MTg ?

9) 1Y Q) Q0%0 3) 0W ¥) 040

As per the ‘world population prospects : 2017, at the present rates of population growth of India
and China, by which year is India likely to overtake China as the world’s most populous country ?

1)2025 2) 2040 3) 2024 4) 2050
ApAREAT AU RIGIAred o= Sfavd dfersee) #guR ... 8.

) FE ST AT Jh g R Q) S JY X

3) I S R ST THRUIRT g R g) 3T S SR AT Iz Jog R
The Second Stage of Theory of Demographic Transition is characterised by

1) High birth and high death rate 2) High death rate

3) High birth rate and falling death rate 4) Low birth rate and high death rate
el faum faamRr .

a) U1, U9, S, AR Ift 7ecel oile i At arerar i [IpRIrdT SRR R aRom

gra.
b) U, f=E, AHEaT dleiaT o) Rels ST U HewardT FuRe qrdrd.

RIAUd P/ fau= /3 aFg e /a?
9) SEl a 30T b A 3. 2) %k a A 31
3) ek b AT TR ) TR PV AR ATEN

Consider the following statements.

a) Prof. H.W. Singer has stated that population growth has a positive effect on the rate of economic
development.

b) Prof. Leibenstein considers the rate of population growth as an important determinant of per
capita income.

Which of the statement/s given above is/are correct ?

1) Both a and b are correct 2) Only a s correct

3) Only b is correct 4) None of the above are correct

2020-303Y T [T IUATST HRA ARBRA ST Got el TR JAUTATS! o hetell LR TR
urgueed (National Infrastructure Pipeline) Tdedrar feft Wiefleitid! v SHRUR 312 7

q) &g IRPR Q) 5T INBR d Qo &

3) &g T Wt & 8) e, AT AIPR g TR &
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National Infrastructure Pipeline (NIP) project started by Government of India for FY 2020 —
2025 for World Class Infrastructure is funded by

1) Central Government 2) State Governments and Private Sector

3) Central and Private Sector 4) Central, State Governments and Private Sector

AT B 3MosedT. (S freror MhrseT 2098 -20)

a) TRAT Fehel Aol THT0T af 209%-20 HEY 1.9 Tde 8Kl

b) TR S Feher AU FHI0T a9 209320 HLY 3.8 TS BN,

¢) TR ST el AUl FHT0T g 209%-230 ALY 9¢.0 TS K.

Rt SR :

1) @h (a), (b) R) ®th (b), (c) 3) ®h (a), (¢) 8) it \d

Select the correct statements. (Higher Education Profile - 2019-20)

a) Gross Enrolment Ratio (GER) of India in the year 2019-20 was 27.1.

b) Gross Enrolment Ratio (GER) of Scheduled Caste in the year 2019-20 was 23.4.
¢) Gross Enrolment Ratio (GER) of Scheduled Tribe in the year 2019-20 was 18.0.

Answer Options :
1) Only (a), (b) 2) Only (b), (¢) 3) Only (a), (¢) 4) All of the above

9]R% T I IRNCT hacs AlPHRATAIG & &1 g 7 U= IS Wletlefdeh! I JerT T
20T 3Tl ?

a) Pcd FASH b) U TR c) forr sEmar d) ANHET FHR
RITIB! DIV TR AR A/ 3T ?
9) (a) 3MfT (b) 2) (b) 31T (¢) 3) (a) 37T (d) ) it ATt

Which of the following factors were given importance apart from the population growth in the
Cairo Summit 1994 ?

a) Family Planning b) Fertility Health c) Gender Equality d) Population Size
Which of the above option(s) is/are correct ?

1) (a) and (b) 2) (b) and (¢) 3) (a) and (d) 4) None of the above

) 3fefep TR —SRISFIR
YD BB ... AMEINTG Fhe HHS S,

q) e Q) IR 3) dBRN Q) PRI
In modern times ...... is considered a social crisis.
1) Industrialization 2) Urbanization 3) Unemployment 4) Bureaucracy

q) — RISTIRE GO ¢ g0, ?) TR BB ¢ q00
THUT SFHEThH SRISRTRTT TepuT e

3) — RISHIRIE! TR0 R 5 q000 8) Guuiitish| X 9000
THUT SFHEThH SRISRTRTT TepuT e
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2)

3)

3)

8)

4)

4)

For Private Circulation Only

What is the right formula to know the unemployment rate?

1 Total number of unemployed 100 2) Total labour force % 100
Total labour force Total number of unemployed

3) Total number of unemployed 1000 4) Total labour force % 1000
Total labour force Total number of unemployed

YRATT ATeaT Sied ScTeanddl BRI Wlefieth! HIord 37Ted ?

a) Raerear sg=r gfae b) PIeTTET PNl T

c) P & P FRUTAT Albrdl BHl Al d) PveAwdS e URumes
Tt S

9) a 37T ¢ Q) bamfird 3) camford ¥) a, bamrd
Which of the following are the causes of low productivity in Indian Agriculture ?

a) Lack of Irrigation facilities.

b) Outdated agricultural technology.

c¢) Less number of persons working in Agriculture sector.

d) Uneconomic holdings in agriculture sector.

Answer options :
l)aandc 2)bandd 3)candd 4)a,bandd

Grefid faum faaR &

a) AT PerieTed siegce— U TRlIdhIgsIR, Sca=iiel SR TH dTed M1 ok U <2 STATSTT
IR g, T T 2.

b) HRIHT PECH T TS del DI 993 T 9R8¢ TIIM JUAY AL TG 1&g €c HTell 371,

TIATR v/ RuF /= I 3R /3R ?
q) Qe a MR b TP 3 Q) Eh b I MR
3) Teh a P 3MMe ¥) ARt ATal

Consider the following statements :

a) According to Simon Kuznet’s inverted-U Hypothesis, income inequality first rises and then
falls as a country develop over time.

b) Simon Kuznets noted that a marked equality decline had taken place in the USA between 1913
and 1948.

Which of the statement/s given above is/are incorrect ?

1) Both a and b are incorrect 2) Only b is incorrect

3) Only a is incorrect 4) None of the above

I R RS ITRRSHEET DU [T/ 3w 3mg/a ?
a) R SMeRhi TUIR $AG ATIIRIT HRUI,

b) S fremomed YRURepaaR W <.

¢) I frerund =aaTRics g e fLTuaT FHIAST PR,

gl IR

q) ®h () R) ®h (b) 3) (a) 31T () 8) (b) 31T ()
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Which sentence are not correct about measures of reduce under unemployment?
a) Conversion of labour force into skilled human resource.

b) Focus on traditionalism in higher education.

¢) Include vocational and skill education in higher education.

Answer Options :

1) Only (a) 2) Only (b) 3) (a) and (¢) 4) (b) and (¢)
TERT ASAIR & gt SRR (NEEM) RO ... ATl STe,

9) 090 Q) Q09% 3) Q000 ¥) 9%8%%
National Employability Enhancement Mission (NEEM) is established on ......

1) 2017 2) 2014 3) 2000 4) 1999
TERIFIAS ASAIR gt AoHd SHdp Woiadd! DI JHS ST ?

q) FdRTES Tegm R) TERE TRD

3) fa. 9. um ¥) STORIRY HRT

Who among the following is considered to be the father of employment guarantee scheme
in Maharashtra?

1) Yashwantraoji Chavan 2) Vasantrao Naik

3) Vs. S. Page 4) Balasaheb Bharde

RTERT FHAT AU FRI AISBe WIS Helidh! Divr Fem ‘g (pifen) sRiomRy’ geffad 2
9) ST R SRISTIRY R) wE R RIS

3) frca R SRR 8) WS Fd

Which of the following concepts developed by National Satnple Survey Organisation intlicates
chronic unemployment ?

1) Daily Status Unemployment 2) Current Status Unemployment

3) Usual Status Unemployment 4) All of the above

¢) ISTHI TR -YvER, ffFRER
WTHIBUD! DIV Pl PROMAT hIBT (BTEC DIGR fohfHe) TieRU TR Fgurdrd 2

q) IR Q) YEER 3) IRIND B 8) TBDPR

Which of the following acts is called white collar criminal?

1) Kidnapping 2) Corruption 3) Physical torture 4) Rape

R TSN 330 HeHRATel! SRIAT STt 3O SHICATS! DHIUTT BT JISTh R STRETT felel 318 ?
a) BT b) TRTHT c) faremraar d) faerFaReg

i SR :

q) (b) 37T (c) ?) (c) 3for (d) 3) (b) 3mfor (d) 8) Hh (a)

In which of the following house political reservation is given for Scheduled Castes and Scheduled
Tribes under Article 330 of the Constitution of India?

a) Lok Sabha b) Rajya Sabha ¢) Vidhan Sabha d) Vidhan Parishad
Answer Options :
1) (b) and (c) 2) (¢) and (d) 3) (b) and (d) 4) Only (a)
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"YSTIRTE TERIT 8 39T HHT-IHRue 3t TR Taeurt 31g, 3Ry pIvft Fgeel ?

q) roftg e Q) g AR 3) 3RS PUAH ¥) . T, TUTHS
Who state that, “The problem of corruption is more serious than our border-problem ?”’
1) Rajiv Gandhi 2) Narendra Modi 3) Acharya Kriplani  4) Dr. S. Radhakrishnan
qRATT Qo PREEHET RS W oo AT PRUIT AT

9) 9833 R) RYY 3) RYE 8) 9%§0

The first experiment of open prison in India was done in the year .................

1) 1933 2) 1955 3) 1956 4) 1960
TRIGATSIT G PRAE PO MR ?

D ECIRIICI R) Yo 3) DR 8) Tios

Where is the open jail in Marathwada?

1) Aurangabad 2) Paithan 3) Latur 4) Nanded

Tl el §¢ AT 94 AT oo Regrd AT,

q) qEIIRERT Q) Sfadhry 3) Aeifove 8) SEPRBATG!
In 1925, Burt proposed the ................ theory in relation to crime.

1) Sociological 2) Biological 3) Socialist 4) Multifactorial
IISTRTRIAT a7 0T HIUIT Tch DR 372 2

q) freor R) TG 3) o3 8) EIB

Which factor is responsible for the increase in juvenile delinquency?

1) Education 2) Family 3) Mother 4) Father

9165 TR URUIRATS! Wle3lcstehl IO Uil amuRed! Il 2

37) AFAITER §) g+ STER %) Pl STER T) farem

i S

) b (3), () R) Wb (F) 3) @ (3), (9), (P) 8) ®h (8)

Which of the following methods are used to reform juvenile offenders?

a) Psychotherapy b) Behavior therapy c) Action therapy d) Punishment
Answer options :

1) (a), (b) only 2) (b) only 3) (a), (b), (c)only 4)(d) only

v) Afeerean R, Faffor fAerT g [Rigar, after aeriao

HRATT 9%0Y R eI IBadges Jeial Ioal geal

a) ReT ISTHIT g ST ST,

b) 93 T T ORI RERAT SAREMT fesred.

c) AHaHT MfoT It fAuINd R 33% STREv T

IR I :
9) (a), (b) faem I amed. Q) % (b) U™ I aTR.
3) (b), (c) Fu™ I 3rmgd. ¥) Beh (c) faum™ I 3.
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After 1975 following changes occurred due to women’s movement in India :

a) Women became aware about their political rights.

b) Women got reservation according to 73™ constitutional amendment.

¢) Women got 33% reservation in Lok Sabha ,and State Assemblies.

Answer options :

1) (a), (b) are correct statements 2) Only (b) is correct statement
3) (b), (¢) are correct statements 4) Only (c) is correct statement

Tt BIur fau™ /U sRIsR 3me/3ed ?

a) ®Ige Siex T RAIE (029) T YR S FHFAT SAfAum=an o= Ircia qug Yt 980 @
TR 3.

b) BEs SR 1T RUIE qed T M3med SMse €Y, AUl 90€, UIfhRa™ 943, JHITORGH
94g, M 930 3T 2iSHT 498 AT FIFER 37T,

C) BIEG Siex 79 $ea ALY 3.9, 030 T JAEAGIIAR RA 943 el 992 &7 FIMER B,

gy SR

9) a3Mmfirc ) b amfir ¢ 3) a Beh ¥) RIBUD A

Which of the following statement/s is/are correct ?

a) As per Global Gender Gap Report (2021) amongst countries showing gender equality
performance India is ranked 140 among 156 countries.

b) As per Global Gender Gap Report in South Asia Bangladesh ranked 65, Nepal 106, Pakistan
153, Afganistan 156, Bhutan 130 and Sri Lanka 116.

¢) In Global Gender Gap Index as per 2020 report India had ranked 112 among 153 countries.

Answer options

l)aandc 2)bandc 3) aonly 4) All of the above

...... T g AR AdeIGT PSR AT SURET AT SAR] hedl ST 1 qefid! a9,
SIRIRIHI AT S 51 AT DHeARIS! DR PR, Yoi—IRIe HfRT&r hgHe) qael.
9) T 9%0% R) A 9%1Y 3) J 902 8) St 9]¢

In ...... the Central Government extended to Neo-Buddhists further facilities under centrally
Sponsored Scheme such as girls hostels, grant-inaid to non-official organizations engaged in
their welfare, admission to pre-examination training centres.

1) April 1976 2) March 1977 3) March 1972 4) July 1987

LCIKIGRCRIEACEING R

a) 90 MR 2039 ISt YR IRBRA FUHHFT ST AT 2.0 TSI el 32,

b) ITTAT 2.0 FHT ITh TeTdISt STIevit Al AT et 03 At Riclex g 14 2Tt At Qv
Ja

N N S i
q) Pae (a) A 3R R) TFgl (a) AT (b) AT 3R
3) %h (b) TR 3R %) FRIATH DI ATE
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Consider the following statements :

a) Government of India has announced Pradhan Mantri Ujjwala Yojana 2.0 on Jo August, 2021.

b) Under Ujwala 2.0, along with a deposit free LPG connection, first 03 months refill and hot-
plate is provided free cost to the beneficiaries.

Which of the statement/s given above is/are correct ?

1) Only (a) is correct 2) Both (a) and (b) are correct

3) Only (b) is correct 4) None of the above

qTeflel ST/ BRIFHRT Ferd aufeRIeR el JodT:

(31) (@)
a) IR 1) 090
b) ITE ii) 2003
¢) SfexT et Acged wEART AT iii) 2009
d) F=IEH AT iv) 2008

@@ () (¢ (@
9 (i) Gv) @) (@)
) Gv) (i) (@) (@)
3) (i) (Gv) (i) (@)
8) (v) (i) (i) ()

Match the following Schemes/Prograrmmes with the appropriate year :

(A) B)
a) Swadhar 1) 2010
b) Ujjawala ii) 2003
¢) Indira Gandhi Matritva Sahyog Yojana 1i1) 2001
d) Kanyadan Yojana 1v) 2009

Answer options :

@@ b (© @
1) (@ii) Gv) (1) (i)
2) (iv) (i) (1) (i)
3) (i) @Gv) (i) (1)
4) (v) (i) (1) (1)

WSS DU [TUM /= RIeR 3R/

a) Afe@TAT AR —3TRIS ATHIDRUMIGT 48R3 H& IET ARG Py FTIT HRUITT 3T,

b) IR ARST DIV ARG 3.4% FARIT BHI ST XM BoIgRAST PRcl. AT TNh, IERT AfRST PIY
HfeeT FRI-\ERA TSHT Bg-Racari«tl fereor <.

ggift S

9) Fh () R) Wh (b) 3) (a) ST (b) 8) RIS et

Which of the following statements is/are correct ?

a) Rashtriya Mahila Kosh (RMK) was established in 1993 for socio-economic empowerment
of women.

b) RMK provides loans to women with lowest interest rate of 3 5%. In addition, RMK gives
training to SHG's in micro-finance.

Answer Options :

1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above
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YRAM AR GITU A1 Droredr aut qerws IR A A>T 6t v ol ?

q) ¢ B, 09Y ?) R I3, 209% 3) 30 9, 2090 ) 39 9o, 0VIE
When did Hon'ble Prime Minister of India announce the Prime Minister's Safe Motherhood

campaign ?

1) 28 July,2015 2) 29 July, 2016 3) 30 July, 2017 4) 31 July, 2016
U ARG STl SR AR X1 JHT0T 2098 T 209§ AT PraTaeiia 3 8 ?

a) ORI 9%9 b) HERTE - &9 C) U9 — 90 d) gRamm - 9&9
gt SR :

q) (a) AT (b) ?) (b) T (c) 3) (b), () 3mfr(d)  8) (a), (b) 3T (c)
How is the maternal mortality rate per one lakh live births from 2014 to 2016?

a) Gujarat - 191 b) Maharashtra- 61  c) Punjab - 122 d) Haryana- 161
Answer Options :

1) (a) and (b) 2) (b) and (¢) 3) (b), (c) and (d) 4) (a), (b) and (c)

WSISUDT DU AU ReR Mg ?

a) UfeaT AIgae THIE AlcgeR, 03¢ H& U AT

b) T AIGaGT TISHT DT 3D AFCIIR IHBIAGUT ARIGD Jal 9 AR, 0909 USH
o PO 3ol

¢) U1 Hgaed FHIE Seed I AlGER, 09¢ ISl HUIT 3.

d) U9 3 D ¢ T Q T, 09% ALY S 31,

i SR :

q) (a) 37T (b) R) (c)Fir (d) 3) (a) ST (c) 8) (b) 3Mfr (d)

Which of the following statements are correct ?

a) The first Matru Vandana week was held in November, 2018.

b) Pradhan Mantri Matru Vandana Yojana common application software implementation guide
user manual was launched on 1st September, 2017

¢) The First Matru Vandana week was held on November 7, 2018 at Dehradun.

d) The Pan-India Campaign was launched from 8 to 22?d March, 2019.

Answer Options :

1) (a) and (b) 2) (c) and (d) 3) (a) and (¢) 4) (b) and (d)

STTRSTCR faaTg AicTe do |eHid

a) ARSI fIaTg PRUMAT TNESRIHT 40 EOIR 9T IR <uaTd Ad.

b) fodTE PRV Teb SIRTiIct STl /SHICH fagehoficll @ HeerT ST ehiteh g ORI &chl Aeul
REISIRICECKICIN

IRIeihT PIvT frer /e sRIsR 318/ 3med ?

gt SR :

9) % (a) ) & (b) 3) RNh T ¥) eIl ATEr

Regarding inter-caste marriage promotion scheme :

a) Fifty thousand rupees financial assistance is given to inter-caste couples.

b) Among those getting married, one person should belong to Scheduled Caste/ tribe Denotified
caste and Nomadic Tribe and the other person should belong to upper caste community.

Which of the above statement(s) is/are correct ?
1) Only (a) 2) Only (b) 3) All of the above 4) None of the above

3 / NFABRY FHTSTHSTOT @I TRI&T / 99Y
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Wlefledeh! P fem /= aRiex A8 ?

a) ARATA 8% faanfea Afeen foargrear aat a1a gy g, (Riegr wifed e, fRreor-3)

b) ST 3 9Tt JEUhT 9 FIfeTepT AR 3. (IFRIH)

¢) WRAT 8Y TARITUET 37fIes eil 91 a9 94 TAT IATCAieT faaTfed AT 3Med. (STRIOHT 099)

d) ARATT a1 gaif HefE Teg 3 feFR T St 81, SR 9000 STeepiell drfefpid THTOT Q9% B,
(STIUMET 2099)

i S :

q) oh (b) MM () ) Teh (a) 3) Wh (d) 8) Teh (c) 3T (d)

Which of the following statement/s is/are not correct?

a) 42% of the married women in India were married as children (District Information System
for Education-3)

b) 1inevery 3 child brides in the world is a girl in India (Unicef)

c¢) India has more than 45 Lakh girls under 15 years of age who are married with children (Census
2011)

d) InIndia the child sex ratio is at the lowest it has ever been with just 914 girls for every 1000
boys (Census 2011).

Answer Options :

1) (b) and (c) only 2) (a) anly 3) (d) only 4) (c) and (d) only

areft S WSt GUTRA ISl SFeTasTault ST Peard aified e ....... 31 IS 3.
9) B. 9.40 G Q) ¥ 90 g 3) B, Y g ¥) ¥.¢.40 g
Implementation of Mazi Kanya Bhagyashri reform scheme is for family who's annual income is...
1) Rs. 7.50 lakh 2) Rs. 10 lakh 3) Rs. 5 lakh 4) Rs. 8.50 lakh

ST o, (Sa1d 7. — Higell FecHn)

(A) (eEe) (B) (=ah)
a) FASidT Afgetl T 1) g PeTepult
b) e afger deenr i) aIRT XS
¢) IR AfeeT thexe™ iii) T HEd
d) AfgeT emvar afed iv) oIt TR
Tt SR

@ () (¢ (@@
D G) (@) (i) @(v)
2) (i) (i) (v) @G)
3) Gv) () (i) (iii)
4) (iv) (i) (i) (1)

Match the pairs (Pressure Groups - Women Organisation)

(A) (Organisation) (B) (Person)

a) Shramjivi Mahila Sabha 1) Sudha Kulkarni
b) Shramik Mahila Sanghatana 11) Tara Reddy

¢) Bhartiya Mahila Federation 111) Prabha Sawant
d) Mahila Dakshata Samiti 1v) Mrunal Gore

3TYH / AfABRY FHTSTHSTOT @I TRA&T / 99§
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Answer Options :

@ (b () @
1) (@) (@) @) (@)
2) (i) (i) @Gv) (1)
3) (@Gv) () (i) (iii)
4) (iv) (i) (1) (1)

GTHS DI hIIT A HERTE TRBR gRT IIRRING chidT B, 9 SR IMMOT S el
$.40,000 REHR SIS HAUMRIS! B IRvAAS! @1 STrar 2

q) Y B! a1 R) HareHT et

3) §. @ Y IRIR ¥) SdIdrs Jhe

State level Award of Rs.1 lac to a person and Rs. 50,000 to two institutions working for welfare
of Devdasis by the Maharashtra Government is instituted in the name of :

1) Sethu Laxmi bai 2) Mahatma Gandhi

3) E. V. Ramaswami Periyar 4) Latatai Sakat

WTSIGUD! TRATT FavH Fad! 9T derll T Doft dest 7
a) el . ol Ba b) e, Edt B ¢) Sl. e od d)sr. m. T, &

it S :

9) Wh () R) Wh (b) 3) o (d) 8) ISR TN
Who among the following established the first Birth Control Centre in India ?

a) Dr. R.D. Karve b) Dr. Irawati Karve

¢) Dr. Anandi Karve d) Dr. GG. Karve

Answer options :

1) Only (a) 2) Only (b) 3) Only (d) 4) None of the above
WTAIBUD DIV TG AJcIRATST FERIEF Ul iRal &R0 TR &b ?

q) . BRI g0l 2) 4. 9RE yER

3) #ff. foRRE SIE g) sft. RIRE D

Under the leadership of which of the following Chief Ministers did Maharashtra formulate the
first Women's Policy ?

1) Shri Shankarrao Chavan 2) Shri Sharad Pawar
3) Shri Vilasrao Deshmukh 4) Shri Vasantrao Naik
I ST T :

T 'A' (YRATTS STferpiaTs! AIsTT) e 'B' (5T IIA)

a) clTset! aed} AT i) fegt amfor gRamom

b) gEFHAT TSl ARSI i) anfSAr

c) TSl iii) T&T BT

d) fhems orhr ST iv) SR U

qgift S :

@ () (c) (d)
9 O () (i) Gv)
) () Gv) () (D)
3) G (i) @) @Gv)
8) (@Gv) () (@) (D)
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Match the following pairs :

Column 'A"' (Scheme for Girl child in India) Column 'B' (State Government)
a) Ladli Laxmi Yojana 1) Delhi and Haryana

b) Mukhyamantri Ladli Yojana 11) Odisha

c) Ladli 111) Madhya Pradesh

d) Kishori Shakti Yojana 1v) Uttar Pradesh

Answer Options :

@ () (o) (@)
1) @) @G (i) (@{v)
2) (i) (v) (1) (i)
3) (i) @i (1) (@)
4) (v) (1) (i) (iii)

TR =T 3R AT ... 1 Il 3R

9) IR R) SRS 3) R 8) oI
Gaura Devi Kanyadhan Anudaan Yojana belongs to ...... State.
1) Uttar Pradesh 2) Uttarakhand 3) Bihar 4) Punjab

IR f0iF 1S, 2 FAlgeR 2094 FIR HERTY AT DIordT Rieanelt ¢t s=rsii—ac! yersi HrisH
SEIECISI

9) 3IRITEG R) PIeER 3) §is %) AR

According to Govt-Resolution Dated 2 November, 2015 which district in Maharashtra state is

not related with Beti Bachao-Beti Padhao Program ?
1) Aurangabad 2) Kolhapur 3) Beed 4) Solapur

TR S 3T AT ...... T IS 31T

9) IR T R) SIRIES 3) fogr 8) oI
Gaura Devi Kanyadhan Anudaan Yojana belongs to ...... State.
1) Uttar Pradesh 2) Uttarakhand 3) Bihar 4) Punjab

HIUIT ISTcHIes AfAT ATARAT &R IRIT AR SRIUET 31ferep 38 2

a) FEITCA b) R ¢) USTg d) AR
gt SR

9) aamfor d ) b3 ¢ 3) camford ¥) b amford
Which States have a higher female literacy rate than the national average ?

a) Madhya Pradesh b) Orissa c¢) Punjab d) Manipur
Answer options :

lI)aandd 2)band 3)candd 4)bandd

Afgett faRreft fFIER Iguarrest Uy Ao fIafid PRUIRITS! @iefial BIuT! FeT & ST
RIS T JUTSUAT GURUIRIS! B i MR ?

q) Y. O TS, he gre R) 3TRI.TH.TF.

3) I . T B 8) 98 4B e

3TYH / AfABRY FHTSTHSTOT @I TRA&T / 99¢
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Which of the following agency is working with NGO’s to improve access to services for
responding to violence against women ?

1) UN and NGO Fund Trust 2) IMF

3) UN Trust Fund 4) World Bank Fund

TERTY M oaTiet Snfeardt a fiR snfeardt dciier arfer i paifia srcreiret wivwan dgrh
AT bl ?

a) forg) TamTd g b) T AT o ¢) SHT IR g d) o™ STAfdPRT hg
i SR :

1) Wch (b) R) W (a) 3) W (¢) 8) h (d)

Which center was established by the Government of Maharashtra to deal with over malnourished
children from tribal and non-tribal areas in the state?

a) Shishu Swagat Kendra b) Nav Tejaswini Kendra

¢) Umed Abhiyan Kendra d) Gram Balvikas Kendra

Which of the option given above is correct?

1) Only (b) 2) Only (a) 3) Only (c) 4) Only (d)

Tefiedehl PIUAT SFRIAMhT I ARl BRI Geli-T dhdes Urd dudid ekt Taeh
QU IS IMEAUT SATet ?

a) 99 IR b) uferIrg IR ¢) SAg IR d) grfior SeesdT IR
eI BT TR SRIER 37T /37T ?
9) Bas (a) Q) HIB () 3) (a) 3T (c) ) (a) 3T (d)

Which of the following campaigns has been implemented to give Sanitary napkins for only Rs. 5
to teenage girls in rural areas?

1) Zep Abhiyan 2) Pratisad Abhiyan

3) Umed Abhiyan 4) Gramin Swachhata Abhiyan
Which of the option(s) given above is/are correct?

1) Only (a) 2) Only (c) 3) (a) and (¢) 4) (a) and (d)

BT JIor=,/7T @3] Fifesered] THFaN i HIda] Tlecar Y auiaidt v a§f [J 4,000 Hesdrd.

a) FISET T5G] TIoT7T b) gzeH JiT

c) GBI GG T d) TiEt =T gresfh

gofof} -

9) (b) 3719 (c) ?) &b (d) 3)(a).(b) 31 (d) &) &b (c)

Under which scheme does the girl child's mother receive T 5,000 every year for the first 5
vears after the b‘irth of girl child ?

a) Balika Samriddhi Yojana b) Dhanalakshmi Yojana

c) Sukanya Samriddhi Yojana d) Mazi Kanya Bhagyashree Yojana
Answer Options :

1)(b)and(c) 2) Only (d) 3)(a), (b) and td) 4) Only (c)
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PIUIT ARSI JCITAR UM, Ixes, HERTY, TG M7 IR &M ST 3PS G2y d il

BHITR EIT I BRD PO 3MST ?
9) ol SRICH A9 FERISAR TT1 Q) 7 fAHfor i

3) SATER SR TS ) STATER U G IS

Which of the scheme had drawbacks that caused the state of Andhra Pradesh, Kerala, Maharashtra,
Tamil Nadu and Puducherry had differential wages for unskilled male and female workers ?

1) Swarna Jayanti Gram Swarojgar Yojana 2) Gram Nirman Yojana

3) Jawahar Rojgar Yojana 4) Jawahar Gram Samridhi Yojana

RIS RN CICEDI IS

9) FTRIMG JoTT Q) TAERE AT

3) sfeRr wieh Ao FEdRT AT Q) areft ear wrgs areEn

Which one of the following scheme is being implemented for increasing birth rate girls, prohibit
sex selection and encourage girls for education?

1) Bal Sangopan Yojana 2) Manodhairya Yojana

3) Indira Gandhi Maternity Assistance Yojana 4)Mazi Kanya Bhagyshree Yojana

T the STdTid PIUIAT AT IHATT JAT0CAT ST ?

a) a7 ¥ AR b) Hfee gedele

c) Afget arefiRT R d) TR Tg I

gt SR :

q) (a) AT (b) ?).(a), (b) 3T (c)

3) (b), (c) 3T (d) 8) | YA SRR 3fTecl
Which of the following schemes are implemented under Nirbhaya Fund?
a) One Stop Centre b) Women Helpline

¢) Mahila Police Volunteers d) Swadhar Greh Scheme
Answer Options :

1) (a) and (b) 2) (a), (b) and (c)

3) (b), (¢c) and (d) 4) All options are correct

arsft e ARt a1 TR AT Wiefietidh! PIUN AT 86 PRI 3TTet! ?

9) JUFHAT S e Q) ot el 9t Yerah

3) AIfHATETS Gol waT HedTo] aIRaAlfND ®) FERS i

Which of the following scheme is closed due to the revised scheme Mazi Kanya Bhagyashree?
1) Pradhan Mantri Jandhan Yojana 2) Beti Bachao - Beti Padhao

3) Savitribai Phule girl welfare award 4) Manodhairya Scheme

T AT CF SITUR R fUfSArean FeHia @ietietieh! PIvreT e Fraredr Jiod Ufiey, Tehd,
YE ST G —UepIfcHep]Ul & e 3TTed 2

a) sT.&t.at . b) IRSTTAICH. c) ST d) R
g IR :
) ®h (a) R) Wb (b) 3) B (c) 8) Weh (d)
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Which of the following abbreviated scheme has components such as prevention, Rescue,
Rehabilitation and Re-integration of victims of Trafficking and commercial sexual exploitation?

a) BBBP b) RGSEAB c) UIJJAWALA d) SWADHAR
Answer Options :
1) (a) only 2) (b) only 3) (c) only 4) (d) only

TfRISA Silee SHIAT AT FgUT ol URIRdler Afgell Sodiean Yaa dRecie JATUR GRIQUATATS!
GTeflel TSI P ToHT 3R ?

q) JeAeT PR R) WUR T8 3) fexapoft amsm ¥) grasht msm

Which of the following schemes is to provide institutional support for rehabilitation of women

Victims of difficult circumstances so that they could lead their life with dignity?
1) Yashoda Kutir 2) Swadhar Gruha 3) Hirkani Ashram 4) Matoshree Ashram

PUINUIh ARG SIRITRIS! ¢ A1 209¢ @ ST Higedl forft T A9 JiGt i PIurd JretT

T Pl ?
q) BT, 3AGH Pl A AT R) T Y BT AT
3) S qor e ST ®) g Fofla-T T

Prime Minister Narendra Modhi launched new scheme on World Women's Day on 8" March,
2018 for malnutrition free India campaign :

1) Dr. Abdul Kalam Amrut Yojana 2) Van Bandhu Kalyan Yojana

3) Rastriya Poshan Mission Yojana 4) Nav Sanjivani Yojana

GTeflethl DU AT FTABiaRIc] Afld JIATAR, TARDR I RIS EFI AT X TSciedd

YA g STeRATERY IRUIMIS o dhell 3R 2
q) #reht T grasht o Q) It TSN, St UeIsN AT
3) TR o %) SIS

Which of the following schemes has been started for the purpose of rehabilitation of and financial
assistance to the victims of child abuse, rape and acid attacks ?

1) Majhi Kanya Bhagyashree Yojana 2) Beti Bachao-Beti Padhao Yojana

3) Manodhairya Yojana 4) Jeevanonnati Yojana

CaCRITT IR(ATEIpRAT HERTY TR Wielich! DIV AT o el 318 ?

9) YR IS R) I g ASHI 3) g WA Aol 8) Fatg e A
Which of the following schemes has been started by the Maharashtra government for the livelihood
of devdasis ?

1) Swadhar Yojana 2) Rajya Gruha Yojana

3) Matrutwa Sahayog Yojana 4) Nirvah Anudan Yojana

TefieTdehl ot G ‘AT’ a1 Jfgel d FeARre! o dheledl Ioid RIdeT ST 2

a) forsaeht b) et TafdT

C) TTARITHRAT faqaamstt ot d) FuCe

RITUDH! PUET IR SRR 3R/ 3R ?

1) % (a) ?) (b) 3o (d) 3) (a) 37T (c) 8) aRieTuehl ATEl
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Which of the following facilities are being provided in ‘Asmita’ scheme for women and girls ?

a) Scholarship b) Sanitary napkins

c¢) Interest free loan for business d) Counselling

Which of the above option(s) is/are correct ?

1) Only (a) 2) (b) and (d) 3) (a) and (¢) 4) None of the above

arsft e ARl a1 TR AT Wietietidh! PIUT AT &6 PRI 3TTef! ?

9) YUHHAT SHUE AT Q) 3 3N 9t yeIan

3) AIfHATETS Gol eaT dHedTo] aIRaAlfND ¥) TR i

Which of the following scheme is closed due to the revised scheme Mazi Kanya Bhagyashree?
1) Pradhan Mantri Jandhan Yojana 2) Beti Bachao - Beti Padhao

3) Savitribai Phule girl welfare award 4) Manodhairya Scheme

TeficTudh! PO Jeal™ AT rar Hrgsh’ & AT g el ?

a) JeildT SFACR aTe(aur. b) Tl IRFART o1 I,

¢) JeilAT fareor <o, d) sTeAfdaTerT ufiEer aRu.

i SR :

1) ®h (a) R) (a) ST (c) 3) (@), (b) MM (c)  8) (a),(b),(c) et | (d)
The scheme ‘Majhi Kanya Bhagyashree’ has been started with the objective of :

a) To increase the birth rate of girls. b) To enhance the health status of girls.

c¢) To educate the girls. d) To prevent child marriages.

Answer options :

1) Only (a) 2) (a) and (c) 3) (a),(b) and (c) 4) (a),(b),(c) and (d)
CISICECINERIEREEING R

a) YRAN 092-9% ALl AR ORI IHIUT (sex ratio) BSTR GON SFHTAT geid Afeell SR gl
Q0% Bl &l 098-9§ HL HT &S (R Hlelell IATE.

b) T et AN BT dheledl JRFT TSR TR etral Siiek (SRB) Jelrea Jerid
29 Ul 9 HIGAT (ST TS 3MTR.

g SR :
9) AU (a) WK, (b) IH R) fAu™ (b) RR, (a) T&
3) qrerel faum g 8) RS U™ RsR

Consider the following statements :

a) The average sex ratio in India declined from 906 female birth per 1000 male births in 2012-
14 to 898 in 2014-16.

b) According to the latest Health Index released by the NITT Aayog, India’s girl-to-boy Sex Ratio
at Birth (SRB) have declined in 17 of 21 large states.

Answer options :

1) Statement (a) is correct, (b) is false. 2) Statement (b) is correct, (a) is false.

3) Both the statements are false. 4) Both the statements are correct.
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T At St frerr fawges SAp Ao PRuaTTSt gelerich! PiureT |IeHT et U el 3MME 2
q) Hifirep e Q) gKId

3) SFRIUD AT Q) olael-ad HTeTd AT

To create awareness about women education, importance of which tool is stated by Rammurthi
Commission?

1) Physical tool 2) Books

3) Public relation tool 4) Electronics media tool

XaTSIcUD! DIV faen/faer gobrr ame/3ed ?

a) g, IR ISitg Ml IERT ITRUTER Jod 719 9Gad IERT JTR0TER IS 3R b 3T,

b) % RN AfGHT 9 165 BRI fIHTIThgd IR ITRUTER AT € auaTd .

¢) TieST T 9155 AT faTIth Tehticres 915 faepTel 4T AISHT & dhs; YR¥hel TSI 0T A 3.
d) ISAE et ITBUITER JIoH 3icid go RIS UIGUITER Tehliciidh 9165 e HaT Ao 3iciia AHTiae

B! 3.

gt ST

9) %eh a Q) aamfrd 3) camford ¥) RISUDT AT

Which of the following statement(s) is/are incorrect ?

a) The Central Government has changed the name of Rajiv Gandhi National Nursery Scheme to
National Nursery Scheme.

b) The National Nursery Scheme is implemented by the Women and Child Development
Department of Central Government.

c) Integrated Child Development Service Scheme is a centrally sponsored scheme being
implemented by the Department of Women and Child Development.

d) Nursery Schools running under the Rajiv Gandhi Nursery Scheme have been included under
the Integrated Child Development Services Scheme.

Answer options :
1) Only a 2)aandd 3)candd 4) None of the above

TERTY AT M-Tef-T a7 SUHTAT TG o2 BIUTT ?

a) GelHed ool A0 Wesrel IS drafaur.

b) Helmed IiTear Fadt 0T o,

c) FTHIOT 3T I HTIeler Jeiludia foheT Aeeepell Uigaret.

RITUDT PO TITT FhrET IAE ?

9) %eh (b) ?) b (a) 3) %h (c) 8) eIt el
What is the main objective of 'Go-Girl-Go' programme of Government of Maharashtra?
a) Increase fitness and interest in sports among girls.

b) Develop good habits among girls.

c¢) To extend culture of sports to girls in rural and remote areas.

Which of the option given above is incorrect?
1) Only (b) 2) Only (a) 3) Only (c) 4) None of the above
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QR T T Ao sl Wt B ARd TR 9 aTeBHT eREE S g

FROATT I 7

a) THARDR

b) FEHERIG Sfh JATAR

c) 3RS gWI

d) 3rifcrep IR Tl Sftfagm, 9/4g TR 9¢ Iuf Widhles difee sredai gt

gt SR

9) %eh a Q) a,camrd 3)ab,camfrd %) b,c 3mfor d

Which of the following victimized women or children are rehabilitated with financial assistance

under the revised new Manodhairya yojana ?

a) Rape

b) Child sexual abuse

¢) Acid attack

d) According to the Immoral Traffic Prevention Act, 1956 victimized minor girls below 18 years
of age

Answer options :

1) Only a 2)a,candd 3)ab,candd 4)b,candd

9 S, 9el gerEn’ a1 Ao Aefd WGt P U /[um ghrr e /e ?

a) IT ATE! Foard gRAMUS AIad A2 09, ALY PRUATT ST

b) a1 ol IR JHT0T GURUITHINGT &l AT G2 HRUIT 3.

¢) QUG X TOIRI BRI Jra! FT aIeiavl & Izl AT ST g,

gt SR

9) Beh a Q) a3Mmfre 3) a,b 3Mfor ¢ ¥) eRIUD! ATEr

Which of the following statement(s) is/are incorrect regarding ‘Beti Bachao, Beti Padhao’

Scheme?

a) This scheme was started in 2016 at Panipat in Haryana.

b) This scheme was launched to improve the child sex ratio.

¢) The aim of this scheme was to increase the number of girls for every thousand boys in the
country.

Answer options :

1) Only a 2)aandc 3)a,bandc 4) None of the above

e M ISTaT HRIST WISBID! DIURT JISHET QuaTd Ial ?

a) T fohaT ST TSl I<IT BRI ATl d Sit g7 <O 99 gl et 37ef) qroeb.
b) b UId RIS T SfAaTfed HIGeaI]d ST JTesb.

¢) PR fAHNTF GehT T Bosd!, ATSd STUR TS BHIIR.

gt SR

9) % ¢ ) a 3mfor b 3) a3mfrc %) b 31T ¢
Which of the following childrens are given the benefit of Child Care Scheme ?

a) Orphans or children whose parents are unaddressed and cannot be adopted.

b) Children born to single parents as well as unmarried mothers.

¢) School going child laborers rescued and certified by the Labour Department.
Answer options :

1) Only c 2)aandb 3)aandc 4)bandc

3IYH / JNFABRY FHTSTHSTIT @I TRA&T / 938



¥e)

46)

{¢))

47)

8¢)

48)

For Private Circulation Only

Wete fum R &1 g 3w w3y fHasr.

31) Afeed geTcHAd I HrRICR &8 T TR IT HASHIS Td ST 1IRT 30T XA HROITATS!
ET AfGST RN SIRAFRA (9%%0) TAR IFRT ARSI AT FAITART TRAG HRUITd M.

¥) M fShml dftsrr dfie we (uftsw, ufavy nfor SurRisHT) IfIfFR—M - 093 IFR
TRETUT RUMTAT TRYG! PRUATT e e,

tl'ﬂﬁ’fGT—l;\’:
9) fIem T o R Q) fIu™ ¥ |
3) Sl faum R ) qrerel AU gt

Consider the following statements and choose the correct option.

A) National Commission for Women Act, 1990 provided for the establishment of National
Commission for women to study and monitor all matters relating to the constitutional and
legal rights and safeguards of women.

B) Sexual harassment of women at work-place (Prevention, Prohibition and Redressal) Act, 2013
provides protection to women from sexual harassment at all work places both in public and
private sector, whether organised or unorganised.

Answer options :

1) Statement A is correct 2) Statement B is correct

3) Both the statements are correct 4) Both the statements are false

IR TT Pl Feferd 3R ?

q) Pgd A ) 33t g — S garen

3) nflteT FrRINTs 8) fheIR F=f GRS A Fadht a=ag
Asmita Yojana associated with what ?

1) Family Planning 2) Beti Bachho — Beti Padhao

3) WomZ2en Entrepreneur 4) Provision of sanitary napkins to teenage girls

a) I I g AfgeT dTet f[IbRT f[IHmTath Gesd dfeell o9 TCrAl S AR "gldeH!’ ueeH
Rl .
b) AT YhobIhR IGHIT Higell HEUIDRU &l JISHT Hfgell Soid ST YT Ceh TSR ol UIRATS!

g el 3.
RIATDT Porht faem/faem aRIsR 3R /3med ?
Tt SR
q) ®h (a) ?) &h (b) 3) (a) 3T (b) 8) gRieTuehl ATEl

a) The Saras Mahalakshmi exhibition of the products of women’s self-help group is held in Mumbai
every year by the department of rural development and women and child development.

b) Suman Suklikar udyogini Mahila Empowerment scheme has started a scheme to provide loans
to women self-help groups at zero percent interest rate.

Which of the statement(s) given above is/are correct ?

1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above
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e HeFHe Siayg g /d

a) TIIRIGRIT Tl ATy Al Faed U,

b) T ARSI, TRIRICIATS! 3TOT TSI FEHRIIS! Afeddl bR I9d v,
¢) TIIRIGRIT TefeR IO FReIT qievft ool St feehras faeprarar Wid A 3/ ia.

d) Afewiet vqura emar i e,
I IR :
9) a, b, c T d ) Heh b 31O ¢ 3) ¥xh a ¥) Teh a M7 b

The Mission of MAVIM includes

a) Organising women through SHGs.

b) Promoting women’s initiative for equal opportunities, prosperity and participation in
governance.

c¢) Building grass roots institutions over SHGs as a way forward to sustainable development.

d) Building overall capacities of women.

Answer options :

1)ab,candd 2)Onlybandc 3)Only a 4)Onlyaandb

Glefledeh! P I /= aRiex A8 ?

a) ARATIA 8% faanfea afeen faargrear aat a1a ae g, (Riegr Hifed egaw, fRraor-3)

b) ST 3 §Ter el q FTferdnT YRl M. (IFRIw)

¢) WRAT 8Y TARITUET 3TfIeh Geil 91 a9 94 TAT IATcAieT faared HIcm 3Med. (STRIIAT 2099)

d) ARATT a1 Yol HefEl Teg 3 feFR TR0 ST 81, &R 9000 STmief dTfefbia THIOT Q9% B,
(STHIUET 2099)

i SR :

q) h (b) MM () R) Heh (a) 3) h (d) 8) Teh (c) 3T (d)

Which of the following statement/s is/are not correct?

a) 42% of the married women in India were married as children (District Information System
for Education-3)

b) 1inevery 3 child brides in the world is a girl in India (Unicef)

c¢) India has more than 45 Lakh girls under 15 years of age who are married with children (Census
2011)

d) In India the child sex ratio is at the lowest it has ever been with just 914 girls for every 1000
boys (Census 2011).

Answer Options :
1) (b) and (c) only 2) (a) anly 3) (d) only 4) (c) and (d) only

T the 3ATid PIUTAT AISHT IHATT JATUTCAT ST ?

a) 9 ¥e1T e b) Afeel gedets

¢) AfteT Ul ToRiadh d) FYUR g IoHT
g IR :

1) (a) 37T (b) Q) (), (b) 31fr ()

3) (b), (c) 3Mfor (d) 8) | g R e
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Which of the following schemes are implemented under Nirbhaya Fund?

a) One Stop Centre b) Women Helpline

¢) Mahila Police Volunteers d) Swadhar Greh Scheme
Answer Options :

1) (a) and (b) 2) (a), (b) and (¢)

3) (b), (c) and (d) 4) All options are correct

TFT AT CF SITIR HRUMT fUfSArean FeHia @ietietieh! PivreT e Fraredr Jioid Afiey, Tehd,
YA M G —TehTfHenor § BCd 3TTed 2

a) sT.&t.aat. b) IRSTTAICH.  ¢) ST d) R
g IR :
) ®h (a) R) Wb (b) 3) B (c) 8) Weh (d)

Which of the following abbreviated scheme has components such as prevention, Rescue,
Rehabilitation and Re-integration of victims of Trafficking and commercial sexual exploitation?

a) BBBP b) RGSEAB c) UIJJAWALA d) SWADHAR
Answer Options :
1) (a) only 2) (b) only 3) (c) only 4) (d) only

TERTY AT M-Tei - a7 SUHHTAT TG o2 BIoTT?

a) GelHed dgoeil AT Wesel TS drafao.

b) Helmed InTe Fadt AT o,

c) FTHIOT 3T I HAIcler Jeiludie foheT Aeeepel! Urgaet.

RITUDT DIV TITT g A2 ?

q) b (b) R) & (a) 3) % (c) 8) eIttt gl
What is the main objective of 'Go-Girl-Go' programme of Government of Maharashtra?
a) Increase fitness and interest in sports among girls.

b) Develop good habits among girls.

c¢) To extend culture of sports to girls in rural and remote areas.

Which of the option given above is incorrect?
1) Only (b) 2) Only (a) 3) Only (c) 4) None of the above

AfeeT AeHIARUl PRUITIATS! HTIfien frerur fasmmmIdh geieTih! ivrean AISHT IEfuard AdTd ?

a) Helid! JcHET drefuarare! e a R SRt i Sasre aiRaifye <o,

b) ¥ TCHIIE el Mesdl AT AUARATS U =T <o,

¢) derrengseaT ARTRIeIedT AT Wi emesdiier 3. STt /SHTcrean faenfiHiar faery gfaer, Ahd
TUAeT 9 oRa ATfeed R,

d) TS MM el Faaangrat A v,

i SR :

) ®th (a) R) Wth (a) T (b) 3) ®h (), (b) T (c) ¥) (), (b), (¢), (d) T
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Which of the following schemes are implemented of Primary Education department for

Empowerment of women?

a) Giving prises to teachers and extension officers in education to increase the enrollment of
girls.

b) Allow attendance allowance for girls of weaker sections to attend school regularly.

c) Providing special facilities, free uniform and writing material to SCs/STs girls of primary
school in educationally backward areas.

d) To provide Toilets for girls in primary school.

Answer options :

1) Only (a) 2) Only (a) and (b) 3)Only (a), (b)and (c)  4) All (a), (b), (c), (d)

afed SRS Wieles U =R =i,

37) BIBTHT I A AT FAUFAHHR AfRSNIC! /AT ST ST a1 Feea f[oges gdin-1
IRFTF § 00¢ TEY HiSS BN,

q) AT PRIHA RIS g a1 PRAT Fd ST IR BT ST,

®) FHEAD AL UGN AMST PHreprST eI freror Ufsham urdt QIvaRT #ed 8.

$) g fAUger T Ied ARGRIS! Glbdd 3N 9 Iogredl RUHRTHE Yo cas ST RRdig
AT =l 2ldl.

RIGUDT PIURH AU SRR M2 ?

9) 2, § 3IIfT & )T, Hafrg 3) 91 mfor ¥) TISUD T

Consider the following statements about Women’s Reservation.

A) UPA-—I Government introduced the bill to reserve seats for women in Lok Sabha and all State
Legislative Assemblies in May 2008.

B) After its reintroduction, the Women’s Reservation Bill was passed by Rajya Sabha on March 9,
2010.

C) The bill was never voted in the Lok Sabha.

D) The main aim of this bill was to reserve 50 percent seats in Lok Sabha and all State Legislative
Assemblies for women.

Which of the statements given above are correct ?
1A, BandC 2)B,Cand D 3)Aand D 4) All of the above

IR S pemelt FeftT amR 2

9) YRS Afderd HeidnRur HRul.

R) UCHRR q@HT el HafhTd dIed v,

3) fSicer uReg aMesiHics 99 T 9% FINCINS ST 80 HY, HY, T ¢ UsT T UThic 4 DU SUGEY
BT U,

8) gorear RAemme st <o,

'‘Asmita Card'is related to what?

1) Empowerment of Indian Women.

2) Distribute Sanitary Pads to Post-Graduate girls.

3) To make available 240 mm size 8 Sanitary pads in 5 rupees to 11 to 19 age group girls in Zilla
Parished Schools.

4) Give loan to girls for education.

3 / JNFABRY FHATSTHSATOT @I W& / 93¢



)

1)

Q)

2)

3)

3)

For Private Circulation Only

¢) ITABAT AHRT

QTefiel faum foarma & -

a) FEITg HISH TS 9% HE & e,

b) SRR 000 e &l AISHT I UrRifies arfeiiet (R VI VIII)) JAFT AHITE SRUTRITS! aTefduan 3iiet.
gaRit W :

q) eh (a) AT 3R Q) %k (b) I 3R

3) TR () 3T (b) A Hred 8) <=l (a) 3T (b) 3T e

Consider the following statements :

a) Mid-day Meal Scheme was launched in 1997.

b) In October 2007, the scheme was extended to cover children in upper primary classes (class
VIto VIII).

Answer Options :

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) Both (a) and (b) are incorrect

a) WG ARUMEAR 98 quigT HH qam @h! died 8.

b) WG SFAIUME 9% qugT PH! aared] echlell dleih HIeT Sl

¢) 91l SAfRPR Praie (AARAL) TAR ¢ avigd BH FATE gehl dlefep AT

I ProrT faur /g™ ReR 3R /3T ?

q) Hh (a) R) Wb (b) 3) (a) 3T (b) 8) aRieTiehl ATEl

a) According to the Indian Constitution, a person below 14 years of age is a child.

b) According to the Indian census a person below 14 years of age is considered.a child.

c) A person under the age of 18 years is a child according to the Convention on the Rights of the
child (CRC).

Which of the-statements given above is/are correct ?

1) Only (a) 2) Only (b) 3) (a) and (¢) 4) All of the above

ThIcHIh STelfddRT IS (TR.ALELTH.) Aeufd @lefletdd! Prurd faum /ffum sRisR 31g /31med ?

a) & JISFT 2 SffFeieR 9% IRIT T PRI 3ATa.

b) & T FgreAT Ml e qo¢ T SRiC G g FRuATd 3T

¢) TT AT I STABIAT AT i, ARING I ARG fIBRIRITS URIT grefor g 37T

d) T auETellel AT STeihidl UIN0T g 3R fRYHE GURUT Teqd 3.

Taff S :

1) %ch (d) R) wh (b) 3) (b), (c) 3T (d)  8) (a), (c) M7 (d)

Which of the following statements is/are correct regarding 'Integrated Child Development Scheme

(ICDS)”

a) This scheme was launched from 2 October 1975.

b) It was Launched on the 108" birth anniversary of Mahatma Gandhi.

c) The objective of the scheme is to lay the foundation for proper mental, physical and social
development of children.

d) To.improve the nutritional and health status of children under six years of age.

Answer Options :
1) Only (d) 2) Only (b) 3) (b), (c) and (d) 4) (a), (c) and (d)
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IR BTl e /U SRR e /3med 2

a) Bfiieh TRIURT q&Ta ARE0T (Ul BRI 3-d19d AT TPR & IIMRT, 09 sl Jo
FRUGT 3.

b) 09 AL TP ATZeS 9 UICH PRI 3.

¢) ISt T3 STt YT AT R AFARI, 098 Ui Jo DA

d) 3 TFERY, 09 ISt TRA TR TP T B TET S REPR A Y2 TS I
HRUATT 37T

Tt S

q) (a) 3T (b) ?) (c) 3o (d) 3) (a),(b) 3T (c) ) RIUBT ATl

Which of the following statements is/are correct ?

a) E-box online complaint under the Protection of Children from Sexual Offences (POCSO) Act
was launched on 267?h August, 2016.

b) The Track Child web portal was launched in 2012.

c¢) Beti Bachao Beti Padhao Yojana was launched on 22°d January, 2014.

d) On 22°d January, 2019, at the hands of Hon'ble President of India, 52 children were honoured

with the Rashtriya Bal Puraskar.
Answer Options :

1) (a) and (b) 2)(c)and (d) 3) (a), (b) and (¢) 4) All of the above

JIEIRRATST YR Ufeel s (RATS 814) 9%&W9 HE PIUfcdl I[N Foo BRUAI 3ATe ?
q) FICH R) STERIA 3) TR %) e

Which state in India started the first Balgram (Remand Home) for child criminals in 19677
1) Karnataka 2) Rajasthan 3) Manipur 4) Haryana

TERTY ISARNS DIV S RNieal =l 8 AHaRT 090 6t IER drfosar et e et aer
gfiegdT, THURUIGE g T9aqd FGMIgaRTT 0= STRITFRMTE THIH sHaaSavtt, Jord et Farteanor
T PRI AT HRUATT M. 2

q) &t T Stesa R) BIR T wHuft

3) gur g A1 Q) SIS T ST

Which two districs of Maharashtra state were felicitated with special award on National Girl
Child Day, 24™ January 2017 for contribution to effective community engagement, enforcement
of the pre-conception and Pre-Natal Diagnostic Techniques Act and enabling girl child education?

1) Hingoli and Jalgaon 2) Latur and Parbhani
3) Pune and Nashik 4) Osmanabad and Jalgaon

SRIDIT 3T Mabciie] faenedfHT diftes, Fdford, T d TR MMER JobdR Iucted FIUITHNAT HERTE
RIT ' ST=YUIT HEacli eiuTeh T’ @letietdeh! o 3ol I PRuaTd 3fel 2

a) gea, 1. s b) Femwn, {1, TeRRYe

¢) P, . UTeter d) eicerma, 1. mifcan

RIceh! DI/ PV TR aRIER 37T/ 3R ?

q) Hh (c) ?) (a) T (c) 3) (c) 3mr (d) 8) el T
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For the purpose of providing balanced, fresh and tasty food to Government Ashram schools students,
Government of Maharashtra has introduced the ‘Annapurna Madhyavarti Swaimpak Gruha’ in which
of the following places ?

a) Mundhegao Dist. Nashik b) Satana Dist. Gadchiroli

¢) Kambalgao Dist. Palghar d) Dhandhalgao Dist. Gondiya

Which of the above option(s) is/are correct ?

1) Only (c) 2)(a) and (¢) 3) (¢) and (d) 4) All the above

HRART SRIUAT 2099 T IAPSARITAR FlelIctueh! DIURAT AT (R E9IRT) 3Hep Jogad T\
Haiftred e ?

9) gfeed S Q) fdEr 3) IR U Q) HEY TR

According to 2011 census of India figures which of the following states has highest (per thousand)
infant mortalitv ?

1) West Bengal 2) Bihar 3) Uttar Pradesh 4) Madhya Pradesh

] Haeele HAIR Hedid PR Ead IT I HERTY 5T UIGIYRID H8e (JTSHIRT) = HIod
R o hed ?

) g ) TSI 3) fpamR Q) AT

Which of the following magazines has been started by Maharashtra State Board of Textbooks

(Balbharati) for the purpose of inculcating values among the minds of children ?
1) Mullay 2) Ella 3) Kishor 4) Manas

ARG HRATT Ufgel ITemm (RATS 8M) 981 HE DIvcAT AT G hRUIT 3TTel ?
9) FHich Q) oA 3) "R ) gRamom

Which state in India started the first Balgram (Remand Home) for child criminals in 19677
1) Karnataka 2) Rajasthan 3) Manipur 4) Haryana

"TPHIHD 165 [GpRT AT (g TRPR Rhd) ARSI SUETS! HHATIMT 2009-300% LI
fIeIy 919 TR PO HE AT ST IS ?

q) AT He' R) ‘HHaT He' 3) ‘At W W' 8) IIRem 9T

Which of the following was considered as special gift for Integrated Child Development Scheme
(Central Government) Anganwadi workers during 2001 — 2002 ?

1) Bhaubij gift 2) Mamata gift 3) Special Lady gift  4) Reservation gift
G T PUINUIR THTOT HHI PRUIRATS HERTE ATAAN WSS Do AT GO hedT ?
a) 0. M. w9, fegasot b) ST AT

C) IR IS IIST] d) gt fRrg wmr fobe

R DI AT RIS AR /3 ?

9) &k (b) ) wh (¢) 3) Bh (d) ¥) gD T

Which of the following schemes are initiated by the Government of Maharashtra to reduce child
mortality and malnutrition ?

a) S.0.S. Village b) Ashram School Scheme

¢) Foster Care Scheme d) Mukhyamantri Shishu Swagat Kit
Which of the option(s) given above is/are correct ?

1) Only (b) 2) Only (c) 3) Only (d) 4) All of the above
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YRATS HUIYOT G HROMIT IS DIV ?

a) TpIfHD §1eT fABRT AT b) g eIt BRip

C) HEYT+g YIS IISTHI d) TRaSU=IT SX1a e gRdal

R SR :

q) () 3T (c) ?) (b) 3o (d) 3) (@), () 3mr(d) ) (a), (b) 3N (c)

Which are the programme to eliminate malnutrition problems in India?
a) Integrated Child Development Programme b) Jeevan Unnati Programme

¢) Midday Meal Programme d) Ration Provide at Affordable Rate
Answer Options :
1) (a) and (¢) 2) (b) and (d) 3) (a), (¢) and (d) 4) (a), (b) and (¢)

TS IGUD! PIUIT TChidl DR TShIl AGNTO! JFD IR ?

a) I T b) 3. 3R, TH. ¢) Ske-hIg

d) SRIRIe DECIEEER]

ggift S

q) (a) 30T (e) ?) (a),(b),(e) 3T (d) 3)(b),(c),(d) 3T (&) ) (a),(b),(c) M (d)
Which of the following points are promoted by UNICEF for child development ?

a) Growth chart b) ORS c) Breast-feeding

d) Immunisation ¢) Quarantine

Answer Options :

1) (a) and (e) 2)(a) (b), () and (d) 3) (b), (¢), (d) and (¢) 4) (a), (b), (c) and (d)

QoS Geles Tee g dferared o GoiaR e s ARATST AP ST Ul AT I WTohics

ERIEREEINGRIE

a) AT AT g Fehrea RIemmar sAfeR (AR & §) PRIGl, 008 A SHGSTEUT.

b) 3TR €I § PrIEm i e quf gIswid STae gRieaT Smesd AT ST Axhie e fiyesuarar
gH Y4 J 94 I JIRCKIISG I o fHesdl.

¢) 3R & § ARIFRHFAR | e Sioft emmeer 1for T SraTia Qe gees Tee AT i gl
fFIM 4% FSHT T QU TordlsT .

e P fus /faum arg sme/simed 2

9) Hh (a) A AR R) (b) 3T (c) AF Srred

3) (a) 31T (c) T 3mmRd ) N Jqd faum A smed

Consider the following statements regarding steps taken by the Government to ensure quality

education for children of weaker sections and disadv taged groupa in the country.

a) Implementation of the Right of Children to Free and Compulsory Education (RTE) Act, 2009.

b) The RTE Act ensures every child of age 5 to 15 years a right to free and compulsory education
in a neighborhood school till completion of elementary education.

¢) The RTE Act ensures that all specified category schools and unaided schools shall admit at
least 25% children belonging to weaker sections and disadvantaged groups.

Which of the given statements is/are correct ?

1) Only (a) is correct 2) (b) and (c) are correct

3) (a) and (c) are correct 4) All of the above statements are correct
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TepIfctieh 910 fART ToaT Wiaudh! PNt & fHiesar ?

a) T quIET BHI 9T RSS! G
¢) fpamst

gl SR :

9) %eh d ) Bh a

b) THaT g TG =T
d) 94 T g4 I¥ FITAT IFT TfeSHT

3) iU Fd 8) RISUDT ATE!

Who among the following are beneficiaries of Integrated Child Development Scheme ?

a) Childrens below 6 years of age os
c) Teenager
Answer options :

1)Onlyd 2)Only a

"FIesT TS ARIRIC! Tl RIhRT AR 9R89 HEd HIsHe

D RGEIaRET
3) RIS 3T

b) Pregnant and lactating mothers
d) Other women aged 15 to 45

3) All of the above 4) None of the above
............... TGl BR SHRe

R) srfefeed

) RINpGST 37U

The Non-government Organization named ‘Children’s Aid Society’ started Home for ................

children in 1941 in Bombay (Mumbai).
1) Schizophrenic
3) Mentally Deficient

ST qHrd g9 3SD Uel P 3R TR TSI
q) HEIH e Huol

3) g HH g

A child whose weight below 3SD s called :

1) Moderate Acute Malnutrition
3) Severe Under Weight

2) Autistic
4) Physically Handicapped

2) Severe Acute Malnutrition
4) None of these

el PioeaT fmeivg ‘IR’ MRS Geol 3MfT JddhicaT RIS BRI 3R ?

a) eI JTRSiod 37T faer
c) STl ERE

gl SR :

) Weh (a) 3T (c)

3) &b (¢)

b) GerYcT Rrerur 3Ifor Bit—goy FH
d) uRor gqef 3for wefier

R) Wh (a), (b) 3T (c)
Q) R T4

UNICEF has been working in India for the rights of children and young people with speciality/ies

of :

a) Child survival and development
c¢) Child protection

Answer Options :

1) (a) and (c) only

3) (c) only

b) Basic education and gender equality
d) Policy Advocacy and Partnership

2) (a), (b) and (c) only
4) All of the above
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I HYT e,

a) HERET Meft aiferent e & Gean afariear gefiard! Fardt S mfie e 3.

b) PRRET et FTforenT e g STeusiRedTe a QIRGY Ndleliel Gl Farit S mfie o 31g.

¢) TG T AT REner & rRee WTier GEardier el Q4% SIRE 3

i SR :

9) %k (a) 9 (b) ) &b (b) T (c) 3) ¥h (c) ¥) oI Fqd

Select the correct statement.

a) Kasturba Gandhi Balika Vidyalaya are residential upper primary school for girls from open
category.

b) Kasturba Gandhi Balika Vidyalaya are residential upper primary school for girls from minorities
and below poverty line.

c¢) Kasturba Gandhi Balika Vidyalaya provide 25% reservation to girls from families that live
below poverty line.

Answer Options :

1) Only (a) and (b) 2) Only (b) and (¢) 3) Only (c) 4) All of the above

HIRCTICT BVT=AT JTeFIeaT T RO Al “Seeggasil’ (WHO) 7 TR el SiTe. Wief! g dheteam
BRUTET AT JRBIIAR d THIM DU IARAT HH SRIER 372 2

q) PUNT, FasTd I AR, AR, MeR, AT

R) Tasid frefd STeIR, HUISvl, =gHIFT, SR, MaR

3) =EIFRT, Faond RIgE IR, HUiwl, SRR, MR

8) TSI 11 3TSTR, PUINYT, SRR, MeRr, IR

WHO has listed the major causes of Child Mortality in India. In terms of the gravity and severity
of causes; which descending sequence of the ones given below is correct ?

1) Malnutrition, Neonatal causes, Diarrhoeal diseases, Measles, Pneumonia.

2) Neonatal causes, Malnutrition, Pneumonia, Diarrhoeal diseases, Measles.

3) Pneumonia, Neonatal causes, Malnutrition, Diarrhoeal diseases, Measles.

4) Neonatal causes, Malnutrition, Diarrhoeal diseases, Measles, Pneumonia.

SRR GURU S8y SMUUIRIS! DIV FEAT HRATT 3TReard e ?

a) JANRED T b) ST AT c) GUR 2TTel d) SR oM

g SR :

) @ (a) ?) (a) 3or (b) 3) (c) 3mr (d) 8) (a), (b) Tt | (c)
Which institutions are established in India to reform juvenile delinquents ?

a) Observationhome  b) Juvenile court c¢) Reformatory school d) Balgram yojana
Answer options :

1) Only (a) 2) (a) and (b) 3) (¢) and (d) 4) (a), (b) and (¢)
MR fHIR FIRRT BRI, 098 AT I BRI BT ?

a) fpoMRe qoumrRia gk

b) TR UMRIR AHIIRDBIGR &Y UL,

¢) gfaur smuRd Aamed a6 Fod MUR <.

d) Sfta dlered, FH IMER, THRIG RV, g&7 IRATMR JTaR R

g IR :

q) (a) 3T (b) Q) (c) 3mfr (d) 3) (b), ()3T (d)  ¥) (a), (b), (c) 30T (d)
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What was the purpose of ‘Rashtriya Kishor Swasthya Karyakram, 2014’ ?

a) Reach out to adolescents.

b) Introduce peer-led intervention at community level.

c¢) Support by augmentation of facility based services.

d) Focus on life skill, nutrition, mental health and substance abuse.

Answer options :

1) (a) and (b) 2) (c) and (d) 3) (b), (c) and (d) 4) (a),(b),(c) and (d)

ST AT Gl TRl Tep Cehl FHICR ARV QU] fH0R HERTY ARFM Bl IT S1aiiciie] Giefiel
PIoTcht fEr™ aRIER MR 2

a) FATT 20 T JYHR T IAERT TR YSHd AN,

b) 3T JARI ST el AfEe SR,

¢) SFTIY YT AT & STRE N 3.

d) 3T HArET Ycbles JRIA PRugTeal GEF g Mok edeT el 31T,

Tt SR
9) b (d) ) Wh (a)
3) Wb (c) ¥) Nt Jd UM RaR 3

The government of Maharashtra has decided to give 1% parallel reservation to the open category
orphan. Which of the following statements are correct in this case ?

a) After 20 years of age they have to leave the orphanage.

b) The caste of orphan children is certainly know.

c¢) This reservation is applicable to those with orphan certificate.

d) This decision has been taken in order to secure the past of the orphan children.

Answer options :

1) only (d) 2) only (a)

3) only (c) 4) All above statements are correct

3. 3. . T, FSHIT Wieiaudh! Hivd! U RIsR g / 3fed ?

a) 3. . . . FEH B Rep UNUl IMER, ARG 3T ga-wrifien fremr amaReen ward
UehIfcHe G (package) S ST

b) AERTY AT THUT 443 3. AT, St TH. Thed PRI 3Med, ATHD! 3&8 Hehed TMHITT |G, <Y
Tehed SMCATAT &7 MO 908 Fehed AR STSUS! ST 37TRd.

i IR :

9) Fh (a) ?) & (b) 3) (a) 3T (b) 8) RIS et

Which of the following statements is/are correct regarding ICDS ?

a) ICDS seeks to provide young children with an integrated package of services such as

supplementary nutrition, health care and pre-school education.

b) There are total 553 ICDS Projects operational in the State of Maharashtra of which 364 projects

are in rural areas, 85 projects are in tribal areas and 104 projects are in urban slum areas.
Anawer Options :

1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above

3ITYH / NFABRY FHTSTHSATIT @I TRI&T / 934



RE)

26)

209)

27)

W)

28)

For Private Circulation Only

G IAUh! TepTicHep §1e5 fdehI HaT JISi Siala Il HdT YRidedT Sar 2

a) A4 3TERTET YRIaT PRI,

b) fafayr sfiaxumr BRisT MRNRIT @,

¢) IR fAvTH Feodl g g Aal Irdl YRIST SR,

d) RS [P IR sFRuIRIae fremr <o,

RIS PIURT/B T G/ TR/ 2

9) %h (d) ?) (a) 3Ifr (b) 3) NHUH T ¥) TRIAUDT AT
Which of the following services are provided through Integrated Child Development Service
Scheme ?

a) To provide nutritious food.

b) To organise various vaccination programmes.

c¢) To provide health counselling centres and services.

d) To educate the women for cooking nutritious food.

Which of the above option(s) is/are incorrect ?

1) Only (d) 2) (a) and (b) 3) All of the above 4) None of the above
el pioeaT e ‘IFRI%’ WRAId Tol 3N JadhicaT gRIS! BRI 3R ?

a) Tl ITReiod 3T faem b) Ferycl f2refur 0T Bit—go FH

c) STl ARE d) URoT FHA 3nfor HRfiGRY

gl SR :

q) Bh (a) 30T () R) ®h (a), (b) 31T (¢)

3) %k (c) ®) Il Hd

UNICEF has been working in India for the rights of children and young people with speciality/ies
of :

a) Child survival and development b) Basic education and gender equality
c¢) Child protection d) Policy Advocacy and Partnership
Answer Options :

1) (a) and (c) only 2) (a), (b) and (c) only

3) (c) only 4) All of the above

]R8 HEY T QaId AHMaT AT fophmft Terr gRecd |emaere RisuneT siftm weod Suard 3. a1
BT S AT UTRA RN 3N LY PIUAT STefar FHE Bl ?

37) YA dleseh & HHGIOG A TRIEune e Rrefor 695 erepal.

9) T BRIH RS & T BRAMT Ad JBral faaR o1 ST,

P) FAHAMD LT Ugd MBI PHBN SR fALT Ufchar uqTdt Bvamd #ed il
i S

9) Wh ‘31 )'er’ amfor ‘g’ 3) ‘er,'F amfor ‘w g) eI AT

In 1994, inclusive education was finalized in a conference held at Salmanca, Spain.

What matters are included in the memorandum that was passed in this meeting ?

A) Every child can be educated in general education till the maturity of his capacity.

B) All childrens should be considered when planning and designing school programs.

C) Inclusive education system in school helps to make education process effective.

Answer options :

1)Only ‘A’ 2) ‘A’and ‘B’ 3)‘A’,"B’and ‘C’ 4) None of the above
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e Fegal U -

a) Id 1% S b) THUTIH BIUTRT J.

¢) ST=Helel 9165 TehT aufedT 37Td Tl uraur d) ™ 9.

RieTdeh! P T ISR Mg /3 2

9) %eh (a) ?) Weh (b) 3) Bh (c) 8) aRieTiehl ATEl
Infant Mortality means :

a) Still birth b) Death due to abortion

c¢) Death of a baby born within one year d) Fetal death

Which of the option(s) given above is/are correct ?

1) Only (a) 2) Only (b) 3) Only (c) 4) None of the above

a) JeTFHel GYuT UTdesl FURU g HEIRE HIoH ATd S 3.

b) HEITE WIS & AT Sl Haid qid) el SMER AT 3.

c) SIRET WSETeflel GeArIS! & AT 3Te.

ReTehT Prorr e/ faem aRIeR S /3med ?

9) (a), (b) 3T (c) ) (a) 3T (c) 3) (a) 31T (b) 8) eIt TRl
a) Improving nutritional levels in children is the objective of midday meal scheme.

b) Midday meal scheme is the world’s largest school diet scheme.

¢) Midday meal scheme is for children below poverty line .

Which of the statement/s given above is/are correct ?
1) (a), (b) and (c) 2) (a) and (¢) 3) (a) and (b) 4) None of the above

SR FHRIER HTd PRUTATS! AR ARPRA Wletiedeh! PIurdT BIIGT hefl 2

a) hacsl PrIGT

b) T BRI

¢) STAPMIR (MY g FI99) PrIer

d) Shrear Smfor Ak feoTT g8 BT

i SR :

) ®h (a) R) (c) T (d) 3) (@), () 3T (d)  8) (), (b), (c) 3 (d)
Which of the following Act was enacted by the Government of India to overcome the problem of
child labour ?

a) Factory Act

b) Mines Act

c¢) Child labour (Prohibition and Regulation) Act.

d) Right to Free and Compulsary Education Act.

Answer Options :
1) Only (a) 2) (c) and (d) 3) (a), (c) and (d) 4) (a), (b), (c) and (d)

GTefierdehl PIUd ARIRD e A Feanie ATid ST Jerrean qivvr R qui e ?

9) 3ferhyUT Q) TFAR 3) SRS o 8) TAIAR TSt
Which among the following is not the standard indices of physical growth that describe the
nutritional status of children ?

1) Anaemia 2) Stunting 3) Wasting 4) Underweight
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R) JahTIT HAIT
IR AT URUTAR ‘gae STfT ‘fhenR’ U :
9) 3FIHH aF ¥ 9y T R M I g 90 T IR AT FINICKITeT chi
Q) 3FIHH 9 ¥ 98 I ¢ M a7 a¥ 93 T ¢ AT AN ht
3) SFIPH ¥ 9y 94 T 30 3MMOT 97 a¥ 92 T 9 IT FANCIKITe <hl
¥) SIehH T ¥ qY T 3Y 30T 9T a9 90 T 9% IT FANCIKITS h

According to the National Youth Policy ‘youth’ and ‘adolescents’ are :

1) The persons belonging to the age group of 15 to 29 years and persons in the age group of 10 to
19 respectively

2) The persons belonging to the age group of 14 to 28 years and persons in the age group of 12 to
18 respectively.

3) The persons belonging to the age group of 15 to 30 years and persons in the age group of 12 to
19 respectively.

4) The persons belonging to the age group of 15 to 35 years and persons in the age group of 10 to
19 respectively.

XaTeiietie! ot e /= gehret amg/d ?

a) 8 T 99 TIT 03¢ IS 3¢ AR IR Ja1 Rrereasr uee He.

b) 99 T 93 U 209¢ T 4 TR ARG a1 rersard! dHalfsar Je.

) 9 T ¥ JFeieR 03¢ TIT 49 AT Uelwels gaT Uil desrl IRa 9e.

d) 4 T 92 SR 209¢ BT 9y Fewy AR Zar ufiel Hewrl WRa 9e.

T S :

q) (a) 37T (b) 2)-(c)-3for (d) 3) @), (b)3mr(c)  4)(d)

Which of the following statement/s is/are incorrect?

a) Visit of 38 member Indian Youth Delegation to Nepal from 4th to 11th April, 2018.

b) Visit of 5 member Indian Youth Delegation to Cambodia from 11th to 13th April, 2018.
c¢) Visit of 51 member Palestine's Youth Delegation to India from Ist to 7th October, 2018.
d) Visit of 15 member Kyrgyzstan Youth Delegation to India from 5th to 12th December, 2018

Answer Options :
1) (a) and (b) 2) (c) and (d) 3) (a), (b) and (c) 4) (d)

@IAIcT 1ET195h) I GRIaR STTaT 2

a) 99<Y & SIRVIENRT Jaray T N BRUIIT Si7et.

b) 98<& @ TENRT JaT EIRT BII [BTT FINEOIER 5 Q.

c) aw FIT BIRIBHIT FET Hall FIoT1aT FHIE E.

g1 I -

9) (a), (b) 37T (c) ?) #h (a) 3) b (c) &) (b) 71 (c)
Which of the following statements are correct ?

a) 1985 was announced as International Youth Year.

b) National Youth Policy 1986 emphasizes skill development training.

c) ‘National Service Scheme’is included in Youth Welfare Programme.

Answer options :
1) (a), (b) and (c¢) 2) only (a) 3) only (¢) 4) (b) and (¢)

3ITYH / AFABRY FHTSTHSTIT @I W& / 93¢
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RgTeficTidh! Piurd /[ /v aRieR ATgt/d?

a) FeBdl YERTST 9 d 94 3MRT 09¢ T IMET a1 A3 HIoRT dxudTd ATl

b) 39 FAEIR R9¢ IS AXR TGIAHTS Uoe Il S & IET Ve o 7gu[d AIORT HRUIT 3T,

¢) IR a1 TFAS ARIwd 09% ALY ‘Y € cgied i = 3fean’ A favareR SR aRuaTd SrTe g,

Tt S :

1) (b) ?) (a) MfoT (b) 3) (a) 37T (c) ¥) W G SRR 3R

Which of the following statement/s is/are not correct?

a) Swachhata Pandharwada was celebrated form Ist to 15th August 2018 under National Service
Scheme.

b) Sardar Vallabhbhai Patel's birthday on November 31, 2018 was celebrated as National Unity
Day.

c) ThZ National Youth Parliament Festival 2019 was organized under the theme 'Be the voice of
New India.’

Answer Options :
1) (b) 2) (a) and (b) 3) (a) and (¢) 4) All options are correct

9y AT, 9]1R JUSHt F& FetedT T JAHITS TR ISR A&V BRIFARIGHTT Wt HIord
faem / figm SRIER 311g/311ed 2

a) TIRGERYTAE 9¢ T 34 FANCIeT gadh ur.

b) W, /T3 Yo FHEYT RTelelt @hl U

¢) T Tite foremr AT § AT SRR qof Sore 2R T

d) IRURS DI AT Pealiicl JIDHT DIUrE! 31T ATa.

Tt S

1) (), (b) R) (@), (d) 3) (@), (¢), (d) 8) (), (b), (¢), (d)
Which of the following is/are correct statement(s) regarding the Training of Rural Youth for Self
Employment (TRYSEM) which was started on 15" August, 1979 ?

a) The Youth Below Poverty Line (BPL) aged between 18 and 35 years of age are eligible.

b) Person of SC/ST category is eligible.

c¢) A person who has completed 9 months National Adult Education Programme is eligible.

d) No condition of educational qualification for the youth belonging to traditionally skilled families.
Answer options :

1) (a), (b) 2) (a), (d) 3) (a), (), (d) 4) (a),(b),(c),(d)

ST ARATAS JaBiecs BRI AEHN €T s MMM TR (98¢ 9-3099) ST M. AR i
ldl :

SO 99 (1) TGHUT AT BTt Agdn (1)
a) 93¢9 i) 8.8
b) 9%%19 1) 3&.%
c) 20019 1) 89.9
d) 2099 iv) 89.§
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i SR :
(@ () (© (@
9) (i) (i) (1) (@{v)
) () (i) @(v) (i)
3) (i) Gv) (1) (i)
8) (1) (1) (i) @(v)
Following 1s work participation rate trend and differentials among youth in India (1981 —2011).
Match the following pairs.

Cezsaus Year (I) Total Youth Work Participation (II)
a) 1981 1) 42.4

b) 1991 i1) 36.9

¢) 2001 iii) 47.1

d) 2011 iv) 44.6

Answer Options :

@@ () (o) (@)
1) (i) () @G) (@(v)
2) () (i) (@{v) (i)
3) (i) Gv) (1) (i)
4) @) (1) (@) @(v)

Tl HaT AT gadh [ApraTaT BRI TeUT BT IR i) eeiqd IR sielel 31mg ?

a) UGl TUTHSUFT b) SRl "gH

c) HEIAT el d) SRV ARRIOT

it SR :

q) b (a) AT (d) R) ®h (a) ST (b) 3) eh (¢) g) Hth (a)

National Service Scheme (NSS) being youth development programme was inspired by the ideals
of which national leader/s?

a) Sarwapalli Radhakrishna b) Jawaharlal Nehru

¢) Mahatma Gandhi d) Jayaprakash Narayan

Answer Options :

1) (a) and (d) only 2) (a) and (b) only 3) (c) only 4) (a) only

iU PIord /AU /v SRR e ?

a) Y a1 IERT JaT Felwad Uex AITST, SR Ul I SR PRUATT ST gl

b) 2R a1 INCIART Jar vaFaSt PRIPH ¢ STHART, 209 IUSi Isfa Telt I Jar vy w1
AR I LTI 3.

¢) ot mieht rfter gat feema TR dhg FEhTe A 0 T 39 SfRT, 09¢ T U ‘feawraT teIdiER
feafic ®H @1st b TRIET HRIGH’ SRR e,

ot S :

1) (a) ?) (b) 3) (© 8) eIt
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Which of the following statements is/are correct ?

a) 25th National Youth Festival was held in Greater Noida, Uttar Pradesh.

b) 22nd Tribal Youth Exchange Programme was held on 4th January, 2019 at Rajiv Gandhi National
Youth Development Institute, Sriperumbudur.

¢) Rajiv Gandhi National Institute of Youth Development Regional Centre Chandigarh conducted
a five-day "Exposure Visit cum Life Skill Training Programme’ from 27?h to 31" August, 2018.

Anawer Options :

1) (a) 2) (b) 3) (¢) 4) All of the above

"HoTge ST PRI e Rl e WSl aegiAT dis STaRIS! TRt a-ia0l’ @ I I
¢RUT 209% I Uh ST M. o AT FRUIRTS! Wiefierden! DIorct HTIfEhdT 3 ?

a) TR 3T fARAft SHamdieh b) fopeT

c) HHINSTeh e aTe d) foreror

g IR :

) (a) Hth ?) (a) 3mfor (d) 3) (a), (b) 3T (c)  ¥) (b) 3T (d)

Develop a strong and healthy generation equipped to take on future challenges is one of the
objective of National Youth Policy, 2014. What is/are the following priority/ies to achieve the
set objective ?

a) Health and healthy lifestyle b) Sports

¢) Promotion of social values d) Education

Answer Options :

1) (a) only 2) (a) and (d) 3) (a),b) and (c) (4) (b) and (d)

a) g6 awhs FECT /00 HXI JF& STl

b) g JaThs, HUCTAl Segl ‘Jabrd xhiFcd AT ged 0T [GehRIa ol AT T I1F AR
ST AEHFT P TUl’ & 37T,

RIeTUeh! v fauT /faum gehrd 3Tg/ e 2

Tt SR :

9) Th (a) ?) Fh (b) 3) (a) 3T (b) 8) ARIeThT el

a) Nehru Yuva Kendra Sangathan (NYKS) was launched in 1970

b) Nehru Yuva Kendra Sangathan’s objective is “To develop the personality and leadership qualities
of the youth and engage them in nation building activities.

Which of the statement(s) is given above is/are incorrect ?
1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above

T, . . ). 919d gieridht drordt fum | a2

a) T Py fApRT HgMes (W w7 8 ) Ardeie nfor @erft wifigRier medrg <o

b) IR Dleed fIprT e TRT IRBRGR 00% T FLATUT FRUATT 37Tl

¢) 39 9rF 2020 WA .... T 849 PIckar Freft I ARy gemewmre e ore.

d) IET GET AT AEIGRT DI fABRIRIGs TS, FeNed, faerd Mo Jeme & Pl defl
ST,

R SR :

q) (a) 31T (b) ?) (b) 31r (c) 3) (d) 3nfer (e) 8) (c) o (d) Beh
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Which of the following statements ‘Are Not True” about NSDC ?

a) National Skill Development Corporation encourages public-private partnership.

b) National Skill Development Fund was set up in 2009 by Government of India.

c¢) Till 318* March 2020 NSDF has released 4951 crore to NSDC,

d) National Skill Training Institute is ran by Ministry of Human Resource and | Development,

e) Training, Research, Development and Publication for skill development is the work of National
Instructional Media Institute.

Answer Options :

1) (a) and (b) 2) (b) and (¢) 3) (d) and (e) 4) (c) and (d)

TERTY AR STl WRTGAT RIS $hiST UL Wit fHaTd, Jaehi Walhs 3T g

ITHRAT D FUT 2032 FUIA I oI WRIgATS! PIvrdT MRy gudd 3e ?

a) Javice e WRIGHT Yo o I, JAIUGH faoicd] Wl 30 ARG IUY TR PRIUGH faoied
WRBIGATS! 0 TR 3R 9&fT <TITT VR 3.

b) gaviuees feicar Wergem Arfeidres 92.40 @G T9Y, JAwued faoia WesrgedT Argemre!
9.40 TG IUI TR PIIUCH Aol WRIGT ANCIABRIG! 4 AR DU F&f 0T AVR 3.

RITUDT BDIU U /faum sRIsR 31z /3med 2

9) Th (a) R) %t (b) 3) (a) 3MfOT (b) 8) a¥ferticht T

In order to encourage the athletes of the state in international sports competitions, to attract the

youth towards sports, the Maharashtra government has taken which of the following decision for

the medal winning athletes of the commonwealth Games 2022 ?

a) 50 lakhs rupees for gold medal winners, 30 lakhs for silver medal winners and 20 lakhs rupees
for bronze medal winners will be awarded.

b) 12.50 lakhs rupees will be awarded to the mentors of gold medal winner, Rs. 7.50 lakhs to
mentors of silver medal winners and Rs. 5 lakhs to mentors of bronze medal winners.

Which of the statement(s) given above is/are correct ?
1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above

<TERT AT AT gadh [IBrTaT BRI TEUT HIuT IR ered] Seaiqd IR sTelel 31mg ?

a) FAUG! AUTHSU b) STATERATA g%

c) HEIHT el d) SRIY@TIT AR

R SR :

q) @b (a) AT (d) Q) Wb (a) AT (b)  3) Beh (c) 8) Weh (a)

National Service Scheme (NSS) being youth development programme was inspired by the ideals
of which national leader/s?

a) Sarwapalli Radhakrishna b) Jawaharlal Nehru

¢) Mahatma Gandhi d) Jayaprakash Narayan

Answer Options :

1) (a) and (d) only 2) (a) and (b) only 3) (c) only 4) (a) only

oy RrerorRaTet faemeff el (SAVE) 1 Udb 8 37111 STUehRTAT BRIShH bTe ieudh! hivfedT AT 318 ?
q) SMAREN g dg (IFA) ?) €@ FarT 3oy 0 &g (OAHC)
3) ?e9 W sfr (HAI) g) fdemiis sreM "s% (UGC)
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Student Action for Value Education (SAVE) is one of the rights and entitlement programmes of
which of the following organisations ?

1) International Federation on Aging (IFA) 2) Old Age Home Care Centre (OAHC)

3) Help Age India (HAI)4) University Grants Commission (UGC)

T PRI Il I g el ISRD TG ISy Bieed faeRT PR feRu JURTARIS J9H
QU YT fepry eaTaRATRIehTel Ueh et JIR aRUl, ST Riegl ieed AR el Jefd f(re
ARSIy faeprd FAISH M SHSGISTAUITG et 3.

9) 3CS AT Q) WRER @YU UCS NER Balfi

3) HreT Mt e bt 8) AT AT

This programme aims to provide states and districts with catalytic support to improve the skill
development programme delivery and create a cadre of development professionals, who will be
available to district skill committees for comprehensive skill development planning and
implementation in their respective districts.

1) Atal Yojana 2) Sardar Vallabhbhai Patel National Fellowship
3) Mahatma Gandhi National Fellowship 4) None of these

T’ Ao & qeuniTe hraceR i fedrss Hed ASHIR Biged STOOIRE ISHT ............. a1
q) TEEN HAST R) wHT fdepr HATHA

3) TBFEIU g TR FagR AT Q) IICUAAD FATR

‘Samarth’ the scheme to skill the youth for gainful and sustainable employment comes under
ministry.

1) Ministry of Textile 2) Ministry of Rural Development

3) Ministry of Housing and Urban Affairs 4) Ministry of Minority

YRATS SRISAIRT STeaan Uil Piud U s g ?
9) I FRITSIPRUN USRI TG PR,

Q) IR I SFRHI WHIU T W USRI FHIUEN Teas,
3) oY yETuE IrETT WA ASHIRIG O,

¥) 3Mfp fIPRITERISR ST g JFEFTIS ASHR Fefid d1e.

Which of the following statements is not correct related to India's Unemployment?

1) Increasing Automization are increasing to employment.

2) In Kerala the rate of labour force was reduced but the rate of employment reduced.

3) Decrease employment in rural area the urban area.

4) Increased employment opportunities in industry and service sector with economic
development.

WIS Dol o /fRur ghir amg/amed ?

a) T AT JISHT (TITHTH) 9RER T F2 IRUITT 37T,

b) vt AR dagR oo femeafy wfrre onftr oz Refra axor ¢ i dar dnm
Sfese 3.

¢) AERT Jq1 A §fig g ‘NOT ME, BUT YOU' g 3T,

g IR :

9) %h ¢ ) bamfirc 3) a 37T b ¥) aRIGUD! ATEr

3IYH / SR FHTSTHEATOT @I TAET / 983
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Consider the following statements :

a) National Service Scheme (NSS) was launched in 1969.

b) The objective of National Service Scheme is to develop the personality and character of student
youth through voluntary community service.

¢) The motto of National Service Scheme is ‘NOT ME, BUT YOU".

Which of the statement(s) given above is/are incorrect ?

1) Only c 2)bandc 3)aandb 4) None of the above

T HRIR JaT Ao AU WTSTSUD! Dol e /faum sReR e /emed ?

a) TET FHRIR AT GICS @l 99 UIH GO b

b) 99 UITH AHN! MYUVIR g Ik TR SUIH 3.

¢) UICaHeR WA, ARGRT g ATc! STl Aldp-ardt Hifed SuBey 31Te.

IR SR

9) %eh a R) a 37T b 3) aamrc ) RIBUD! T

Which of the following statement/s is/are correct in the context of National Career Service
Scheme?

a) Launched a web portal called National Career Service Portal.

b) Web portal is useful for both job seekers and employers.

¢) Information of private, Government and contract sector jobs available on the portal.

Answer options :

1) Only a 2)aandb 3)aandc 4) All of the above

SEERN TSI U JaDIRITe! WIieuh! PIvd IUshd JSfAUIT 3Me JMed 2

a) 7181 YT fSTeand Py fdery aiom iaifd 8. &Y. 3. d Pieey dig dRIfd o

b) ST T HIPRIT JIDAIS) AT SUSHHIGR IR Thal g TS BRUITT 3T,

i SR :

1) &b (b) R) Wb (b) 3) (a)3Mfor (b) 8) aNISUHT TR

Which of the following activities were implemented for the youth of the rebel-affected region ?

a) LT.I. and skill development centers are executed in the Naxal affected districts.

b) Organized national unity tours for the youth of Jammu and Kashmir through ‘Sadbhavna’
Initiative.

Answer Options :

1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above

WAl 3 Ao guidies U/ fum

a) Mg el W AR fRfesiieRor Wal sfear dera e

b) I IS 90 T ¢ FANCKAIS AT ARIRD TGoAATST TIcATET e S

¢) TRIATa Ja1 Wi gt et .

d) SaTciiss 20 fediaHT HalpE fhsT g FeUT T <udTd .

RIGUD! DIV AU /fIem ISR 318/ 3ed ?

T I :

1) ®h (b) ?) (¢) Srfor (d) 3) (a) Ao (b) 8) ANIHH! 7

3IYH / JNFABRY FHTSTHSITIT @I TRI&T / 988
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Consider the following statement(s) regarding Khelo India Scheme :

a) Rajiv Gandhi Khel Abhiyan was merged in the Khelo India Scheme.

b) This scheme promotes physical fitness among age group of 10 to 18 years.

¢) Scholarships are given to talented young players.

d) Twenty universities in the c.ountry are promoted as the best sports centres.

Which of the statement(s) given above is/are correct ?

1) Only (b) 2) (c) and (d) 3) (a) and (b) 4) All of the above

I AT SO HAFATST FaSH S JNTRRIEIT Gl arefaur a7for JHTfae &_ul g i
BRIHHTS /PRI I ATE 2

a) STTRRTERT FRGpcIeh JaT SaToredror b) faeg . w. &t T

¢) ITRRIEIT T ATUTeIdTor SHrRighH d) giv=p! g BrRishH

gift SR

q) (a) 31T (c) ?) (a), (b)3mdr (¢)  3) Wb (d) 8) Wh (c)

The goal of which programmes is/are to build and include an International perspective in youth in
fostering peace and understanding ?

a) International Cultural Youth Exchange b) World YMCA

c) International Youth Exchange Programme  d) UNESCO Youth Programme

Answer Options :

1) (a) and (¢) 2) (a), (b) and (c) 3) Only (d) 4) Only (c)

WTSISUDT I e /F aRIeR AR ?

a) Foid Sadh G AUBR (CARA) ® Tod: oiftgd \emitha oI, IR for aReanft

b) P T FATUT STUBR (CARA) & Ueb bl TR SRIT JTd SeTcicl Gaieh Hishd Aeel Pri
EaG]

AT S :

1) T () ?) % (b) 3) (a) ST (b) 8) T et

Which of the following statements ia/are not correct ?

a) The Central Adoption Resource Authority (CARA) primarily deals with adoption of orphans,
abandoned and surrendei-ed children through recognized agencies.

b) CARA s designated as the Central Authority to deal with in-country adoption of children.

Answer Options :
1) Only (a) 2) Only (b) 3)(a)and (b) 4) None of the above

ATeflel {d Tehidl 3avia ded 'IIERT JaT FRAIARUN BRI’ &l Teh B3l AT IR FTell AR
mmw b) ga TR ¢) e® a1 I, d) TR 1 AT

q) (@), (b) 3T (d) ) (b), (c) 3N (d)  3) (a), (b) MM (c) ) el T

‘Rashtriya Yuva Sashaktikaran Karyakrarn’ (RYSK) is a Umbrella Scheme with following
components :

a) National Young Leaders Programme b) Youth Hostel

¢) Nehru Yuva Kendra d) National Service Scheme

Answer options :

1) (a), (b) and (d) 2) (b), (c) and (d) 3) (a), (b) and (c) 4) All the above

3ITYH / NFABRY FHATSTHSATIT @I TRIET / 98Y
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9R€R ATl G sAeled] I AaT romar (NSS) el B 378 ?

q) TGN fereror R) AT IPpE 3) BT e w) Jagy frem
What is the purpose of National Service Scheme (NSS) introduced in 1969 ?
1) Education through Cooperation 2) Excellence through Service

3) Education through Welfare 4) Education through Service

OGR! AT AIeauaRIe!, femeaieg AgIfenena yaer Idra FAT-§ Ggl 9%d udTd Il
IIHNAT FaSU[d SR IR A9 AR AUt ST §auaTd . T IR Sraadt
RTeiietieh] eIuTe ?

9) STHERE 9 d 39 ) ST 9d 30 3) et 9 T 39 g) SRE 9 T 39

The students while taking admission to colleges are made to fill up form no. 6, as per the
recommendations of Election Commission of India being a special drive for registration of new

voters to be implemented during a specific period. Which in that time from the following ?
1) January 01 to 31 2) June 01 to 30 3) July O1 to 31 4) August 01 to 31

ITATRIG ST Wieticlich! PIvcaT TR 37 ?

a) HTEIHP FORTER s THT0T 31fereh. b) ARAT BRI TN el STl
c) UfRIferT sreamdeie e greft d) Plered ARTUlt gRIST IHE WY ThrEd.
i SR :

9) %k (a) T (b) AT foe= 3. Q) b (a), (b) @ (d) I fIu™ T 31,
3) %eh (a) T (c) T fau™ e, Q) %h (a) T (d) faum™ I 3Ted.

What are the problems of vocational education of the following?

a) High drop-out rate at secondary level. b) Private Industry Participation is taking place.
c¢) Adequate number of trained faculty d) Huge demand-supply of skill gap.
Answer options :

1) Only (a) and (b) are correct 2) Only (a), (b) and (d) are correct

3) Only (a) and (c) are correct 4) Only (a) and (d) are correct

q) FGh Y R) WY & G HATeR

3) fag= 3nfor dre= famr ¥) SN oh

Technical Education Quality Improvement Programme is assisted by ......

1) United Nations 2) Ministry of Human Resource Development

3) Department of Science and Technology 4) World Bank

90) TNgg /TASS ARTRPIEAT TR
geust sfear (HAD) ... T TRITA ATl gl
9) RW¢ ) 9%¢o 3) 9¢uC 8) 9¢CO
Helpage India (HAI) was established in
1) 1978 2) 1980 3) 1878 4) 1880

3IYH / NS FHTSTHSTIT @I TRI&T / 98E,
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RgTefierdedh! PIuTT e aRIER 318 ?

a) T IFHEM I 98%% B SRRIET I Thl A Fgud TN et N,

b) TG IFHY RSN 9 ISR JATRRIEIT IS ANR e FgU[ AIORT B,

gt SR :

q) Heh (a) RIR AR, ) Beh (b) WER . 3) QAral RR ARA.  ¥) Q! gob AR
Which of the following statements is correct?

a) United Nations declared year 1999 as the International Year of Older Persons.

b) United Nations celebrates International Day of Elderly People of 1* October every year.
Answer Options :

1) Only (a) is correct  2) Only (b) is correct 3) Both are correct  4) Both are not correct

IE-TSIA T SIS ARReB HRUIAISU] HRUGRASIET el BIIGI HERIFIS ...... YRET SN PRUAT 3T,
9) 9 UfUA, 09 ?) 9 9/, 000 3) 9 Ufl, 004 %) 9 9R, 008

The Central Act for maintenance and welfare of parents and elderly citizens has been implemented
in Maharashtra from :

1) 1 April, 2007 2) 1 March, 2000 3) 1 April, 2005 4) 1 March, 2009
Tt AT &d QuaTe SRifc JelleR DIV Do QudTd 3lel 31Tg ?

a) UTetes 3T SIS AR uRRerm 3nfor dweamor srfef g 2000 b) SIS ANRE BRI 09
¢) Fgel 9 dRIET 09¢ d) €T I PRI 004
RIS PIOTT TI7T TR MR/ 37T ?

9) Beh (a) R) (b) T () 3)(a), (b) 37r(d) ) FAUD T

Which enactment Mandates Children to pay monthly expenses for their parents?
a) The Maintenance and Walfare of Parents and Senior Citizens Act 2007.

b) Senior Citizens Act 2016

¢) Retirement Act 2018

d) Old-age Act 2005

Which of the option(s) given above is/are correct?

1) Only (a) 2) (b) and (¢) 3)(a), (b)and (d) 4) All of the above
TT-PH3R 3T (ACT) dt FATTHT 98¢0 FLY ... TFT FRATHS TS d HaT SUITT &0 G e el
9) og I 98 T¥ FIRICKNS ot Q) Of Ue P! R Heol

3) Yo AN JIRIS I¢ YN  Hfgelm 8) €Y T FuERIeT g5 YoV T Hfgen

Age - Care India (ACI) was established in 1980 with the aims and objectives of helping and
serving ...... by providing institutional services.

1) The children in 06 to 14 years of age group

2) The children below 06 years of age

3) The aged males and females above 50 years of age

4) The aged males and females above 65 years of age

2099 T SFUIRIR €0 JYaRIc JAIgGd HRATAT U0l SAlhRivdid WiefieTdh! Hicrerd Hmor fasett 2
q) &.2 Hfcrerd R) .8 fcrerd 3) ¢.& Hfcer 8) R.3 mfcerd
According to Census 2011 from the following what is the percentage of elderly above the age of
60 years in total population of India ?

1) 6.2 percent 2) 7.4 percent 3) 8.6 percent 4) 9.3 percent

3ITYH / NS FHTSTREATOT W TRAET / 989
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STUIETSS AT BIICT Wictleldeh! PIucT Tl WSINRIDT fesdl 2

9) 9T Y¢ IR ) 9T £0 YR

3) 9T €4 TRl 8) T 04 qufaiet

Which of the following age senior citizens get benefit of Shravan. Bal-Yojana de

1) Age above 58 years 2) Age above 60 years

3) Age above 65 years 4) Age above 75 years

AT SFaHgcdal M gl fahdl a¥ qui dheled] SABATRIGHT HERTY IIURagT a9 HYd

T JarT Rl Ial ?

9) 97 ay Y4¢ qof R) 9¥ ¥ go guf 3) 3T ay gy quf 8) a7 a¥ 4 guf

On the occasion of Amrit Mahotsav of Independence, Senior Citizens who have completed how
many years of age can travel for free in Maharashtra state Road and Transport buses ?

1) Completed 58 years of age 2) Completed 60 years of age

3) Completed 65 years of age 4) Completed 75 years of age

aRE ARSI IAERT geTSTST ATHISTD IR STTOT F&THIRRT, TR RAIGRT GO HRUITT AT TR
T 29ReTdT A6k B 7P

9) 1916 Q) 14567 3) 1098 8) 182

National helpline for Senior Citizen has been set up by the Ministry of Social Justice and
Empowerment, Government of India. The number of this helpline is

1) 1916 2) 14567 3) 1098 4) 182

WGB! PIur e /faum gh sme/3med 2

a) IS TARNDBHT JGIPIG TN YR TS AT ATBRAT JEIBF & IS 9R€3 IR TR
TRATGT QST S,

b) JETE TS IFHIT JEIFFMLT €0 aY IT 330 Jo¥  4Y T8 T RTeheT HigdIHT HaeT SUTT .

c) ‘mrEh gemE’ g e I R qu AldIR 9380 TR JR FRUATT 3T

gt SR

9) Beh a Q) a 3fr ¢ 3) % ¢ ¥) Tk b T ¢

Which of the following statement(s) is/are incorrect ?

a) Vriddhashram scheme has been implemented since 1963 through non-government organization
to help senior citizens spend their old age well.

b) Under Vriddhashram Yojana, men aged 60 years and women aged 55 years are admitted to old
age home.

¢) Matoshree Vriddhashram scheme was started on 17th November 1990 as per government
decision.

Answer options :

1) Only a 2)aandc 3) Only c 4)bandc

a) RS ARIG I 31 €0 Iy YUl detedT PIVIATE! Jou AAT Bl 3T .

b) BIC Pcd g IIFUIRITS! BIC! ST AT PRUMS S ANRBIeT FHRAT e AT

¢) AR, AR BT FACRMe SUSFeAT FHAT il siren a1ed.

RITUDT pIUrc e /faum sRIsR 3mg/3med ?

) ®h (a) ?) (a) 3T (b) 3) (a), (b) 37N (c) &) RYeridr el

3IYH / NFABRY FHTSTHSTIT W TRI&T / 98¢
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a) Senior citizen means any man and women who has completed sixty years.

b) The problems of senior citizens are increasing due to small family and small living space.
¢) Migration due to job, business has created problems of senior citizens.

Which of the statement(s} given above is/are correct ?

1) Only (a) 2) (a) and (b) 3) (a), (b) and (¢) 4) Nome of the a

RIER 3elel UM i

a) TTasht gErs & Ao A Mol e qu AR 48R I TRt HRT ATt g Ut
3Tl

b) IT TSI AT 38 ATIST G T SFGH TR T 37Ted.

¢) TP AIAIST JEIEHE AT WA 200 TG IR,

d) IHLY YA HUIRATS! ST SIS ANREDIE Fl-d dlfiep I 2. 92,000 Y& SR 3Tg. ATciehgd
UfcHTE ®. 400 Yoo 3MBRad AT SuITd I,

gt SR :

1) (a) R) (b) 3) (© 8) (d)

Point out the correct statement :

a) Matoshri Vruddhashram, this scheme was started as per Government Resolution dated 17
November 1994 through NGO.

b) Under this scheme 34 Matoshri old-age homes are functioning in the State without any grant.

c) The approved number of each Matoshri old-age home is 200.

d) For admission, senior citizens who have their own annual income of Rs. 12,000 admission is

given for a fee of Rs. 500 per month.
Answer Options :

) (a) 2) (b) 3)(©) 4) (d)

URT ARPRA T e U= Ao (T I ar7) Feia Widle ummr faar T

a) 3TCS UreM TSI Yaue™ =Rg Al It { H, 209% st 741 gl I o P,

b) SRTECT &G BIEFNRIAT JEUDbIor! Icu= JR& UM HRUIRIC! FEaBad Jroredm Vasit &
IISHT ST 3! .

c) 3TMffep @ 2039 - R T T ST HRT TN 3.5¢ DI AUD e,

fe3es PIvrd e /g iR i /3ied ?

9) UM (a) RT3 Q) faum (a) mfor (b) R 3MmRd

3) UM (a) afor (c) SR aed 8) fau™ (a), (b) T (c) 3R AR

Consider the following statements with respect to the Atal Pension Yojana (APY) of the

Government of India :

a) The Atal Pension Yojana was launched by Prime Minister Narendra Modi on 9th May, 2016 in
New Delhi.’

b) This scheme replaces Swavalamban Yojana and is established to provide old age income security
to the workers belonging to the unorganized sector.

¢) During the financial year 2021 — 22, the total number of subscribers of this scheme crossed
3.68 crores.

Which of the given statement/s is/are incorrect ?

1) (a) statement is incorrect 2) (a) and (b) statements are incorrect

3) (a) and (c) statements are incorrect 4) All (a), (b), (¢) are incorrect
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98) @IB]SYD] PITTET GETBIRTA FHIEH TEGTHH @I9I3] 98 G PRUIT I3 7P

14)

94)

15)

g)

16)

Q)

17)

9¢)

a) YIIETE HIT FTHY b) ¥, SIBNTIRT FTHY

c) TiTes FTAE T d) 1§ Frerer greny

FIFIE BT G T e/ BT ?

9) B (a) ?) % (c) 3) (a) 371 (c) 8) sl w7
Ramadham Old Age Home was started at KhopoE on the initiative of one of the ' following:
a) Ramabai Keshav Thackeray b) Late Balasaheb Thackeray

c) Maasaheb Meenatai Thackeray d) Bindu Madhav Thackeray

Which of the option(s) given above is/are correct ?

1) Only (a) 2) Only(c) 3)(a)and (c) 4) All of the above
2090 IR TIRRAT WA ifgan Faffed =R ........... T TSGR 310 3.
q) G R) Hereh 3) IMH 8) arl

Thousands of Rohingya refugees have arrived from Myanmar’s state in Bangladesh since 2017.
1) Rakhine 2) Mandalay 3) Yangon 4) Bago

HRATT Ulgediqrd Jeladd! HIvdl Iod deIscar MR FJSIoRMEl JFET (tracking) ©OR
JfshI= TIR Hed Mg ?

q) FICH R) HENTE 3) e ¥) TRId

Which of the following state has started for the first time website based migration tracking system
application in India ?

1) Karnataka 2) Maharashtra 3) Kerala 4) Gujarat

TS TR JEISH DI e 2

a) TR I JGIsH, RS b) YTS>4Tes fRIFGAT JGI8M, STEAGTR
¢) astie foer oy Hews, ScaRTiR, 30! d) T Tih TepTer gEsH, Yo

Tt S

q) (a) 3T (b) ?) (c) Mfor (d) 3) (a)(b)amlr (¢) ) RUdr 7
Which are the Government sanctioned old age homes in the State ?

a) Param Shantidham Old Age Home, Raigad

b) Bhausaheb Firodiya Old Age Home, Ahmednagar

c¢) Navjivan Vidya Vikas Mandal, Ulhasnagar, Thane

d) Swami Shanti Prakash Old Age Home, Dhule

Anower Options :

1) (a) and (b) 2) (c) and (d) 3) (a), (b) and (¢) 4) All of the above

HERIY W8 MRS R0 2093 TR, Wiellelid! Pl fum/ffum SRR amr/3md ?
a) STRTET Al et JGISHIAT ST <,

b) e THARM fhar HIGaT FHeRT TRaAT AT JGIAH FATIH PRU Hhid.

¢) TeTel d Rish! TREIT TeFHior deheurd ggRdt |g-gfae.

gt SR :

q) (a) 31T (b) ?) (a) 3T (c) 3) (b) 37T (c) 8) RIS
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Which of the following statement/s is/are correct as per Maharashtra Senior Citizens Policy
2013 ?

a) To provide place for old age home in government residential complex.

b) It is mandatory to establish an old age home when a new township or a complex is approved.
c¢) Facilities for the old age people in housing project like MHADA and CIDCO.

Answer Options :

1) (a) and (b) 2)(a) and (¢) 3) (b) and (¢) 4) All of the above

2099 TT ggredT IER YRV HAER TR QAT el ?

a) IS FHF Hehl, AT gehrd ARV g el YUl AEHEIET AT Q.

b) IR IRBRA! JGETETT BRI TG G0,

¢) 3% Al FHISITAT Jed VaTgld 3T,

d) 3¢ ARAIS! Ay JEIH FAITIN HIATE <ul.

gt SR :

9) (), (b) M () R) (a), (b) M (d)  3) (a), (c) MM (d) ) TR T

National Elderly Policy 2011 emphasizes to which of the following ?

a) Equal apportunities for elder people, protection of their rights and promotion of their
participation.

b) Enforcement of law on old aging by state governments. _

¢) To Bring older women into the mainstream of society:.

d) To encourage the establishment of special old age homes for older women.

Answer Options :
1) (a), (b) and (c¢) 2) (a), (b) and (d) 3) (a), (¢) and (d) 4) All of the above

IE AP gep, NSHIG 30T IREER AT a1 Il Siulenod i1 F-H=H g FRAfT Sfiae SHram ara
IRATST PIOTCH AT BRI R 2

a) MM WH Hsd=  b) B3R c) 3Ty d) B9 T S
IR S
q) Wh (d) R) (a) 31T () 3) Wb (b) 8) PV gl

Which organisation works to help older people claim their rights, challenge discrimination and
overcome poverty so that they can lead dignified and healthy life ?

a) Aga Khan Foundation b) CARE

¢) Oxfam d) Help Age International
Answer options :

1) only (d) 2) (a) and (¢) 3) only (b) 4) none

TNgg RIS WISISUD! Do Ao Sfaia Mgl Jaq e 2
q) JGAT AR HIBANIS! T BRI R) 3 mieht T gem gt 9o A
3) famm AT ) S MRS Doy FHeft

Which of the following schemes provides pensions for the old ?
1) National Programme for the Health Care of Elderly

2) Indira Gandhi National Old Age Pension Scheme

3) Vima Yojana

4) Senior Citizens Welfare Fund
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WSS PO DT TRERIESIS T a¥ €0 RS JgHT Hifdies e Sfdr SToarrdt dgrad

SUSRY RfAd ?
9) JUHES I ST AT R) I amsh A
3) TR SR ITST Q) TS T

Which one of the following scheme provides physical aids and assisted-living devices for older
adults above 60 years of age that belong to BPL category ?

1) Pradhan Mantri Vaya Vandan Yojana 2) Rashtriya Vayoshri Yojana

3) Pradhan Mantri Jan Arogya Yojana 4) Vayoshreshta Samman

2oY-TST ST DT TR AT 37 2

9) MDY AT ) TEHS® 3) o AP TR ) TR ARl
Which is the type of "Help-Age India" institute?

1) Governmental organisation 2) Corporation

3) Semi-government organisation 4) Voluntary organisation

YO IR FRT Fafesd eI Ire-g1-T8 AT Qe U ... g foresd.
q) T AHINTD IR AT fhar TUTRd Hew

Q) I IRBR fhar B THNT BT Heo

3) TET I P Hew AT BT SMYH

¥) DT i BT Heos fhal o TghR Hed

Homes (for aged) run by Voluntary organizations generally receive grant-in-aid either direct from
the

1) Central Ministry of Social Justice or LL.ocal Board

2) State Government or from the Central Social Welfare Board

3) Central Old Age Welfare Board or Welfare Commissioner

4) Central People Welfare Board or State Cooperation Board

RIER 3elel UM ST
a) AT GE3M & AISHT AR MRy AT 9w AlegeR 9/%8 3FFe) FIAE HRT HIthd JRo RUTT
3Tt

b) IT TSI ST 38 ATIST G o S TR T 3Ted.

¢) TP AIAIST JEIEEIE AT AT 200 I IR,

d) IHL YA BUIRATS! ST SIS ANREDIE T d qMfieh 3=l . 92,000 Y& SR 378, ATcidhgd
UfcHTE ®. 400 Yoo IMBRa AL SuITd A,

gt SR :

) (a) Q) (b) 3) (©) 8) (d)

Point out the correct statement :

a) Matoshri Vruddhashram, this scheme was started as per Government Resolution dated 17
November 1994 through NGO.

b) Under this scheme 34 Matoshri old-age homes are functioning in the State without any grant.

¢) The approved number of each Matoshri old-age home is 200.

d) For admission, senior citizens who have their own annual income of Rs. 12,000 admission is
given for a fee of Rs. 500 per month.

Answer Options :

1) (a) 2) (b) 3) (¢) 4) (d)
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gTeteTdehl PIUT AR TR AR STRTICIh FRIER gg M7 TIPRIATS! Hgeara! fHeT Mg ?

q) A1 W1 FG R) g€ P BRIHHA  3) ARAT JGBH %) EUTS

Which of the following Indian NGO has been working for elderly people at International Level?
1) Maternal Service Group 2) Walfare of Old-age

3) Indian Shelter of Old-age 4) Help-Age

fehe TSI PITRATST el ST ?

a) AR PROMTAT TDhrT TS b) T FROM=AT AR

c) RISt d) TourTS!

RIeTiht PO TaTT aRIER 3R/ 3R ?

) b () R) Weh (d) 3) B (¢) 4) (a), (b) 3for (d)
Day centers are established for whom?

a) for children of working parents b) for working womens

c) for the elderly d) for the young people

Which of the option(s) given above is/are correct?

1) Only (a) 2) Only (d) 3) Only (c) 4) (a), (b) and (d)

ST WSB! HIorh e ghht amed ?

a) TERTY AT AN 1 [AAmT=ia Feid! SRAigR ‘'garsM’ " & AT O o shvies
U560, / 9053 /88%8Y /T, faTh 20/02/9R8Y 3Rl o PRUITT 3ol

b) T ST FRIIe TR 33 JGBM 3FCH dweR o 3.

) IEHH €4 IaRIS GOF 9 €0 auiaRIe RaIT waer <vand Al

d) ¥cxd gesM FRIUR, FRIFT g s S8 AMRSISH e

i SR :

q) (a) 3mer (b) ?) (c)&Hfor (d) 3) (a) 37T (c) 8) (b) 3for (d)

Which of the following statements about old age homes are incorrect ?

a) Vruddhashr8ol Echeme was implemented through NGOs under the Department of Social Justice,
Government of Maharashtra initiated under SW/1063/44945fN dated 20/02/1965.

b) At present, 33 old age homes are functioning in the State on a grant basifi through NGOs.

¢) The old age home admits men above 65 yeafs of age and women above 60 years of age.

d) The old age home is for the destitute, homeless and disabled senior citizens.

Answer Options :

1) (a) and (b) 2) (c) and (d) 3) (a) and (c) 4) (b) and (d)
feTdherd TSI BITRATST el ST ?

a) AR PROMAT TDhrAT TS b) At FROM=AT AR

c) gGRATS G INIG]

TRt PO TaTT aRIER 3R/ 3R ?

) b () R) Weh (d) 3) B (¢) 4) (a), (b) 3for (d)
Day centers are established for whom?

a) for children of working parents b) for working womens

c) for the elderly d) for the young people

Which of the option(s) given above is/are correct?

1) Only (a) 2) Only (d) 3) Only (c) 4) (a), (b) and (d)
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%%y A T BRI HHGIH GO Dol Sioxl Mell IET gguepies Faet I Ao Aguia
GTSIGUD! DIV fae /faum g ame/emed ?
2) TN W WSS Y TMRBHAT MAH FRe& TGH PRUIRISH
b) T AT AT Yo IuTeRIe hi<T X HET 00 BR JATOT §0 IYTEIT ST FITT hiAT 400 TR

gfcmfear et 9a+ & S
I IR :
9) %k a Q) Bh b 3) a3 b ¥) RIS AT

Which of the following statement(s) is/are incorrect regarding the Indira Gandhi National Old

Age Pension Scheme launched by the Ministry of Rural Development in 1995 ?

a) To provide financial security to senior citizens living below the poverty line.

b) Under this scheme persons above the age of 50 years are provided with Rs. 200/-per month and
Rs. 500/- per month for those above the age of 60 years.

Answer options :

1) Only a 2)Only b 3)aandb 4) None of the above

ggTefies BB G & ST @iesiesiehl Brrell Tisedes e ?

9) e ?) §93 FrRE R 3) IRIND SiaeseT ) NI ET
Long-term insomnia among old age people has been linked with which of the following ?
1) Depression 2) Poor Mental Health

3) Physical Dependency 4) Declining Memory

Gleiieie! I e ghrar ae 7

a) JENIGI CARGM TRd QTRTDRT I STARIDIT T, 3G, 3TSTRT, IRIGeid Jgidl G HRUIRITS!,
T AT ISIRY ¥ad0] SgTugeiichs IR SAOUITHNAT g el Stiarean fafdy swadia
AR AT PROIRAIS!, Ay HeamurpR! Jar gRg. 2fehard.

b) FTEHAT IRSTIN T JEe! Bldoil &l HRATAA 372 &3 JATE T TR TR e IRURHT STIHd,
ety / fohan ey plossil. AT I I, fcsd Ael d SaREd 9 e
IRIHIT FEIMT Sl {FehT IR U 3R,

g IR :
q) Sl fau™ 9@ emed. Q) Q! fauM sRER arR.
3) Bh UM (a) 9P IMMR. g) Wh faUm (b) TP 3R,

Which of the following statements is wrong ?

a) Torehabilitate disabled, 111, dependent aged, to bring them back to their pre illness, independent
pattern of life as well as to address their problems in different spheres of life, geriatric hospitals
as well as government-voluntary organisations can provide various welfare services.

b) Elder abuse and elder care are the areas in India in which state, NGOs and even international
and national non-governmental organisations have arole to play through medical or professional
are model of services, in favour of Indian cultural tradition.

Answer options :

1) Both the statements are wrong. 2) Both the statements are correct.

3) Only statement (a) is wrong. 4) Only statement (b) is wrong.
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YD DIV, FEDIH FHISI gl FHHT IR AR FFAT 7787 2
a) T 3Neavteft W\ﬂﬁﬂg

b) e RO HHTSIT GRIGCIUT § HEHTR

) IRIR® T ARG SINIRYUTNT HEoead! SIuaTl Rt

d) Jifea e g foRepadtaaon

g IR :

9) IrchieT PITIE! THRT ATEY. Q) T AR IR,
3) Wk (b) T (c) TERT 3T, Q) Beh (d) TIRIT 3R.

Which of the following is not a problem faced by the elderly people in the contemporary society?
a) Issues related to their identity

b) Alienation and discrimination in society due to various reasons

¢) Vulnerability to physical-mental illness

d) Organic disorder

Answer options :

1) None of these is a problem 2) All are problems

3) Only (b) and (c) are problems 4) Only (d) is a problem

...... HATUTATS! STenfiidhiaur Seiedr Semed SRafa™T ... th U Bri 3.

9) TRIR Rerea R) dTTdh 3) TAIgg AP ¥) Tt
Geriatrics is one of the major activities for the welfare of the ......... in industrialised countries.
1) Pregnant women 2) Children 3)Aged 4) Farmers

TERTY SRR o Meft FRIYR e AeHamed @lelidl U™ faR &,

a) T AISTICAI PRIUR ehisRIgR 31 Fel, Teehlied Higer T GUR WM TSR rral qHrael
g,

b) IT AHcRia 3 e fHuATBRAl HHIeT RIS €0 ay gadl fead HRuaTd areft 31

¢) T ARG T Al Echic AR ©.£00 3 3M11Rid. 3 fael STEe.

d) TehT P TehTUEH SR T HTRIT SRICIRT T PeaTd ATl ARedeal JHIOI fefes 3raM et

SIESS

Rietieht PIUd U /U™ aa Jied ?

q) FRAIR G U AR 3. ?) (), (b), (c) fdum 7 amed.

3) (a), (c) faum I 3rmed. %) (a) fau™ I TR,

Consider the following statements about Sanjay Gandhi Niradhar Anudan Yojana of Government

of Maharashtra :

a) Along with destitute persons, orphan children, divorced women, persons suffering from major
illnesses are included under this scheme.

b) The upper age limit fixed under the scheme to get financial assistance is 60 years.

c) Each beneficiary will get financial assistance of 7 600 per month under the &hem.

d) Family having more than one beneficiaries will get financial assistance in proportion with the
number of beneficiaries.

Which of the above statement/statements is/are correct ?

1) All statements of the above are correct. 2) (a), (b), (c) statements are correct.

3) (a), (c) statements are correct. 4) (a) statement is correct.
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IR Iehid! (R URTIRATS! SR @letiedehl PIoreT AISHT / RS bedl el ?

a) g TR TR AT b) i1 melt i s MgRae aomT
c) I frafea are d) TRDAT IRRT IHTANATS! TET Bried
gl SR :

1) (a), (b), (¢), (d) R) (b), (¢) 3) (a), (d) 8) (b), (d)

Which of the following schemes / provisions had been made by the government to improve the
condition of the aged persons?

a) Central Government Health Scheme (CGHS)

b) Indira Gandhi National Old Age Pension Scheme (IGNOAPS)

¢) National Pension Scheme (NPS)

d) National Programme for Health Care of the Elderly (NPHCE)

Answer Options :

1) (a), (b), (c), (d) 2) (b), (¢) 3) (a), (d) 4) (b), (d)

DT AT HSHIT DT PTal Feh UGH DRUAT S 3Ted

a) DPIUTE! WSHTT T PRl IR [T IUGHeY Ul

b) FHYGD T, QAehid! FUBRD IR e g1 S geh 3.

¢) TURIUIT Tes, ST WIS SRS STYUATE] ST 88 3TTg.

d) IR AIATS! S Yemdt et v &s.

Rl I e/ bRt 3/ 3ed ?

9) & (d) ?) (c) 2T (d) 3) AUh T ¥) qIBUDT ATt

Some rights have been provided to the patients under the medical services :

a) To make available health services without any discrimination.

b) Itis the right of the patients to receive respectful service, getting solutions and clearing their
doubts.

c) Itis the right of the patients to protect their privacy during medical check up.

d) Right to receive the receipt of the amount paid for medication.

Which of the above statement(s) is/are incorrect?
1) Only (d) 2) (c) and (d) 3) All of the above 4) None of the above

JEIEEAT M AFRID IR AT AHId Bl [Tem:
a) o HMUCIIDS Godl, Aalgral 39d & AT 3ATe5e3] TeplehlquT.
b) JEERAT I Al AT qSihgd Hed &Ta! SR,

¢) gigT IRAR BIURT SUHAM T 3gel.

d) B PRUITE TSI IS D PRUANIS ARIND UL

RIGUD! DU /I SRR 3118/ 3Mmed ?

9) FH (a) ?) (a) MM (b) 3) (c) 3mfor (d) 8) TS A

Some statements regarding to stages of old age and mental health :

a) Ignorance of parent by their children, Lack of communication leading to loneliness.
b) Seeking help from children due to no source of income due to old age.

c) Repeated insult and negligence from daughter-in-law.

d) Lack of physical capacity to work though willing.

Which of the above statement(s) is/are correct?

1) Only (a) 2) (a) and (b) 3) (¢) and (d) 4) All above
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qq) fecamTiear ww=m
feeam eg<hiear gererlel Agh JIFRAT IRRIeT (F U Al IR 01 S) YRAH el gl fefl ?
9) 2000 ) R 3) 2099 8) 009

When did India ratify the United Nations Convention on the Rights of Persons with Disability
(UNCRPD)?
1) 2007 2) 1999 3) 2014 4) 2001

Y A" feaanr wafthear seammeft waftg fafdy sfefem goifodr R Wy 'B' @rar iffmar oy
ARId FRATT. AR SISl SUfIUIRT g s,

Y 'A’ w4 'B'
a) feeimom erfteRar s i) 2016
b) WR<R Har aReg sffiae ii) 2014
c) Reriem sileR siffam iii) 2017
d) ARy e siRiftRE iv) 1992
R SR :

@ (b) (o) (d)
9) (i) (i) (1) (@{v)
Q) (i) @Gv) (1) (i)
3) () () (i) @Gv)
8) (i) (1) @(dv) (1)
Column 'A' indicates various acts related to the Welfare of disabled persons whereas Column
'B' indicates year of their enactment. Select the option indicating the correct pairs.

Column 'A' Column 'B'
a) Department of Empowerment of Person with 1) 2016
Disability (Divyangjan)
b) The Rehabilitation Council of India Act i1) 2014
c) Rights of Persons with Disabilities Act 111) 2017
d) Mental Health Care Act iv) 1992

Answer Options :

@ M (© @
1) (@) (i) (G) (@(v)
2) (i) @v) (1) (i)
3) () (@) (i) @Gv)
4) (i) (1) @Gv) (1)

Hh Y IARIHT ... T OYh I U IhRIS quIeh’ WU Blfyd dhes B,

9) 1995 — 2004 ?) 1988-1992 3) 2000-2010 8) 1973-1982

‘United Nations Decade of Disabled Persons’ was proclaimed by the UN General Assembly from
1) 1995 — 2004 2) 1988-1992 3) 2000-2010 4) 1973-1982

"3 GANTIS] VBIHP G I ... T G B! e

9) 99¢4 ?) 9904 3) 98¢y &) 9994
Scheme "Integrated Education for Handicapped Children" was launched in ......
1) 1965 2) 1975 3) 1985 4) 1995
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IRRTIE 31Raer R dhier uRecdt FTuAT ... RIS

) 9RYo ) RYR 3)ARER 8) I%&Y
All India Sports Council of the Deaf (AISCD) was established in ......

1) 1950 2) 1959 3)1962 4) 1965
Siream srar

UDID &Eam< (A) TATeart g (B)

a) Uiex BT i) ¢0% e 31fIep 3y

b) o &1 ii) 80% — ¢0% HEA U

¢) s are iii) 0% Ue FHHY 3T

gl SR

9) a- iii, b-ii,c-i R) a-i, b-ii, c-iii 3) a-ii, b- i,c-iii ¥) a-1i, b-iii,c-ii
Match the pairs :

Colour of UDID Cards (A) Severity of Disability (B)

a) White Card 1) Disability above 80%

b) Yellow Card 11) Disability between 40% and 80%
¢) Blue Card 11i. Disability below 40%

Answer options :

1) a- 111, b-11,c-1 2) a-1, b-11, c-iil

3) a-ii, b- 1,c-1ii 4) a-1, b-ii,c-ii

498 Jefiet feeimraTeh TAM el FuarTel srTeled IFT T ... TIRTS Jare e AT e,

q) ©. Sl fear Q) IS 3) fS . 8) MG

The National Society for equal opportunities for the Handicapped, Bombay, has also instituted
...... Memorial Award Fund.

1) N. D. Dewan 2) Ramkrushna 3) D. N. Dube 4) Ramanand

3T TTER ST HE0T SHTRITSIAT JIETT AL TIefrh e Po Med ?

a) PIBHIT, AT b) RIpeRIETg, STHST ¢) I8, IMEHCEIS d) &, JeRE
Rt SR

q) (a) ST (b) R) ®h (c) 3) wh (d) 8) (c) 3Mfor (d)

Where are the regional centres of Ali Yavar Jung National Institute of Speech and Hearing

Disabilities ?

a) Kolkata, Noida

¢) Chennai, Ahmedabad
Answer Options :

1) (a) and (b) 2) Only (c)

IR BrepHICR (STRRISIT) STHTRAITSTET FeeT

9) 495 ?) DIBHE

b) Secunderabad, Janla
d) Lucknow, Ludhiana

National Institute for Locomotor Diaabilitiea ia located in

1) Mumbai 2) Kolkata

3) Only (d) 4) (c) and (d)
........... e 3R,

3) gt 8) o9

3) Delhi 4) Chennai
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IR G IS AARhIBROT AT ... qe g

q) TR Q) SRR 3) SERrgd 8) e
National Institute for the Empowerment of Persons with Visual Disabilities is located in
1) Mussoorie 2) Jaipur 3) Dehradun 4) Shimla
SIS & :
T AT EIE]
a) F9FeT 3RCRIE BR fegsgare gelote i) 993
b) FeHd sRESC BR ATfUfSHe grohee i) RydeRreTg
¢) e 3RTSE BR Heell grolhts i) SErgd
d) 3fell IR S FoHd 3RecIe BR R geirs iv) Plerdm
i SR :

(@ () (¢ (@
9) (i) @{v) () (i)
) (i) (i) @Gv) @G)
3) () Gi) (i) (@v)
g) (i) @Gv) (i) @)

Match the following :
Institutions Places
a) National Institute for the Visually Handicapped 1) Mumbai
b) National Institute for the Orthopaedically Handicapped 11) Secunderabad
c) National Institute for the Mentally Handicapped 111) Dehradun
d) Ali Yavar Jung National Institute for the Hearing Handicapped 1v) Kolkatta

Answer Options :

@@ (b) (o) (d)
1) @) @Gv) () (i)
2) (i) (1) (@Gv) (@)
3) () (@) (1) (@Gv)
4) (i) (v) (@) (1)

RGTAIAUDT DI STTARTERT FESHT STUTIT HATITRITS! BRI dxId ATat ?

9) IASSW (3TRITHTHSR]) )WHO (Sseguaat)

3) UNESCO (Z-%) 8) ILO (3TIuatal)

Which of the following International Organization does not work for the Welfare of Disabled

Person ?
1) IASSW 2) WHO 3) UNESCO 4)ILO

3T RISUTRNGT, AR S doel A Fd ARAT TINIST F9 e e daR et df ...
T @M Sl ST,

q) I g R) WK S 3) Sfea sel 8) it geT W

For the education of the Blind, the Indian Expert Braille Committee worked out a common Braille

code for all Indian Languages known as ......
1) Central Braille 2) Bharati Braille 3) Indian Braille 4) Blind Braille Language

3IYh / AfRIHTRY FHTSTHIToT Wl URteT / 948
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99) SISSIRICIE
(ReaimesRar (PWD) GReR SUR) (S=291)
a) JE RN i) TfreoT, GeRi, YRoY, BRI SATor ey fareror
BICACIEUEE]
b) G iRy i) 37 PRI TEIATIH! THRATER T hRUl.
¢) ¥R 3w o g farT meMes (NHFDC) i) 37e &J=hiFT Ak ol 37T SIfIeR o,
d) Saf TRl IR SRR iv) ST 37Tfefeh faehrarATS! Ul i e
foeaTRa &,
i SR :
@ M (© @
) Gv) () (i) (D)
) Gi) Gv) () (@)
3) i) (1) (@Gv) (i)
8) () () (@Gv) (D)
14) Match the following :
(Geovernment Measures for (Objectives)
Persons with Disabilities (PWD))
a) The National Trust 1) Regulating training policies and programmes for
rehabilition and special education
b) The Rehabilitation Council 1) To deal with multi-dimensional problems of the
disabled population
c) The National Handicapped Finance and 1iii) Enable and empower persons with disabilities
Development Corporation (NHFDC)
d) The Apex-level National Institutes 1v) Extends credit facilities to persons with
disabilities for their economic development
Answer Options :
(@ () (¢ (@
D Gv) @) (@) (1)
2) (i) Gv) @) (@)
3) (@) 1) G@v) (i)
4) () (@) @Gv) (i)
94) AMRID UG LT FEAT DIV g FATAUIT 3TTet! 2
a) AR RIS @Il T fdepRict ehrul.
b) AR NUTTCa AT FAYT UL,
¢) AFRIP fIhetiTRAed B dRUIRITS AFd IxATe fAehRITer S <o,
i SR :
q) (a) 3T (b) R) Wt (c) 3) (b) T () 8) ¥4 (a), (b) 30T (c)
15) For which purpose was the National Institute for the Mentally Handicapped (NIMH) established?

a) To develop models of care for the mentally handicapped.

b) To conduct research in the area of mental handicaps.

¢) To promote human resource development to work with mentally handicapped.

Answer Options :

1) (a) and (b) 2) (c) only 3) (b) and (c) 4) All (a), (b) and (¢)

3ITYH / AfABRY FHTSTHEATIT W TRA&T / 9€0
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WTefletdhT PR e ghrr amg 2

a) Qe FRYT eam RIE) ST Sgaielt SR d Jod: SRATRT ORid EHIINT 31U TEd.
b) STCRIIFR 3G I 9R¢R WTel! UTBUATT 3ATe.

C) SUTRATS! SNTRRTFT TAH 9]¢ T 9]%9 I YIS 3Te.

d) AT TS BT ¥, JATAT RaGaea ST HRuAER W .

T SR :
q) AU (a) T (b) Fehra M. R) U™ (a) THH 3R,
3) fAUm (a), (b) 1M () FHR 3. g) fau™ (d) wh IhH 3R,

Which of the following statements is wrong ?

a) Even if adequate facilities are given, handicapped mostly remain handicapped, as they originally
are, forever.

b) International year for the handicapped was observed in 1982.

c¢) Intenational decade for handicapped was observed from 1982 to 1991.

d) Article 41 of our Constitution gives special emphasis on promotion of interest of handicapped.

Answer options :

1) Statements (a) and (b) are wrong. 2) Statement (a) is wrong.

3) Statements (a), (b) and (c) are wrong. 4) Only Statement (d) is wrong.

feeiTSTraT g (3R U S St) ST am Jegel Wieflel T qum.
a) PRI T Tt q© g7 QR R dTefdat.
b) IT BT SNSRI AGHE divca, Siciol aerd 9TST el M7 o b fAdsdt aram |

Fal 3.
Tt SR
9) (a) fqum™ I/ 3MR. ?) (b) fear I 3R
3) WRAUDT el faem I 3. 8) aRIcTud! qval faum SRIwT 37TRd.

Check the following statements about the Rights of Persons with Disabilities Act (RPWD).

a) The act expanded the list of disabilities from 17 to 22.

b) The act has added dwarfism, speech as well as language disability and three blood disorders in
the list od disabilities.

Answer Options :

1) (a) statement is correct 2) (b) statement is correct

3) Both of the above statement are correct 4) Both of the above statement are incorrect

RGTAIAUDT DI STTARTERT FESHT STUTAT HeATOTRITS! BRI dId ATar ?

9) IASSW (3TRITTHTHSR]) )WHO (Sseguaa)

3) UNESCO (Z-%) %) ILO (3TIuatal)

Which of the following International Organization does not work for the Welfare of Disabled

Person ?
1) IASSW 2) WHO 3) UNESCO 4)ILO

3T / NS FHTSTHSATIT W TRA&T / 9€9
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49 A SRTelel AfRTeR ST MRy AEITT SIS WTefier ioret U™ 3rge 3med ?
a) ford qreg PRt g ST S1@ur Sremdrd &5 SR
b) firar faemiesor &t areman o
¢) ... gt oy R, EHSEIE ¥ AT HIARTDR fREuIRaTe 3R,
d) forft eI 9%¢ 3 HEY Tet.

R SR :
q) Heh (a) 3D M. R) Wb (b) 3D IR
3) W (a), (c) 3TT (d) 37D 3. 8) dIcT T4 D 3.

Which of the following statements are correct in respect of Ali Yavar Jung National Institute
located at Mumbai ?

a) It’s thrust area is Speech and Hearing Disabilities.

b) It specialises in vision disability.

c¢) It’s ad ministrative control extends to CRC Bhopal and CRC Ahmedabad.

d) It was established in 1983.

Answer options :

1) Only (a) is correct. 2) Only (b) is correct.

3) Only (a), (c) and (d) are correct. 4) All of the above are correct

31er faeneaiRardiear Yeptfchep freMumeT Heaad I ............ e UTH e,

9) A9TafT e BRI R) I Al Beh ARG T HYUT HBHRT PRIGT 9RR Y.
3) fareoman 31ferPR 008. ¥) HTfearar PR 090.

The integrated education for disabled children has occupied centre stage as per ......
1) Inclusive education act

2) Equal opportunities, protection of right-and full participation act 1995

3) Right to Education 2009

4) Right to Information 2010

fecamTorTeaT geiaNies T X1¥ UREE, 200§ TAR e NF TR DIV SRR 38 ?
37) gRSCTT SRS SHeSToTauit

q) STedT BRI URYS d1ed gE

P) JTFET g3 TIR BRU]

3) ReanoM g8 T g Quard Had ol

gt S

9) Beh 3T, 9, © ) FhE, B, S 3) Beh 3T, 9, B ¥) ISUH T
What are the important obligations of United Nations Convention on the Rights of persons with
disabilities, 2006 on each state party ?

A) Implementation of the provisions of the convention

B) Harmonization of the country laws with the convention

C) Preparation of a country report

D) To help disabled persons realise their rights

Answer options :
1) Only A,B,D 2) OnlyB,C,D 3) Only A,B,C 4) Allof the above

3ITYH / AfABRY FHTSTHEATOT W TAET / 9§
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faeaTT e fremr g UfTemmIch YRA Wieiaud! HIvT THE BRISGHET THEeT gl ?

A) TARERIG BT oy T, B) SaRa=ATd ST

C) i gorre fae famdt amer D) e gorme! fae feawa—emer
gl IR :

9)a,b,cad J)bac 3)b,cad )cdad

Which of the following the Chief programmes for the education and training of Crippled children
in India are included ?

a) bed side teaching in hospital

b) school units in hospital

¢) special residential school for crippled children

d) special day-school for crippled children

Answer options :

1)a,b,candd 2)bandc 3)b,candd 4)candd

feemTSTraT g (3R Ul S ) ST aw Iegel Wieflel [T qur.

a) DRI RS 1G99 T 2 G dTafde.

b) a1 BT fSANSHRAT AT S, Sieul dg v fHerhdT ST ofiF Wb fagedt aiam |
Pl ITR.

g SR :
9) (a) o= ar ame. R) (b) faum™ I 3R,
3) SRicTidhl Sl fau™ AT 3. ) IRt qal fae™ SR 31TRd.

Check the following statements about the Rights of Persons with Disabilities Act (RPWD).

a) The act expanded the list of disabilities from 17 to 22.

b) The act has added dwarfism, speech as well as language disability and three blood disorders in
the list od disabilities.

Answer Options :

1) (a) statement is correct 2) (b) statement is correct

3) Both of the above statement are correct 4) Both of the above statement are incorrect

9?) A9 et Tree, FeitauRitrear AT 9 SUr

URT ARBRT ST (DBT) Jo™ieHid ... g foum /i Iy amg /3.
a) SIS JISFT HRA TRPRA T 09Y HL Fd Dl

b) ‘U8l AR AloHd S 3neerRt uRum gRaeer 31mRd.

c) ST AT g et |Aid wReelt Aea aied.

Tt SR
9) fIU™ ¢ SRR 3R ) fIU™ a g b R 3R
3) fau™ b RISR 3R g) fIUe a sRIsR 3R
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...... 1s/are correct statement/statements in reference to DBT scheme (method) of Government of
India.

a) DBT launched by the Government of India in the year 2015.

b) DBT has shown promising results in scheme like Pahal.

¢) DBT scheme’s main funding sources are foreign aid.

Answer options :

1) Statement c is correct 2) Statement a and b are correct

3) Statement b is correct 4) Statement a is correct

IS AN Al BRIk (TH.0A.0UL) & YRA RORA ............ AT JT§de STTUTRT
FHATBR! DRIHH TR,

) AHTTS IR 30T A [hRoT ) HEHR

3) Pl 3TIfOT et e ) TTHT foErT

National Social Assistance Programme (NSAP) 1s a welfare programme of governmeht of India,
administered by the ministry of ...............

1) Social Justice and empowerment 2) Cooperation

3) Agriculture and farmers welfare 4) Rural Development

TetieTdehl IV ARIAFAT FHGIH AN T R WU eFHedl Bl Hes ATat ?
q) PIURIIE FFAISY Geh

?) 3Mfeey anfeard! Terdler |d R

3) STATHS PIVCIEl STHIF T8l 3 ATHOR

8) FRIUR 3Riciel &R SRR gogd

Which of the following is not the eligibility criteria of the priority Ration Card by the Government
through inclusion guidelines ?

1) Any transgender person

2) All households belonging to primitive tribal groups

3) Agricultural labourers who don’t own any land

4) Household with destitute living on alms

T He Hdel! gl ?

q) T P FEpR! fauvE HeRiE (NAFED)

) I HepR! fap™T "gmes (NCDC)

3) TET PIRITREIE AT 31 3fsar (NCUT)

8) IR FEDRT Pl 30T ATHIOT fABRT b thewe™ (NAFCARD)

Amid Covid Surge, the Union Health Ministry has sought the help of which cooperative
organization to provide crucial medical supplies to upgrade health-care infrastructure ?

1) National Agricultural Cooperative Marketing Federation of India (NAFED)

2) National Cooperative Development Corporation (NCDC)

3) National Cooperative Union of India (NCUI)

4) National Cooperative Agricultural and Rural Development Bank Federation (NAFCARD)

3IYH / NFABRY FHATSTHSTIT @I TRI&T / 9E8
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3T JRIGIC T SToflg g et ?

q) 31 g P FEeHTT 9]0% T SITRId 37 IRy
Q) 3 g Pl FETT 9R6R T SIAIfh 37 IR
3) 3T T PNl FECTAT 9]¢ T ST 3 giRsed
8) 3=l & Pl FECTeAT 98%Y T AT 3Fel URTe

When food security issue was first time realised ?

1) In the 1974’°s World Food Conference of the Food and Agriculture Organization
2) In the 1979's World Food Conference of the Food and Agriculture Organization
3) In the 1981’s World Food Conference of the Food and Agriculture Organization
4) In the 1994’°s World Food Conference of the Food and Agriculture Organization

Elefier U™ feRd =i :

a) RT3 IR&T SRR g i fder o S,

b) T 37 JRe ARRIM MRT 000 ALY Jeo PRUAT 3Tel.
¢) ERT 37 JREM MU el AT IRFT GAadl Ul 377,

NI P/ Rum /= aRiaR 3R /3med ?
q) A (a) 3T (b) RITR 3MMed ?) Faw (b) 3T (c) R 3
3) Pde (b) IR 3T 8) TR TF R MM

Consider the following statements :

a) The National Food Security Mission is a crop development scheme.

b) The National Food Security Mission was launched in August 2007.

¢) The National Food Security Mission aims at restoring soil health.

Which of the statement/s given above is/are correct ?

1) Only (a) and (b) are correct 2) Only (b) and (c) are correct
3) Only (b) is correct 4) All of the above are correct

93) TR, YAEH ATHOR, ISR SFoR (fAAT: Sdls BrFIR) Jrea

)

1)

?)

HHAT 9 34T

"'IFE g HIR PIUALA S TRl o s afeifsied, Refaferce aie Refeeric, siae 2093"
IR A it o ... SIERICEASEIE BRI

9) a¢ ?) R 3) W ¥)

As per the "Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and

Resettlement, Act 2013" planned settlement would have minimum ...... facilities and resources.
1) 18 2) 22 3) 24 4) 25

Herg IRRGS! IEEd IR faer= s,

a) TG ITAETAT TS (STUM) I SATetedT IRYed 9¢ JT™ 09Y ST 8T SRREST AR HRUIT ATl
b) TR BUMIT JREHAR T IRISIAT SURIAISHIET 8T ARRIST 3.

C) SR RIS g ARRGES! 8 gad IRRl 3178,

d) I RGNS TS AT PR FUFDRD 37T

3ITYH / AFABRY FHATSTRSATIT @I TRIET / 98Y
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T SR :
q) (a), (b) faem I amed. ?) (b), (c) Rum ImT amea.
3) (), (b), (c) fearm Iy 3. ¥) TRITUh I U™ TR 3.

Select the correct statement about Sendai Framework.

a) This framework was passed by United Nations Organisation's conference at Sendai (Japan) on
18" March 2015.

b) This framework is regarding measures for Disater Risk Reduction.

c¢) Thisis a onward step of Hyogo Framework about disaster management.

d) The provisions in this framework are binding on member countries.

Answer options :

1) (a), (b) statements are correct 2) (b), (c¢) statements are correct

3) (a), (b), (c) statements are correct 4) All of the above statements are correct
faeTo SRl Sl Aew T -

a) fIPrRITST fawoITos del ST /oS fderT &1 faema=T IRa el

b) T i GdTd Sfia- IgEa gl

¢) IRIDIT TAVGR NhHT Gl SIHIER gedel S
d) foeenfidiqr Fdie amfoe Sfameht g aferonsft FHERIST AR .

RIGTUeh! 2IUT AT Fehtar /Fehiel TR/ AT ?

) ®h (c) R) Wh () 3) (a), (b) 31N (c) &) RIeSHT el
Some important issues regarding the concept of displacement :

a) Displacement for development means development inspires displacement.

b) The earlier life of the people gets destroyed due to displacement.

c) By the government system the people are displaced from their previous place.

d) Displaced people have to adjust with new social life and environment.

Which of the above option(s) 1s/are incorrect ?.
1) Only (c) 2) Only (a) 3)(a), (b) and (c) 4) None of the above

TR I 3Mffes RN URUARIG! 8 3/t ORI, IT SchleRIeRd :

a) Uit -fiieh IRFRUHER HAIG PRUTRIS! JUT Algel S

b) enfifs B & TR Bll.

¢) AT JE TR ST Alh TR PRAT.

d) IRAR U7 A fiieh AN Alh TR PRI

RIGTUeD! 2pIuTe e/ faerm et 3fTe / 3 ?

) ®h (b) ?) (b) 3T () 3) (a), (b) 37N (c) &) Reihr &
Migration mainly happen to improve the economic condition. Along with this factor :
a) Original place is been left to beat up the natural adverse conditions.

b) Migration due to religious persecution.

c¢) People of continuous war affected countries migrate.

d) People also migrate due to continuous natural calamities/disaster.

Which of the above statement(s) is/are incorrect ?
1) only (b) 2) (b) and (¢) 3) (a), (b) and (¢) 4) None of the above

3IYH / JNFABRY FHATSTHSATIT @I TAET / 98§
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9Y) IRTHfT BRI TRAT 4 SU™T

a) 9%9% |Gl SACTRIET HFAR FHSTe! T HRUITT ST

b) 93¢ ATell NTRRIERT BIFIR HGSAT &l FYch AT fgel! faendiepd Tt s

) %R WTel IRRIEI BIRIR FecH el DR DR SATTRIERT PRIH F= el

d) LT THUT 9609 U IATTRTERT DHIR Focd AR 3Tedl.

RIAUD! I I ot ?

9) (a), (b), (c) faum™ arg 3meq ?) (b), (¢), (d) ™ IR 3mea.

3) (), (b) fam a7 s, 8) dRieh! Fd AU IR 37Ted.

a) International Labour Organization was established in the year 1919.

b) Inthe year 1946 International Labour Organization becomes the first specialised agency of
United Nations Organisation.

c) In 1991 International Labour Organisation launched international programme for the
elimination of child labour.

d) Atpresent total 167 countries are the members of International Labour Organisation.

Which of the above statements are correct ?

1) (a), (b), (c) statements are correct. 2) (b), (c), (d) statements are correct.

3) (a), (b) statements are correct. 4) All of the above statements are correct.

BIRIR =AY A ... W RISIEIC SN

q) STret FEE (9R8E) Q) TR AFEET (9%49)  3) T AT (9%8E) @) U A (9%89)
The Labour Investigation Committee is known as the

1) George Committee (1946) 2) Gore Committee (1951)

3) Rege Committee (1946) 4) Paulas Committee (1947)

TERTY AR HIIR S0 HERid H HHFIR S0l Hewrhs hell Ja& defl ?

q) 3TRE 9%43 Q) St 443 3) 3RS 9RYY 8) ol RYY

When did Government of Maharashtra handover work related to Labour Welfare to the Labour
Welfare Board ?

1) August 1953 2) July 1953 3) August 1954 4) July 1954

ATttt Pt e /fum am e/ 3med ?

a) T JTERT S/ ST (TTHITeT) RO % f3RiaR 9R&¢€ Sit STl

b) =Rl dY. 1. ToiGTSaR g UM IR A SRINT 37eTE gl

C) TERT AL 37 AT (Tfiver) 9y fdeieR 9388 ol T FRUIT 3.
d) Al AT 3 SE=AT IS 39 SR ALT& Bl

IR I
9) (a), (c) fau™ Irar 3. ?) (a), (b) Ry v amaa.
3) (b), (c) ™ T amed. ) eIl e faum arg amed.

Which of the following statement/s is/are correct ?

a) The First National Commission on Labour (NCL) was set-up on 24th December 1966.

b) Justice P.B. Gajendragadkar was the Chairman of the First National Commission on Labour.
c¢) The Second National Commission on Labour (NCL) was set-up on 15th October 1999.

d) Ravindra Varma was the Chairman of the Second National Commission on Labour.

3IYH / BT FHTSTREATOT W TRAET / 9§
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Answer Options :
1) (a), (c) statements are correct 2) (a), (b) statements are correct
3) (b), (¢) statements are correct 4) All of the above statements are correct

93 T JFaI¥ies ol (092-2099) IERIIER TaTRe Faar fremr Moo % d 1
TINTCTCles AR SRR 7T foscht g 2

) 4% e HH R) 90% T 4% 3) 9§% d 0% 8) 9% d 34%
According to the estimates of the 12 h Five Year Plan (2012 — 2017), what was the proportion of
Indian workers in the age group of 19 to 24 years who have completed formal vocational education?

1) Less than 5% 2) 10%to15% 3) 16% to 20% 4) 21% tO 35%
PIUTCT AT & BRI A TEU Sficdel S ?

9) SifSt |t R) TR Afh 3) N1 At 8) Uraerd A
Out of the following which committee is recognized as Labour Investigation Committee ?

1) George Committee 2) Gore Committee

3) Rege Committee 4) Pawless Committee

YRT TRBRA 930 T ... 3 ST oeR R FRATTHT el

9) e Q) fegt 3) g9 (31) Q) DI (FHetap)
The Indian Labour Bureau was established in 1920 by Government of Indiain ...........

1) Shimla 2) Delhi 3)Mumbai (Bombay) 4) Kolkata (Calcutta)

TR TRIEUTST WIATE VRIS el Qo) =eerm aporcht 2

9) T DS fIHT AgMees (TH. T, St «1.) R) AdSIG Wrentt ArfiqRt (RATkS)
3) PG fAPRT T3 ¢ ) TET Aeifores GRoT - 09%
Which is an institution to fund vocational training initiatives ?

1) National Skill Development Corporation (NSDC)

2) PPP in India

3) Ministry of Skill Development

4) National Education Policy — 2019

T BUD! AT B ST,

31) 209¢ HL UAHUM 4/ YR¥BR 2T <1+ S0AHEY 5/ N1, 3 IR/ faRAron iy s 8ft /49 et arem
TBR U ST

g) 209¢ T faeqeHt I TRBR & A 3F, § T F 7Y USH HRUITT 3.

&) YU ST REPR g 48R0 ALY HIFRIIC! TRH PRUIA AT

9) Beh 3, B Q) Fh F, B 3) Wb 3T, § ¥) TSUDT T

Select the correct statements from the following.

A) Inthe year 2018, the Prime Minister’s Shram Awards were given in 3 categories Shram Bhushan,
Shram Veer/Veerangana and Shram Shree/Shram Devi.

B) In the year 2018, Vishwakarma Rashtriya Puruskar awards were given in three categories A, B
and C.

C) The Prime Minister’s Shram Awards were instituted in 1990 for workers.

Answer options :
1)Only A, C 2)Only B, C 3)Only A, B 4) All of the above

3IYH / JNFABRY FHTSTHSATIT @I W& / 9§¢



90)

10)

99)

1)

Q)

For Private Circulation Only

PHREM IAIH, 98¢ aTeiieide! Hameft FEfa are ?

a) SR, GREM 37T PHedror b) I, FARSH 3T TEfmior

¢) FgeH, Tlebec] I d) 3R BHIR TeIT

gt SR :

q) (c) 3or (d) ?) (a), (b) 3N (¢)  3) FHh (a) 8) ®h (b)
The Factories Act, 1948 deals with which of the following ?

a) health, safety and welfare b) wages, recreation and housing

¢) union, lockout and strike d) unfair labour practices

Answer options :

1) (c) and (d) 2) (a), (b) and (¢) 3) Only (a) 4) Only (b)

IR 200 BT ISTTHAT SSHId 80 BPICT SRS DRI AMHTNTD FRET TIRST '/ FHIRD

SRen el Y R AT 3ol MR, AN Wielleid! DIV U /fFum R g/ 3med ?

a) T T ATEHIT Jfegsicl Alerel RIagRET degest Ufe gt shruared e Ue eyl ursset
Il 3R,

b) AR FAUFIT e RS DRUATT 3Tl 37TR.

¢) I IR TSI AHHT PR 3T e

d) I Aot IAd emareff <Rhie 71Rie . oo 3nfie WY fiet s,

g IR :

9) (a) fAu™ a7 IrR. R) (b), (c) faum T= 31,

3) (), (b), (c) TIE™ =T 3rmea. 8) AU Fqd faum I 3.

In the meeting held in September 2020 in Rajya Sabha, provision for "Social Security Fund" has

been made to provide Social Security to 40 crore unorganized Sector Workers. In this regard

which ofthe following statement/s is/are correct ?

a) Through these efforts an important step has been taken towards fulfilling pledge of Universal
Social Security Coverage.

b) Provision has been made in the "Indian Constitution" in this regard.

¢) Additional members have been included in the Commission.

d) Each beneficiary will get financial assistance of Rs.600 p.m. under the scheme.

Answer Options :

1) (a) statement is correct 2) (b), (c) statements are correct

3) (a), (b), (c) statements are correct 4) All of the above statements are correct

MR 209¢ URT TUMHAT SHU Ao (Werstelary) Adle GURUawRl @reie faum aurR.

a) fo=MM sfieR gUe (3iiEl) AT 3. 4,000 T 3. 90,000 FUIRT PRUATT T,

b) S G FwvarTe: gamaier 9¢ -0 INURT 9¢-&Y a¥ udd UTRa aRoaTT afTefh,

¢) ¢ JMRE 209¢ TR NS Wi ITSeIcdT Td= U Ple URBIATS! e fmT FRemr femm=
9 TR TUITEGHT BRI 2 ARG 31eft arefquara aret.

g SR :
9) (a), (c) oM I a1, ?) (a), (b) fem v amad.
3) (b), (¢) faEm aFg 3. ¥) IR Fd fqu™ I 3Med.

3IYH / AFABRY FHATSTHSTIT W TRAET / 9§
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Check the following statements about the modificatons in Pradhan Mantri Jan Dhan Yojana

(PMJDY) since August 2018.

a) Existing Over Draft (OD) limit of Rs.5,000 revised to Rs.10,000.

b) Age limit for availing OD facility revised from 18-60 years to 18-65 years.

c) The accidental insurance cover for new RuPay card holders raised from existing Rs. One lakh
to Rs.two Lakh to new PMJDY accounts opened after 28th August 2018.

Answer Options :

1) (a), (c) Statements are correct 2) (a), (b) Statements are correct.

3) (b), (c) Statements are correct 4) All of the above Statements are correct.

e o fqeft ardftet srfereur (T <t et U &) w1 HeHid Wiellel faummr foar ae.

a) U7 91 0t U &t g O <t U & A oo seanfaRg i GAauiame! sidietiy =IRITfiesor 31Te.

b) ™ ¥ T T & g STIcead! 3IS Sshrcdl 918 31 e fieied aeanfadg ardiel FAauic!
el =amRIfereRRuT 3R

¢) U 1 U U & g AR Tyt ST (i < o) et sneenfadg i GAravird! et
RITIIERUT 3R,

feeieh pIurdt e /faum awg ae /3med ?
9) (a) o= o 3R Q) (a), (b) o™ I 3rmed.
3) (2), (c) fau™ aw amed. ¥) TRITUdT T AU IR 31med.

Consider the following statements with respect to National Company Law Appellate Tribunal

(NCLAT).

a) NCLAT is the Appellate Tribunal for hearing appeals against the orders passed by NCLT(s).

b) NCLAT is the Appellate Tribunal for hearing appeals against the orders passed by insolvency
and Bankruptcy Board of India.

c) NCLAT is the Appellate Tribunal for hearing appeal against the orders passed by the Competiton
Commission of India (CCI).

Which of the given Statement/s is/are correct ?

1) (a) Statement is correct 2) (a), (b) Statements are correct

3) (a), (c¢) Statements are correct 4) All of the above Statements are correct

SRR TSR FHeHaTad WIBIG! g B /= asT -

a) STCRRIERT SR Fee 098 H&J 900 a7 JUfu &7 AORT Hal.

b) STARRTERT FR HeIc-T=dT Te-TdT HYal T-g3Te Metha Al ETEIETS! IR SR TR Bt
g,

¢) JNARTERT FSR HUCHT g g dgral | U TR Phel .

i SR :

9) Fh (a) R) ®h (a) 3 () 3) FH (a) MO (b) ) Feh (b) M (c)

Select the incorrect statement/s about International Labour Organization (ILO) :

a) The ILO celebrated its 100th anniversary in 2019.

b) The Constitution of ILO was drafted by the Labour Commission, chaired by Samuel Golfson.

¢) ILO was created as the part of the Treaty of Versailles.
Answer options :

1) Only (b) 2) Only (a) and (c) 3) Only (a) and (b) 4) Only (b) and (c)

3IMYh / AT TSRO @t Tterm / 960
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feafig freor g1 Iem fohar erRemmgeliss nfdevmer sry 3R, Smifewfi firerss SRaR
IR Tmey piore qrefiar FHE SRTAT ?

) IS Tfrev g Q) 3MF-g-uitg T (OJT)

3) P Pl T ufdrerr ¥) WIS Tqd

Apprenticeship training ia a course of training in an industry or establishment under a contract of
Apprenticeship Act which consists of

1) Basic training component 2) On-the-job training (OUT)
3) Practical training at workplace 4) All of the above
€9 AGRT QAT v, I ufafrefAr vhs SR STeRRTET HER e eng e

Y Y FECS IR,

9) PRICHSD, PRIGRITSH 3N IRIHSD Q) Fhidd, TFBR AT TefiT

3) TRPR, HIeTdh IO HHITR 8) Torerep, TR AT ST JERIERT pu=T
The International Labour Organisation is the only tripartite UN agency bringing together
representatives of .............. of 187 member states.

1) legislatures, executives and judiciary

2) advocates, journalists and police

3) governments, employers and workers

4) teachers, voluntary organisation and multinational companies

IR 030 T ISTFHAT SShId 80 BDICT IRAMNGT DRI AMHTTD & STIRITST '/ FHIRD
REM Ml =t RIS PRUIRT SATef! IR, AT Wlefletich! Ppiord e /e arg 31re / 3imed ?

a) T T ATEHIT Jfegsial Aleel RIagR degyst Ufie quf ehxuared e Ue eyl ursset
Igefel e,

b) AR FTUFIT IS RS DRUAT el 37Tg.

¢) ST 3TfciReh AT THEST RUANT 3Nl AR,

d) I1 Ao IAd emareff @bl A1iIe B, oo 3NfRie TR fiet s,

Tt S :

9) (a) o™ T9 . ?) (b), (c) fat T e,

3) (a), (b), (¢) faa™ I 3R, ¥) IRt Fd fJu™ I 3Med.

In the meeting held in September 2020 in Rajya Sabha, provision for "Social Security Fund" has

been made to provide Social Security to 40 crore unorganized Sector Workers. In this regard

which ofthe following statement/s is/are correct ?

a) Through these efforts an important step has been taken towards fulfilling pledge of Universal
Social Security Coverage.

b) Provision has been made in the "Indian Constitution" in this regard.

¢) Additional members have been included in the Commission.

d) Each beneficiary will get financial assistance of Rs.600 p.m. under the scheme.

Answer Options :

1) (a) statement is correct 2) (b), (c¢) statements are correct

3) (a), (b), (c) statements are correct 4) All of the above statements are correct

3IYH / AR FHTSTHSATOT @I TRA&T / 999
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AR I AT PRIST ATURS ShiT GTelietudh! PIoT S avdal avesdl Jel T ThRY HrRIq
U el -

9) FFDHT Y, IASTRYUVT AT R) ITUICq &, HIg<d AT

3) eroren o, PRAUD o ¥) Sgfedrar oY, JITRIDPR 1Y

The Employees’ State Insurance Act provides six major types of benefits to the insured persons,
except which two of the following ?

1) Medical benefit, Sickness benefit

2) Disablement benefit, Maternity benefit

3) Educational benefit, Recreational benefit

4) Dependents’ benefit, Funeral benefit

iettel fAumidT e /< /3 arg eme/a 2

a) ATCIH—JESIeh Aed U e SUHHT Ud MR SI FaReh SR FgU PHaR] & faeprarea

b) JMExIfied, 3R, WieT 3. AREAT Aal &1 T 3R S YUid: Getferd 3z

¢) TFd Y [GhRT PRI THE0 SRUARAT G qaiaeddhdl 3ied — Hare TR Sifterh!
31T Tg 3TR S Haep it Tehfreran snfor Jafehes ISTERon.

g SR :
9) Wh (a) IRT 3ITe. Q) Hh (b) 3T (c) AT 3Med
3) 59 (a), (b) 3T (¢) T 3Med ) (a) 3T (c) AT 3Med

Which of the following statements is/are correct ?

a) The owner-entrepreneur usually is the HRD Manager in a small enterprise so chances of
positive outcomes of developing employee competencies are high.

b) Inservice sector like hospitality, health, tourism etc. HRD is most neglected.

c) There are two pre-requisites of effective implementation of HRD Function - top management
commitment and HRD staff’s dynamism and personal example.

Answer Options :

1) Only (a) is correct 2) Only (6) and (c) are correct

3) All (a), (6) and (c) are correct 4) (a) and (c) are correct

Qe PIUrAT &AM 9R40-49 HEY TH Hffep dicheft HRuITT 3Teft ?

a) gl "o Hfirch b) it Hftep c) SiEnfie At d) SreamT S
i SR :

q) (a) S () ?) (c) 3for (d) 3) Wb () 8) ®h (b)

In which of the following areas First Labour Enquiry was conducted in 1950-51?

a) Tea plantation labour b) Agriculture labour

¢) Industrial labour d) Stone-quarry labour

Answer Options :

1) (a) and (¢) 2) (c) and (d) 3) Only (a) 4) Only (b)

3IYH / AfABRY FHTSTHEATOT @I TAET / 902
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WTeAIeTh] HIRTR BT LT DO ?

a) PRI 31 TNl ST d STRFT GRI,

b) BIIRFT TS T FHTET s,

¢) 3irENfieh YPHUITIRIT BIFTRIET FCHT PO,

d) SRR 9, RGBS g Sta-rean Hifie TR FURoT o,

g IR :
9) %h (a), (b) 3ATfOT () Q) b (a) 3TfoT (d)
3) (), (b), (c) 3T (d) 8) b (d)

Which of the following are objectives of labour welfare?

a) To provide better life and health to the workers.

b) To make the workers happy and satisfied.

c¢) To relieve workers from industrial fatigue

d) To improve intellectual, cultural and material conditions of living of the workers.
Answer Options :

1) (a), (b) and (c) only 2)(a)and (d) only 3)(a), (b),(c)and (d) 4) (d) only

Qrefiet fau™ foamRr e

a) T PRI JGUDIet FREMT g HHISTD AT STANTG! 2098 AL TUTHAT SN A -4
IISHT g PROATT ST,

b) FERIFIT 3T ASHRAT §,03,5¢Y Fafed SHHIRMAET fS. 39 SR, 032 wiq Aigult smerett .

TIRf SR :

q) %eh a b 3TQ R) Hh b P 3R

3) QAL a 3”7 b TP 3M 8) RIS PIUTEr I AT

Consider the following statement.

a) Pradhan Mantri Shram Yogi Maan-dhan Yojana was launched in 2019 for old age protection and
social security to organised workers.

b) Ason 31* December, 2022 in all 6,03,685 organised workers have registered under this scheme
in the Maharashtra.
Answer options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are incorrect 4) None of the above are incorrect
4) NIRRT AT 9 QU™

gROT Adeh FET AT ... Tey el gt

9) 9%3% ) AR’ 3) 9842 8) 4%81

The Harijan Sevak Sangh was established in

1) 1932 2) 1949 3) 1952 4) 1947

...... " g AR ARG PegRpd ANSTHRIT STURAT FAUT AR hedl S &l Jelid! a¥Ife,
SIRIDHIT T S ST T PeATVRIS! DRI PRI, Ya—RIe HfOTar pgHed) qael.
9) T 9%0% Q) A 4]1Y 3) 9/ R0 8) et 9]¢

3IYH / AfASRY FHTSTREATOT @I TAET / 9093
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In ...... the Central Government extended to Neo-Buddhists further facilities under centrally
Sponsored Scheme such as girls hostels, grant-inaid to non-official organizations engaged in
their welfare, admission to pre-examination training centres.

1) April 1976 2) March 1977 3) March 1972 4) July 1987

qErR gReeear (.8 A ol gfderd arey dfe & 3foT wHSIIcel geffar ecehiean

RISt el Mol ?

9) 30% Q) R%

3) % 8) 80%

What percentage of allocation of schemes of North Eastern Council (NEC) is made for
development of deprived areas and neglected sections of society ?

1) 30% 2) 19%

ST o

(31) ISfFTRE A
a) STRI

b) meft

c) gHUTC

d) agt

i SR

1) a-iii, b-ii,c-i,d-v 2) a-iii, b-ii,c-v, d-i
Match the pairs :

(A) Bonded Labour Name

a) Sagri

b) Gothi

¢) Halpati

d) Vetti

Answer options :

1) a-iii, b-11,c-1,d-v 2) a-iii, b-1i,c-v, d-1

3) 27% 4) 47%

CIRIERIC]
i) ORI

i) anfgem

iii) IR

iv) TR /Picd
V) 31y U

3) a-1ii, b-iv,c-1i,d-v  4) a-v, b-iii, c-1v, d-ii

(B)Name of the State
1) Gujarat

i1) Odisha

111) Rajasthan

iv) Mysore/Karnataka
v) Andhra Pradesh

3) a-1ii, b-1v,c-11,d-v 4) a-v, b-iii, c-1v, d-ii

WA e Do AHE UISTe! SNeie U™ HRRT 3R ?

9) ORI, IS, TS
3) geT YT, IR W, fNER

Q) FIRGS, BaRTTS, 3Nfsam
8) OfeR ST, SNfeer, 3y uear

In which cluster of the ones given below is the Pathalgadi Movement prominently operational?

1) Gujarat, Rajasthan, Madhya Pradesh
3) Madhya Pradesh, Uttar Pradesh, Bihar

2) Jharkhand, Chhattisgarh, Odisha
4) West Bengal, Odisha, Andhra Pradesh

ET ST SH SR Wieflel [ R .

a) 2008 FXY (R T HSAGORIIAR Tl IE1T AL ST ST TATIT PRUGT T,
b) T B 33¢ (3N) AL I ARG PRUATT 3ATal! 3.

) IT ARNMHEY 3reel g IUTEIeT AT IfIReh SR Y AGEITaT FHCY SR,

d) HgaRt 099 T . TSPAR A1S T AT AN feTaue FIbRel 3R

3 / NFABRY FHATSTHSTIT @I TRI&T / 908
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RIAH AR e /faem P ?
9) FRITUD Tl fau™ R g Q) (¢) faum s 3.
3) (d) UM s/ IR, 8) (a), (d) fau™ rm 3.

Consider the following statements regarding National Commission for Scheduled Tribes.

a) As per the 89" Constitutional Amendment, Independent National Commission for Scheduled
Tribes was set up in 2004.

b) Provision has been made in the regard in section 338(a) of the Constitution.

¢) The Commission incldes 5 members besides the Chairperson and Deputy Chairperson.

d) In February 2017, Mr. Nandkumar Sai has assumed charge as the Chairperson of the
Commission.

Which of the above statement/statements are incorrect?

1) None of the above statements are incorrect. 2) (c) statement is incorrect.

3) (d) statement in incorrect. 4) (a), (d) statements are incorrect.

HERTY AR SR AN, fageholidl—weaar SHIdl & fae Jnm yemrean deifors, anfeie anfir
ARG IS Wiefletidh! HIoreT AESRl FATIAT ¢ TRE 098 St e,

9) §Tet Q) IReft 3) gereardt Q) ARID

Which of the following organization was established by the Government of' Maharashtra for the
educational, economic and social developing of other Backward class, Denotified Castes-Nomadic
Tribes and special Backward class on 8 August 2019 ?

1) BARTI 2) SARTHI 3)MAHAJYOTI 4) NAYAK

S ST fenea i st AredTq RiaiT i AR oM JREpd SuSil HTeaHiea
et 9meeT B TS DITT A 3@t ST ?

a) Thae Hise fFardl Irmsmeres! b) U. UL, . 37ege HAH ITHHATE

¢) TR 2TTosT d) s1eT 3mHe A msmeTesT

gl SR

9) %h b ) Beh d 3) ¥ a ¥) RISUDT AT

What is the name of the Central government sponsored English medium residential school scheme
for providing education in English to Scheduled Tribe students ?
a) Eklavya Model Residential Ashram School  b) A.P.J. Abdul Kalam Ashram School

¢) Forest School d) Baba Amte Residential Ashram School
Answer options :

1) Only b 2)Only d 3) Only a 4) None of the above
PIUAT ISR 3NfearAt SHTchen fER WIquarel 3FeH feel ST 2

a) TSR o1 et Rt Arom b) &R T Pt fapr AT

¢) 3Nfeardt et uq IrerT d) #gremr wieht ot Rae A

ReTihT Pl FafT aRIER 3R /3 2

9) b (a) ?) &b (b) 3) (a) 37T (b) ¥) IR T
Under which scheme Schedule Tribes are given subsidy to dig wells?

a) Birsa Munda Krushi Sinchan Yojana b) Thakkar Bapp Krushi Vikas Yojana

¢) Adiwashi Krushi Pump Yojana d) Mahatma Gandhi Krushi Sinchan Yojana
Which of the option(s) given above is/are correct?

1) Only (a) 2) Only (b) 3) (a) and (b) 4) All of the above

3IMYh / AT TSRO @t TterT / 96y
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90) @IcAlcTIH] BITRT T JEHATTIIDRGT IHFIAT FAT [ABIATIS FGT T HTH FYAT ?

10)

99)

1)

9?)

12)

3)

a) 8RS & T b) 37T 31T fdH9~T FH-Bv~T

c) Vg7 3P ST et d) YRAT 18357 Forraded T
gl G -

9)(a), (b), (c), (d) ?)(a), (d) J)(a), (c), (d) )(b), (c)

Which of the following Organisation have been receiving, grant-in-and from the Ministry of
Home Affairs for the development of the Scheduled Castes ?

a) Harijan Sevak Sangh b) All India Women's Conference

c) Servants of India Society d) Bharatiya Depressed Classes League
Answer Options :

1)(a), (b), (c), (d) 2)(a),(d) 3)(a), (c), (d) 4) (D). (c)
JAARTG FegIoT Heh IR IS WISIBUD! DIorer FIoTes el Faftd amg 2

a) LR STt b) SR STt

¢) WeadT ST g faqh STt d) SR TR i STl

i SR :

q) (a) 37T (d) R) (a) ®th (b) 3) (),(b)3mfr(d) ) Fh (c)
Which of the following social categories is associated with Yashwantrao Chavan Mukt Vasahat
Yojana ?

a) Scheduled Castes b) Scheduled Tribes

¢) Nomadic Tribes and De-notified tribes d) Other Backward Clans Castes

Answer Options :

1) (a) and (d) 2) (a) and (b) 3) (a), (b) and (d) 4) Only (c)

SITIIAT THIA T ATHIITAIS G eict] T araera J1oT BT TG Jew@cd] T ?
9) TFFATHA THG P FHoAaH T

2) ST GIENIT QIHE Y wGIaetsT T

3) & TR ISHY P FdATT JITTT

&) TETHAT PN GraetdT T

By which of the name is the scheme that was launched for the farmers of scheduled tribes
known as:

1) Nanaji Deshmukh Krushi Sanjivani Yojana

2) Dr. Panjabrao Deshmukh Krushi Swavalamban Yojana

3) Dr. Babasaheb Ambedkar Krushi Swavalamban Yojana

4) Pradhan Mantri Krushi Swavalamban Yojana

Wetieth! =Rl snraret et Faftd o amg 2

9) SIIET S, 3T, SHI (SIAMER Uiey) PHrRIemedr ¢ ey,
R) TR AT BT

3) YT ST fageh STHTITET 3, STl /ST e,

¥) SR HNTRIGY SRV HASSIqult

3T / TSR FHATSTRSTIT W TRIET / QUg,
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Which of the following is related with Justice Agrawal Commission?

1) Finding out shortcomings in the Scheduled Castes and Scheduled Tribes (Prevention of
Atrocities) Act.

2) Functioning of Panchayat Bodies.

3) Inclusion of nomadic and denotified tribes in SC/ST.

4) Implementation of reservation for other Backward class.

TSGR PO AHIRTDG o Prdedx el Hafid g ?
a) ST St b) 3G ST ¢) HeadT ST d) R FITT G
ggift S

q) (b) 3or (c) ?) (a) %h (b) 3) (a) 3T (c) 8) (d)

Which of the following social categories i fare associated with Kalelkar Commission ?
a) Scheduled Castes b) Scheduled Tribes

¢) Nomadic Tribes d) Other Backward Classes

Answer Options :

1) (b) and (¢) 2) (a) and (b) 3) (a) and (¢) 4) Only (d)

I B/ SAeoeT.

37) I M IRARYT HASIA HRANIT P ' HeRdl SR Sfia el 18’ AT Hifesep Siiia IRYLIAT
@ 9 IR Uiy a1 fIsRaR IR I3l BRIGH TRATRG HRuITd 3.

) 2090 TEY TERIFICISG MDA, HeRT, WA Rfegr g SRYLIar Uaur &3 g,

gt SR

9) Geh 3 Q) Beh § 3) Beh F T § Qral B) ISP AR

Select the correct statement/s :

A) Four radio programmes on the theme of removal of untouchability and prevention of atrocities
were telecast, under the series sponsored by the ministry of Information and Broadcasting
"Sanwarti Jayein Jivan ki Rahen",.

B) Untouchability prone areas of Maharashtra in 2017 were Akola, Bhandara, Parbhani Districts.

Answer options :

1)Only A 2) Only B 3)BothAand B 4) Noneofthe above

SMEIRA PHATAIST WIBIBUD! DIV HEET TS 3ed ?

a) SMfCAR RGOS SR ARG FHE Gl

b) ARYFTRNG 3 AT PSHIAR ISRRRI TGl SRR

C) BB YHIUNT SIhTdT g fI=Raaqed IRl ST,

d) S SR PR,

i SR :

q) (a) 37T (b) R) (a) 3T () 3) (@,b)3Tr () ) (a),(b) 37T (d)
Which of the following factors are important for tribal welfare ?

a) Equal status for tribal protection aa other citizens.

b) According to Article 23 of the Constitution, forced labour is illegal.

c) Reserved seats in Lok Sabha and Vidhan Sabha proportional to population.

d) The right to transfer land.

Answer Options :

1) (a) and (b) 2) (a) and (¢) 3) (a), (b) and (e) 4) (a), (b) and (d)

3IMYeh / AT TSRO @t TterT / 96
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GISIGUD! DIV e/ faem SRR 3me/3med ?

a) SIRGSANS Prfigs ATGHN TeSR IT TS ST THH AT At T a1 S & g9 T o
B

b) Qe IRUTRE UL BRI ATUUIRIS! GeT THH i1 SToeel JaRee IR fifegs et
(PACS) IT % AT hadl.

¢) PACS a1 SduTthd gefiasl 90 I Afe@dMed Jau od FFgedl (community farming) gt
HhTT DT,

d) 1 IRRINS T fash! st Rt afesT J9T 3.

gt ST
q) (a) 3T (b) ?) (a), (b) 3T (c)
3) (b), (c) 3T (d) ¥) NI% 4 U™ SRIER 3ed

Which of the following statements in/are correct ?

a) Sushila Murum, a woman from Kathikund taluka, Paharpur village in Jharkhand started her own
self-help group called Lahanti.

b) Suehila Murum was helped by the Poorest Areas Cial Society (PACS) of England to develop
through traditional methods of farming.

c¢) Through PACS, Sushila Murmu inculcated the concept of community farming in women.

d) The women succeeded in stopping the sale of liquor in the area.

Answer options :

1) (a) and (b) 2) (a), (b) and (c)
3) (b), (c) and (d) 4) All of the above statements are correct
ATSISUDT TRT B 3Tesedl.

37) I STl @ RIS geHTcd Ravnelt HefR A el dihell HRUTRIS! IR
I Geed] Jgese 33¢ TR SRR St d MR SHINIe! 99 SifRipR! Rt ot

RIS 3Te.

9) ST Sl & ST SHIGIRIC! Uebes [ SAfLepRt Vot 98]0 BT €Y &1 HeHT Gov! BRIE
TR AR M STINTFAT AT TG bl

%) SR STNATSHAT I STINT HIRYD 3T8dTe IFUchidhs AIGY dval.

gt SR

9) Hh 3T, Q) Fh T B 3) Beh 3, B ¥) TSUDT T

Select the correct statements from the following.

A) Article 338 of the Constitution of India provided for the appointment of a special officer for
Schedule Caste and Schedule Tribe to investigate all matters relating to the constitutional
safeguards for SC and STs.

B) 65t Constitutional Amendment Act of 1990 provided for the establishment of a high level of
multi-member National Commission for SC and STs in place of a single special officer for
SCs and STs.

C) The National Commission for SCs presents a monthly report to the President.

Answer options :
1)Only A, B 2)Only B, C 3)Only A, C 4) All of the above

3IYh / AfRIHTRY FHTSTHITOT @Il URtel / 9u¢
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TSie fqum AR =

37) BIHAHT ¢ SR AT ST SITTC! IRETT 3Tedl.

) SIHAUT Y SN AT SR SHIAIS! IR 37T

®) IR I MM [ER 78 SR SHIIRITS! BT =TT IR ST ATz,

) 200¢ Ao IRAAAFRE FERTEIHS Bleaea seiear SR Sl SN SR SHTdiRTet
IR SABT ST AT PR 955 HHAT Tal.

RISt Prorcht fGu™ =g amed ?

q) o, § 37T & )T, P M 3) RNIGUDH A ¥) eh 37 MO §

Consider the following statements.

A) 84 seats are reserved for Scheduled Castes in Lok Sabha.

B) 47 seats are reserved for Scheduled Tribes in Lok Sabha.

C) In Uttar Pradesh and Bihar, there are no reserved seats for Scheduled Tribes in Lok Sabha.

D) In Maharashtra, there is no change in the number of seats reserved for SC and ST in Lok Sabha

before and after the Delimitation in 2008.
Which of the above statements are correct ?

1)A,BandC 2)B,Cand D 3) Allofthe above (4) A and B only

RN e Ty gerreat Fffiaefies Tl aeprRiqHia @isiaud! Hivr faur/fdum sRisR 3/
3 ?

31) R Rufessed g g1 A1 SfEgd FHi0 SIaT 31e.

) TES |HIST Y&l &1 1T S i sTider sTe.

%) URAIT AHINS fraReRofiaR menRa bl gerh Fwm oy a1re.

) ISTHIY TelTehgd AT, FHT, =R, SYHIE IT HodraT JIGYRIET Bl Sl

i SR :

9) 31, B AT Q) 3, §, P AMIS 3)d, b 3frs ®) 3T, § 3Mfr &
Which of the following statement/s is/are correct with respect to the social components in the
formation of the political party in India ?

A) The Indian Republican Party is formed with the social consciousness.

B) Bahujan Samaj Party is formed with the social consciousness.

C) India has negligible number of political parties based on social ideology.

D) Social equality, justice, fraternity values are followed by the political parties.

Answer options :
A, Cand D 2)A,B,Cand D 3)B,Cand D 4)A,BandC

anfear) fop™T fAYTIER TR dheledT (Fave) dherT Wielleldd! DIl HRIST BIUIR 38 ?
a) faarT aHRT IRuTSaT aTefquarTd.

b) Suetey fHEfir T IR RIS

¢) Tref=aguf SRl JEfiTarTd,

d) e 3Ry YT A9y Yeredrar AR ST SMfor guTe) JMHerasTauiRTe,

R Do faem /faum sReR 3 /3Med ?

q) Pae (a) ?) (a) 3for (b) 3) (b), (c) amfor (d)  8) AeTehl T

3IYh / AfRIHTRY FHTSTHIToT Wl URtel / 908
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Which of the following are benefits of QEST (Quality Evaluation for Sustainable Transformation)
centre created by Tribal Development Department?

a) To increase the effectiveness of development schemes.

b) To make the right use of available funds.

c¢) To implement innovative programs.

d) For proper planning and effective implementation of central finance and special projects.
Which of the statement(s) given above is/are correct?

1) Only (a) 2) (a) and (b) 3) (b), (¢c) and (d) 4) All of the above

&G AT FHIF BR SIS THIaRHe 311 3. T, . d=g[fest (SEEDY) M Yeadn fagh
SHICTNATS! SRIT T IR €T 31ed, Jeios Jiiiehl PIurdT gcdh a1 Aeredl 9RT Arel ?

q) AT ARF AT gl

R) FHICHIT UIAaiaR SUSiideh! SUshHdl A ROl

3) URT TG URSATHS I fATRATST Seifores dol Uy o <ol

8) AT TSR BIbRIS! &R FTUufare! afdfes Fgra gRavl,

Central Government Scheme ‘Scheme for Economic Empowerment of DNT Communities
(SEEDY for welfare of DNT community has four components. Which of the following is not
correctly mentioned as part of it ?

1) To proiative at community level

2) To facilitate health insurance to them

3) To provide education loan for higher education in India as well as abroad

4) To provide financial assistance for costruction of houses for members of these communities

AIAIBYDRT orct e /RFum SRR e /3med 2

a) 3ffeardt SIet IushH €, J™ 029 BT O PRUAT T3

b) IR SIER FAGT SN R T Pgd B HAGI JiedT Fgch e sffearit et Iushd
o PRUGIT 3ol

Tt S

9) %eh a Q) ®h b 3)aandb ¥) RISUDT AT

Which of the following statement(s) is/are correct ?

a) The Tribal TB Initiative Programme launched on 26th March 2021.

b) The Tribal TB Initiative Programme was jointly launched by the Ministry of Tribal Affairs and
the Ministry of Health and Family Welfare.

Answer options :
1) Only a 2)Only b 3)aandb 4) None of the above

SMfEaReT IENSTHIAT UTGae UG WIesUdh! BIUT b Herss BRI 3 /3med 2
a) IE}T IMfcardt fa g T qeHs®

b) T 91T 3nTfeardt fod 7 fdapT Agme®s

¢) fexa e arfeardt fax g fawry Agmes

gl IR :

9) Hh a ) B b 3) Bh C ¥) RISUDT AT

3IMYh / AT TSRO @t Ttelm / 9¢0
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Which of the following development corporation is/are working to provide support to tribal
entrepreneurs ?

a) Shabri Tribal Finance and Development Corporation.

b) Thakkar Bappa Tribal Finance and Development Corporation.

¢) Birsa Munda Tribal Finance and Development Corporation.

Answer options :

1) Only a 2)Only b 3)Only c 4) None of the above

ARG HYF /7 3ol

a) FSH g YRAI Fala ST AeTOIepgseal HRRIcIel g 3112,

b) TR Jorid e Ui 0T I ATeafie FREkIe e Ficuft &) Fafd o+t 31T,
i ST :

9) % (a) ?) % (b) 3) (@3 (b) gl 8) T el

Select the correct statement/'s -

a) Muslims have been the most educationally backward group in India.

b) In comparison to Muslim population, they have the lowest enrolment rates at elementary and
high school level education.

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above

HRATAS U FHGRIIT AEHIPRUTAIST TR ARBR T geleT JISHT o PRUIIT 3T 3TTedl.

geletien! AT SISt QT :
OINECEIC] I
a) 73 3sH UPSC/SSC T IS0 diihsidT RN YauRier il Sieted femeafar
T RIET TIRAIST AERY Rl

b) USTTAD (S¥IE) IS g Kby 3l T 37 ofSIMe 3N /shited BR Segauie

Tff I :

1) (a) R) (b) 3) (a), (b) 8) aIeTud! DIorchiel el
Following are the schemes of Government of India for empowerment of minority communities
in India. Find out the correctly matched pair/s from the below:

Name of Scheme Objective

a) Nai Udaan - Support for students for preparation of main exams who dear prelims of
UPSC/SSC State Public Service Commission etc.

b) USTTAD- Upgrading the skills and training in Traditional Arts/Crafts for
Development.

Answer options :
1) (a) 2) (b) 3) (a), (b) 4) None of the above

TSI dfRid gedhean fIhrRarIdl @ielieltdh! P! SURISHT bell 3118 ?

a) ST I b) &I SN AT

¢) 3% =7 sfeam d) FeeedT ST (FedT Te, Sifde faewh drarerd ae)
R SR :

q) B (a), (b) 3T (d) ) B (b), (c) 3) & (b), (d) 8) aNieT A

I / NS FHTSTHSATOT @I TRA&T / 9¢9
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Which of these measures are taken for development of socially deprived classes?

a) Jan Dhan Yojana b) Green Business Scheme

¢) Make in India d) Sanitary Mart Scheme (construction of toilets/bio-degreadable toilets)
Answer Options :

1) Only (a),(b) and (d) 2) Only (b), (c) 3) Only (b), (d) 4) All of the above

TERTY AR IoaTciet Sfearft @ frR snfeardt ammcfier aifer <t e aTeteiret wiorear dgreht
AT bl ?

a) frg) wmTd g b) a AT dg c) SUT IR g d) I S1AfIHRT hg
i SR :

) Wch (b) R) W (a) 3) W (¢) 8) h (d)

Which center was established by the Government of Maharashtra to deal with over malnourished
children from tribal and non-tribal areas in the state?

a) Shishu Swagat Kendra b) Nav Tejaswini Kendra

¢) Umed Abhiyan Kendra d) Gram Balvikas Kendra

Which of the option given above is correct?

1) Only (b) 2) Only (a) 3) Only (c) 4) Only (d)
AR Wletiefdeh! DIUAT SIS Hdl FeeT/FHel FRAT TSR 2

9) FAT SHTAT R) g SHda 3) Mg SHI ¥) Pl STHTA
Which Tribal Community has Heredity (lineage) Organization in India?

1) Santhal Tribe 2) Bhull Tribe 3) Gond Tribe 4) Colam Tribe

GrefleT faeriteh! o fum /4 aRieR g /d7?

a) 9¢]R H A=A T T STRIAT ST gal faRIUTd 3TTaTST I3ael, HeRadled! I JuRig Jid
"SRR ARBR’ g A9 R Herean a1 HHEwTd IR .

b) TRGR Tewdss AT SR ISTAHEY Sl Feg TR STHA 81 G U Il

Tt S :

9) T (a) R) B (b) 3) Al (a) 3O (b)) ARTeThT prorcie Tt

Which of the following statement/s is /are correct?

a) Birsa Munda had himself led the protest against demarcation of reserved forest in 1892;
Mahashweta Devi's celebrated work 'Aranyer Adhikar' derives its title from the concern for
the forest.

b) It was not forest but land that was the main issue in the Sardar Movement and Birsa's uprising.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) None of the above

GTefteidh! aRIeR fae= /= 3o

a) HfPFeIdIcl Hob AaTeTeaT URIIST Tadel Fredl ATUMAR BRIG SRUIRIST PESA =1 deH
Oq7 I aael.

b) mgreH meft I aEier ISR wragT ST Hifgdiear iR erEmed gt 3ieft PESA
BTN TRIGIET aTHR DAl g,

¢) At SR FHT T RNt Weedra snfeardt Iy 3rfties Je dhet Bl

d) U1 (PESA) PRIGT SR 810 TN SNfeard] &3Tciier Fasised i ifge.

qift S :

q) (a) 37T (b) R) (b), (c) 3T (d)  3) (c) 3MfoT (d) 8) (b) 3MfoT (d)

3IYH / AfASRY FHTSTHEATOT @I TAET / 92
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Identify correct statement/s from the following :

a) The PASOA a movement of indigenous Mexicans, referred to PESA to draft the legislation in
accordance with their Constitutions.

b) The Mahatma Gandhi National Rural Employment Act and the Right to Information Act have
largely used the provisions of the PESA Act.

¢) The Supreme Court had made Tribal Gram Sabhas more competent in the Samtha and Niyamgiri
cases.

d) With the enactment of the PESA Act, the supremacy of the Gram Sabha in the tribal areas
remained intact.

Answer Options :

1) (a) and (b) 2) (b), (c) and (d) 3) (c) and (d) 4) (b) and (d)

WTeAleTidh! DT FAHIS HedTol ST g FRBR G 3T ?
a) A emesd farepur=am Aty feremeafar fRafg .
b) @SS, Tt onfr o .. femetr arg wfen,

c) e @t Ao

d) e fageh (VINT) 9 fafdre 9 gauicial (SBC) 3@ 4 &t d v &t 7ed ferpom= fenfRiiamdt
arfesiars Het Rl AT

Tt SR

q) (a) 37T (d) R) Wh (b) 3) Wb (¢) 8) (b) 31T (c)

Which of the following social welfare schemes are sponsored by Central Government?

a) Maintenance allowances to Backward Class Students studying in Sainik School.

b) Training of Motor Driving to VINT, SBC and OBC students.

¢) Education Loan Scheme.

d) Savitribai Phule Scholarship for VINT and SBC Girl students studying in Sth to 7th Standard.
Answer options :

1) (a) and (d) 2) only (b) 3) only (c) 4) (b) and (¢)

WISISUDT DIV I /7 SRR 3R/ 3 ?

a) 3Mfeardt AedRY fauvr fawrT ok (crths) ot FRIg=T Snfeariia SNYoT ATUIRITS! HRUATT T

b) Fg TR RIS ‘SRt AfRBIS! 3Rl ARSI ALRAIBRU AT 2003 URT Jo Do,

i SR

9) Th a ) Bah b 3) a3mfrb ¥) TRIGUDT AT

Which of the following statement/s is/are correct ?

a) ‘Tribal Co-operative Marketing Development Federation’ (TRIFED) was set-up to stop tribal
exploitation.

b) The Central government has started the “Tribal Women Empowerment Scheme’ for poor tribal
women since 2003.

Answer options :
1) Only a 2)Only b 3)aandb 4) None of the above

3MTYH / SR FHTSTHEATOT @I TAET / 9¢3
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WTSIBID! PO BRI RS AMfSIRAT HeT THR B0 HRuffd St JMmed ?

a) INfCH FRpeiraT | b) TSAITTS BRI

c) faeprt Teheues BIUTR faeuTo d) enfeariia gmfaR

g IR :

q) (a),(b) 3T () ?) (a),(c) 3mor (d) 3) (b) 3Mfor (c) s) a¥iesyehl T

Which of the following causes are responsible for the problems of tribals in India to be serious?
a) Decline of tribal culture b) Forest laws

c¢) Displacement due to development projects d) Conversion of tribals Aoawe Optiozte :
Answer Options :
1) (a), (b) and (¢) 2) (a), (c) and (d) 3) (b) and (c) 4) All of the above

Tetterddh! ol aRfRud, ‘ArRrariiare Fa g defidia srmMa AR, favaiel defta e 2
a) ST Jreten! g Mfie ygepd Jreanefl Hafed Ao ugshd

b) Ty g ISTH T

¢) IUTCATAT AT IRUIR AT, T geuear nfor o Ragein [ey.

gt SR :

9) Tk (a) TafRKT 3MR. Q) W (b) 3N (¢) FeRRKT 3R

3) |d [T 3. ¥) Beh (c) eI 3MR.

Which of the following is a condition related to the problem and subjects like, ‘inequality in
opportunity’, of backward classes ?

a) Social hierarchy related with ownership of 1and and economic hierarchy

b) Class conflict and political power

c¢) Relation to means of production, oppression in that relation and conflict of class interest.
Answer options :

1) only (a) is related 2) only (b) and (c) are related

3) all are related 4) only (c) is related

GTeiietdch! PIvTT fRM sRIsR ATer ?

a) MR ST, TPHRTHERT Ueb 319 fAferer srighHa Afete, snfeariiean famrrnRar deamimry
BT AR PR ST TN AT dToRTAT AT <.

b) ‘ST IISIHIT HEHFT Hath U, 81 3iRaet YR IR DeTur SAHTET 3 SR,
feIepTy eprichHTell SHeTSTIUT SRUATUET HTHRaT Sfifeardt fepranelt Fafere gRor fMfdfciean ufchen
gATfad AR,

IR I :
9) Weh (a) SRS TR ) Bh (b) TSR TR
3) S g U™ R 3med. ) argl fIum sReR TN

Which of the following statements is not correct ?

a) Akhil Bharatiya Adivasi Vikas Parishad, undertakes series of programmes in tribal villages,
have welfare schemes for the development of tribals. It encourages peoples participation in
various schemes and facilitates utilisation of local resources.

b) Akhil Bharatiya Vanvasi Kalyan Ashram intends to enhance political participation of tribals. It
mainly influences, policy making process related to tribal development rather than
implementation of development programmes.

Answer options :

1) only (a) is not correct 2) only (b) is not correct

3) both statements are correct 4) both statements are not correct

3IYH / NFABRY FHATSTHSTOT @I TRI&T / 9¢y



30)

37)

3¢)

38)

3R)

39)

For Private Circulation Only

GTefleTidh! PIoRT o/ faum SRR s/ 3med ?
a) ITIRIRIT SITch, ST g AfgeT AT IeSTade Ied d UIcHTE SUIRITS! ‘TS 3 sfear’ g o

T e,

b) Al IeiSThclen UIcHTe, diered ey g Iemmer (efih Suereydr @t a1 g Tt qa
M1 & e,

Tt S :

1) & (a) ?) T (b) 3) (a) 3TfOT (b) 8) a¥ferticht T

Which of the following statement/s is/are correct ?

a) ‘Startup India’ scheme was launched to help and encourage entrepreneurship among Scheduled
castes, tribes and women.

b) The ‘Pradhanmantri Mudra Yojana’ was launched with the, aim of encouraging women
entrepreneurship, skill development and making funds available to industries.

Answer Options :

1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above

Tt PIve faen /= sRIsR 3R/ 3med ?

a) TSR Jefter ‘eactmar’ & SnfeariiaTSiar JIRFT Udhed ST, 3THC U ST Pell 3R,
b) HEIC I PUNYT T HHP T AT AISAVIRIS! ST, I SUT B PRI 3.

¢) 301 Rieana ‘PrReTs’ I RIS Hish il i Iaw J=n el

Tt SR :

q) (a) 37T (b) ?) (a) 3T (c) 3) (b) 87T (c) 8) Nlefid! T
Which of the following statement/s is/are correct ?

a) ‘Hemalkasa’, a tribal health project in Gadchiroli has been set up by Dr. Amte Couple.
b) Dr. Bang Couple is-working to prevent malnutrition and infant mortality in Melghat.

¢) Tarabai Modak started educational movement at ‘Kosbad’ in Thane district.

Answer Options :
1) (a) and (b) 2) (a)and (¢) 3) (b) and (¢) 4) All of the above

TeficTidh! IO fae /faum sRIsR 31me/3med ?

a) FAAATURUT ATV TR g STSTRYYT ST HUINUT T YIFIAT TTaehr I8 Teawd, T
ST SeraT Fiegl SR dhamed URFTIRIST oY d ¢o fb.Hl. o 3R P T,

b) LT AR ATESID NIRRT DI URTANIIG! dAlbiT AR 93.4Y4 fb.A. 3R yary o=
TRT.

gt SR :

q) (a) %h ?) (b) Fh 3) (a) 3T (b) Bk §) aRIeTUDT ATEl

Which of the following statement/'ss is/are correct ?

a) Tribal Groups that are more vulnerable to disease and malnutrition than the rest of the population
have to cover a distance of 5 to 80 km. to reach a community or district health centre.

b) Across India, people have to cover an average distance of 13.55 km. to reach a community
health centre.

Answer Options :
1) (a) only 2) (b) only 3) (a) and (b) 4) None of the above

3IMYeh / AT TSRO @ TtelT / 9¢y
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q9¢,) ITERIHRUT J Ihlesd a1, ABIS IR THRIT g SURT

WefteTddht piora /df fer /2 sRieR 18t /a?

a) TTHAT YLRIST 9 O 94 3MRT 09¢ T IET HaT JIoHaiaiia AoRT xRN el

b) 39 TgaR R ¢ ST AGR IGHHTS Uce Il ST G JIET Ve 1 Fgu[d AISRT RUIT 3T,

¢) TERT AT TG Heledd 09% LY 'St § egled 3Aith =g 31’ AT FIwreR SN PRudTa SATefl BT,

AT S :

1) (b) ?) (a) 30T (b) 3) (a) 37T (c) 8) W vt RIS 3R

Which of the following statement/s is/are not correct?

a) Swachhata Pandharwada was celebrated form Ist to 15th August 2018 under National Service
Scheme.

b) Sardar Vallabhbhai Patel's birthday on November 31, 2018 was celebrated as National Unity
Day.

c) ThZ National Youth Parliament Festival 2019 was organized under the theme 'Be the voice of
New India.’

Answer Options :
1) (b) 2) (a) and (b) 3) (a) and (¢) 4) All options are correct

Fd] HIgM G AR ATl dlh dosdid ¥ead UTH ST, TV HET Ieesdeal ARG
UIgrIAUTeAT JHIVIT 8 CFadead ... T a7l aTe el

) Yo R) &0 3) 44 ) &3

After launching post swachhata campaign it took form of public movement due to which, the

access regarding sanitation and services rate increased from 42 percentage to percentage.
1) 50 2) 60 3) 55 4) 63

&g IRBRT o SFHEY WIS HANGR! BIOTRIS! DIVl UTdHhel IJeIeTel ?

a) TRBRA TR GfeT o7 ol FATGT e,

b) YRS JALiaR HRUTTT Aleied] GalR PR ! UATT 3HTell.

¢) IR JfAU=aT PRS0 STeied] Hu-dl AR PR Je QUaNd 37T,

d) It A1

T IR

9) Tk (d) foee SRR 3R Q) (a) 3T (b) fau™ sRIsR 3MRd

3) Wt (c) fauM SRR g 8) (), (b) 3T (c) fAUF sRISR 3M7ed

Which steps were taken for private participation in the infrastructure sector by the Central

Government ?

a) The Government set-up Infrastructure Development Finance Company.

b) The Government announced tax-holiday on the expenditure which was done on the infrastructure
facilities.

¢) Tax exemption was given on dividend of the companies which was set-up to develop infrastructure
facilities.

d) None of these

Answer Options :

1) Only (d) statement is correct 2) (a) and (b) statements are correct

3) Only (c) statement is correct 4) (a), (b) and (c) statements are correct

3MYH / TSR FHATSTRSATIT @I TRA&T / ¢
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¥ YR e arefior Seufa @iefierddT oo ferm/fRum ghi ang/ama ?

a) TG ARG 0 & 9g TRHR GREPd o1 UiigRasT g Fesdl AR Jafiet S

b) U 209 IR AYT wrewd! SRR e YR SIHIF 3RY AU HRUIT e

¢) 2 3MFeeR 098 IR FHd YRA YA ARV T8 AR fHeM (I 3Ry RudTd e,

i S :

9) %h (b) ) B (c) 3) TRUDT AL ¥) aRicTdh A

Which of the following statement(s) regarding Swachh Bharat Mission Rural is/are incorrect ?

a) Swachh Bharat Mission is a Central government sponsored Scheme implemented by the
Department of water supply and sanitation.

b) In April 2012 the Sampurn Swachhata Abhiyan was renamed as Nirmal Bharat Mission.

¢) Nirmal Bharat Mission was renamed as Swachh Bharat Mission (Grameen) from 2 October
2014.

Answer Options :

1) Only (b) 2) Only (c) 3) None of the above 4) All of the above

qu) AT g ggfeRor g TR

TITIROT (TREUT) BRIST 9R¢E T TR0l [1] 7E THIE IRTSS ... TRl FGuUT Tferge, R
anfor ot axuaelt Fefird are.
q) FHT R T ¢ ) FHH ¢ T 9% 3) FHTE T 9¢ ) HAT © T 99

of the Environment (Protection) Act 1986 contained in Chapter III of the Act relate to
prevention, control and abatement of environmental pollution.
1) Sections 9 to 18 2) Sections 8 to 16 3) Sections 6 to 18  4) Sections 7 to 17

TTeRUT WRE0T SR ¢ e =T HicHT MBI w.....inn Il IPW 3R,

9) Sfivfiegr uReg R) wrbEd RS 3) T Rght aRwg ) fasiin uReg
The long title of Environmental Protection Act 1986 refers about

1) Geneva Conference 2) Stockholm Conference

3) New Delhi Conference 4) Beijing Conference

TYh Y AT M8 PRI ... =T Alhd TEHRI /TR FLANT IRAT " TR HgdRT 93¢0
ey . I PRIATET AT Bt B,

9) STEHIS ?) 58 3) &SI 8) oI

In February 1980, a workshop on “Disaster Preparedness Management” was organised at - with
active collaboration of UNDRO (United Nations Disaster Relief Office).

1) Ahmedabad 2) Mumbai 3) Hyderabad 4) Chennai

WeATeAthT PIvRT e aRIaR a7

a) fiesfociear Wi ardrerd, Wrdia v sreere, WTdiear amieR S iR TarT, g SMuxi, faeas
FRUR, TP FRMERIET IR STed. ad IR EHRRIERE! gId.

b) 3ol 4 fSeproft Ted AR, e YagHE gH! eTradn Ad.

g IR :
9) weh (d) o™ SRR g, ) B (b) fIU™ sRIsR A=
3) (a) 7T (b) Sl fAuM R AT 8) Sgr fIum R 3.

3IMYh / AfRUHTRY FHTSThITo @it TtelT / 9¢w
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Which of the following statements is not correct ?

a) Distruction of achieved progress, disturbance in progress, backward journey on the path of
progress are devastating effects of disaster at macro level. Same are the effects at micro level also.

b) Disaster does not occur everywhere. They are always predictable.

Answer options :

1) Only statement (a) is not correct. 2) Only statement (b) is not correct.

3) (a) and (b) both statements are not correct. 4) Both statements are correct.

JTATERYT Fafih SFIHe Al UepedT! FHeheuT HERTY SRF 37O ST S TRt 3. Tehedrd

AT 3R

a) PGS <aTg Ufcreees AT aTTeRYT afyes el faedia @,

b) AIATERYT ST T JAMOT IRITRIT AT .

¢) TR fART AT, WRalet TRArIRa ged FasHHR IRRIcaTd SUuaTaR el el awuT,

d) TERTEIS eUURD P TR o T o,

e) ACTYURD TP, ATHRI IcUIGD FHCHT /P!, FITFERAT TS M TH FHGRITSAT JUR U1,

ERIIECE

q) (a) 31T (b) ?) (b) 31T (c) 3) Nt |d 8) (d)

The project on climate Resilient Agriculture was conceptualised by the Government of Maharashtra

and the World Bank. The project aims at -

a) Developing a drought-proofing and climate resilient strategy for agriculture.

b) Coping with climate variabilities and climate change.

c¢) Focusing on village level development plan emerging after comprehensive data-driven
microplanning.

d) Ensuring profitability of small holder farming systems in Maharashtra.

e) Supporting small farmers, FPOs, farmer producer companies, SHGS and village community.

Answer Options :

1) (a) and (b) 2) (b) and (¢) 3) Allof the above 4) (d)

GTelicTi DIV /T ST e I HeHarit @i WRieRT (UNIPP) a1 9 9RT it/ &1, i
&l BRI FANDBIAT TN IS QUG T ST TRITTHT 966 QUIRT Ufgall SRR SR —
R GEThR (099) e,

a) NIRRT 5™ FgeT (ILO) b) T T AT g8 eI 3Teh priterd (OHCHR)
c) Tgh Y 91 el (UNICEF) d) ¥gh Y [GBRT PriskH (UNDP)

g IR :

q) b (b) 37T (d) Q) Wb (a), (b) 3T (c)

3) W (c) T (d) Q) IR T

Which of the following Organisation/s is/are the part of UN-Indigenous People's Partnership
(UNIPP) which was the first global inter-agency initiative (2011) to support Country effort to
advance indigenous peoples rights?

a) International Labour Organization (ILO)

b) Office of the United Nations High Commissioner for Human Rights (OHCHR)

¢) United Nations Children's Fund (UNICEF)

Answer Options :

1) (b) and (d) only 2) (a), (b) and (c) only

3) (c) and (d) only 4) All of the above
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WTefleTidh! IoTeht AT ISTER0 3T ?
a) TIRT WETATA PCANATC! LAMET FATTT FRU. b)) T IHMTC! SUDRUIE! ARG DUl

) PRI JREAHD IRANPAT B! d) e S

Tt S :

q) (b), (c) 3T (d) R) Wieh (a) ST (d)

3) & (a), (b) 37T () 8) F4 (a), (b), (c) 3T (d)

Which of the following are the examples of Rehabilitation ?

a) Establishing Schools for BPL families b) Provision of aids for the crippled

c) Reconstructive surgery in leprosy d) Change of Profession

Answer options :

1) (b), (c) and (d) 2) Only (a) and (d) 3) Only (a), (b) and (c) 4) All (a), (b),(c) and (d)

GTAIAUDT PO I aRIeR 3R ?
a) MU ARRATITC I SRRIET eI fIReh YRATT a7 Feefih P o/ @gave .
b) < gexTerTet FORAT ATHC HIRICY, Rt 1, XS 51, Z, de S 2T STl e ciet

STCRRTERT AT 37T,
g IR :
9) Beh (a) RIS 3. ?) T (b) SRR 3IMR.
3) Tl fAum SRR 3TRd. ) Qe SRISR ATRIa.

Which of the following statement is correct ?

a) Besides international organisations involved in disaster management, there is no other system
in India with reference to this.

b) The International Emergency Management Society, European Union, Red Cross, UNO, World
Bank are the international organisations involved in disaster management.

Answer options :

1) only (a) is correct.. 2) only (b) is correct 3) both are correct.  4) both are incorrect.

TERTY HheUdTiid Schia e IT Sleaed] HRIETIGHIT Wletierdl PIvd [TUM 3R 3118 ?

a) T PRIGT "HERTY YehcUaTiRid eachic e SATUFTH 98] IT AT Nes@al S,

b) T BRI TT& SHATSTEU 98 STHIRI 000 URIT F& ST,

¢) 2093 AL HERTY AfUFTH . 90 TAR AT PR FURUT HRUAT 37T

d) I FHTIAR GHaeETeae [GURia dideieRd JfteR fAuRiia smhiss 3.

T S :

q) gl U SR e, R) Pde (b) faum s o

3) Paes (c) AU W 3. 8) (b), (c) U™ R 3.

Which of the following statements regarding, ‘The Maharashtra Project Affected Persons

Rehabilitation Act is incorrect ?

a) This Actis recognised as “The Maharashtra Project Affected Persons Rehabilitation Act, 1999'.

b) Actual execution of this Act commenced from 14 January 2000.

¢) According to Maharashtra Act No. 10, amendments are made in 2013.

d) According to this Act, Divisional Commissioner has divisional level rights regarding
rehabilitation.

Answer options :

1) None of the statement is incorrect. 2) Only (b) statement is incorrect.

3) Only (c) statement is incorrect. 4) (b), (c) statements are incorrect.
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GTeilofih! hIAMBRAT 9% HEY IAMRIBR et T el Bl ?

a) ST awATIT b) YU TG ¢) UGy R0 d) YRR g, AT
Tt S :

9) &h (b) R) Weh (a) 3) (c) 3T (d) 8) eIl ATE

For which of the following, the High Power Committee was constituted in 19997

a) Disaster management b) Earthquake management

¢) Pollution control d) Chemical war management

Answer Options :

1) Only (b) 2) Only (a) 3) (¢) and (d) 4) None of the above
Glefledeh! PIvrd e /2 sRiaR 3 /a2

"JT-3RSS+[UN-REDD+] SRIShATN AT T 30T THE SFHeTseTautt ...... A1t Aerofi anreH
T M.

a) Sfa fafaerder dRemor

DR RIERIEIRGEICE]

c) TIiRea @t aor

et YA ara i fag o :

q) (a) 37T (b) Bh ) (c) b 3) (b) 3T () Bh  &)(a), (b) 371(c)
Which of the following statements is/are correct?

Proper design and effective implementation of "'UN-REDD+' programme can significan contribute

a) Protection of biodiversity

b) Resilience of forest ecosystems

c¢) Poverty reduction

Select the correct answer from options given below :

1) (a) and (b) only 2) (c) only 3) (b) and (c) only 4)(a), (b)and (c)
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TN : (3) YRAT AMIOTS TR I SURRISHT — W99, BRUl

YR TE<aredT AT ARt
q) Sterfores W — fAReRen

-9 R-R 3-R 8- 4-3 &= V-3 ¢-3 R-¥ q0-2
9-3 QR-R PB- 98- 94-3 QE—< Q9-2 Q- RqR-R 20-%
R9A-R R R3I-Y R8-9 R4-9 Re—19 R9-9 -9 =R 30-19
39-1 3-8 33-R 383 34-% 3&=3 36-3 ¢ 3%-19 80-2
89-19 8-%Y 83-R 8¥-% 8Y4-% 8&—3 89-3 8¢—9 8R-1 40-19
49- Y- 43-1 48— 44-% 463 49-% Y4¢-% 4%-3 &0-%
&1-1 &-% &3-% &8-3 &4-9 &&= &L-1 &C—% &R-19 9o-3
v9-R 9-? v3-%¥ V8- v4-9 V&—3 vY-% VC-% vR- ¢0-3
¢9-3 ¢

3) SRIITANID THRIT — Yhao! I HUNUT
9-% - 3-3 8¥—3 4-3 &= V-¥ ¢—9% R-% 90-3
99-3 9-% 93=- 98- 94-9 9&—R qV-3 9¢-2 9 -2 R0-Y
29-19 RR-Y R3-3 R8-3 Y-3 R&—R Q-2 -9 R-¥ 30-%
39-8 3-¥ 33-3  3¥-3 34—  36-¥  30-3  3¢-9 383

3) WMo TRAT — SIS 9 SAdTe, ITeSigl, Il

9- -3 S=3 ¥-9 4-3 &3 v-9 ¢ R-3 90-9
99-2 9-3 93-9

9-9% -1 3-9 8-3 4-3 &3 v-3 -3 R-¥ q0-%
99-R

-3 -9 3-9% 8- Y- %=1 v-3 ¢-3

§,) STHI TIRIT ~YvER, SRR

-3 R-Y 3-3 8- Y- &—9 v- -3
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v) afterea aee, wafftor Qe g GRiéar, after gerdiaxo

-9 -9 3-R 8-9 4-19 =1 v-3¥ ¢-R R-¥ 90-3
99-3 Q-9 93-4 98- 94-9 Q&= Q- R-R R0-% R9I-R
RR-3 R3-3 RE-Y 4= vE=7 R9-3 RC-Y RR-R 30-3 39-3
3R 33-3 383 34-% &R 30-3 3¢-% 3R-¥ ¥o-3 89-%
8% 83-3 88-19 8Y-3 8&-3 8Y-Y 8¢-9 8%-19 40-3 49-
4-3 43-% Yg-¥ 44-19 4&-3

¢) TTIRIIT AT
Q- R-Y 3-% ¥—9 4—9 &—9 V- -9 R-3 Q0-Y¢
99-9 9-3 93-3 9¥-9 94-3 fE=3 qv-3 9¢-R 9R-% 20-2
R9-2 RR-Y R3I-Y R8-3 4-3 R&—%Y Q9-Y W-3 R-3 30-3
39-% 39

Q) JaABIAT AHRAT
9-9 -4 7~ 9 8-9 Y-8 &=3 ©-3 (=3 R-3 90-9
99-3 Q-3 3-3 98-3 4-3 -9 qv-9 -9 R-9 Q0-3
R9-% R-Y 23-4 R¥-3 Y-Y &3 0-% W-Y

90) TGS /SUS ANTRBITIT FHRAT

-9 -3 3-8 8-9 4=-3 &3 V-3 % R-R 90-3
9-3 QR-9 13-9 9P-< 94-9 Q&—< 9-9 Q-9 RR-9 20-19
R9A-R R R3I-Y Q8- Y-8 R&=3% R9-3 RC-3 RR-3 30—
39-R 3R-R 33-R 38-3 34-3 &% 39-3% 3¢9

q9) fecarTr=ar wHRI
-9 R-R 3-R &7 4-% &9 ©v-19 ¢-9 R-R 90-3
99-% QR-9 3-R 9%¥-3 94-% &-3 Q- -9 R-3 20-3
R9-3 -9 R3I-R

) A et Tes, FetauRitarear AT 9 SUr

-3 R-¥ 3-3 4-2 5-1 6-4
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93) TR, YAEH TR, ISR SoR (RAAY: Sidls BIFIR) Frea

-9
99-9
R9-3

-9

99-%
R9-%
39-R

-9

-9
99-9

HHAT 9 34T

R-3 3-9 ¥—%

9%) IRTIfET BIRTRIIT THRAT d U
-3 3-R 8g—9 4-9 -3 V-9 ¢—-9 R-3 90-3
QR-9 93-9% 9¥-9 94-9 9¢-3 V-9 9¢-3 QR-3 20-%Y
2-3

9Y4) ARG ST 9 SU™T
R-R 3-9 8-9 4-3 &= V-3 ¢-3 R-9 90-19
QR-3 93-3 9¥-% 94-3 9e-3 Q-3 9Cc-9 R-9 20-2
-3 R3-3 R¥-3 RY4-3 Re—3 R9-9 RC-Y RR-38 30-3
3R-3 33-3 38— 34-3 3&-% 39-9 3¢-% 3R-3

9¢,) TERIHRUI g Il IR<TT, AHIS PIRTRIEAT AT 9 U™
PR 3-% =3

qu) AT g ggfeRor g T

R-R 3-3 =3 4=-3 &3 V=9 ¢-R R-R 90-R
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